[2R2 sz

2 H—F UK}

Science Tokyo Research Repository

Od/dodn
Article / Book Information

Citation(English)

Type(English)

gobbobbbdgoooobbobbbouooooboboooo

000
0o:0o0@o),

oooooo:0o0o0ooo,

0000:0058360,

00000 :20040 30 26001,

ooooo:0ooo,

ooo:

Degree:Doctor (Engineering),

Conferring organization: Tokyo Institute of Technology,
Report number:[J [0 583601,

Conferred date:2004/3/26,

Degree Type:Course doctor,

Examiner:

Doctoral Thesis

Powered by T2R2 (Science Tokyo Research Repository)



http://t2r2.star.titech.ac.jp/

oy

Juoodboootdood
Juoogduoogdun

oooon bgoodoooood
oogoooood

00D40045
O 00

oo ogogg



10

20

30

1.1
1.2
1.3

2.1
2.2

2.3
24

2.5

2.6

3.1
3.2

3.3

3.4

g

OO0 ..o
UO0OD00O0 ..
UOD0OD00O0 ...

gogbbobuooobboboooobobuoooobo

241 00000 .00 0 oo
242 000000 ... oo s
243 00000 .00 oo o o
I
251 0O0OO0O0DOOO0DODODOD o000 oo
252 DOOOOOOODODOOOO0O ..o 00000 ..
200000 . 000

ggbbbooogbbboooobbbooodgbon

OO0 .o
I I I 0
321 O0O000O .0 o
3.22 000000 ... 0o oo oo
323 UO0O0O0O0O0O0O ..o s
I I
3.3. 1 O0O000 .00
3.3.2 00000 ... 0
333 UO0O000O0O0O ..o
I I

U

O © © ©

10
13
14
15
16
16
18
19
20
20



11

3.5

40
4.1
4.2
4.3

50
5.1
5.2
5.3

5.4

60
6.1
6.2

6.3

6.4

6.5

6.6
6.7

OO0O0OM0 ..o

ggbbbuooobobboooobbboood

OO0OD0 .o
gobbooodgbbboooobobooodg oo
A00000 .. 00

gogobobooooooboogo

I
gobobooooobobooooboobobooooboooog ...
P
5.3.1 DOOOOOODODO ... o oo .
532 ODOOUOOOOobObOOOooobooboobog o000 ..
5 2 I P

gogbbobouooobbbooooboo

OO0OD0 .o
I I I
6.21 OO ..o
6.22 0O000O00OO0ODO ... o000 ..
6.23 O0O0O0O0O .00 oo o
624 0O00O0OO0OODOOODOO ..o 0000000 ...
UO0OD00O0 ...
6.3.1 000000 ... o
6.3.2 UO0O0O0OOO0O ... o o
6.3.3 U00OO00OODOODO ... 00000 ..
6.3.4 DOORMSO ... .o o o
t0ooooog .o
6.4.1 90bpmOO OO tO0 ... .. oo ..
6.4.2 120bpm O 000 t0O0 ... .. oo 0oL
6.4.3 180bpmOOODOtOO ... .. ..o ...
I P
6.5.1 90bpmOOOOOODOO .. ... o ..
6.5.2 120bpm O 0000000 ... ..o oo ..
6.5.3 180bpm O IODOOOODO ... ... . ...
I
600000 ..o

35
35
35
39

45
45
45
45
46
47
47



111

70
7.1
7.2

7.3

7.4

7.5

7.6

80
8.1
8.2

8.3
8.4

90
9.1
9.2
9.3
9.4

9.5
9.6

ggbobobooogboobooooobobooodgoon
OO0 ..o
I I
721 OO0 oo
722 000000000 ... 0o oo,
723 O00O0O0O .00
P
731 000O0DO0DODODOO .« ...
UO0OD00O0 ...
741 O00O00 .00
742 DOO0O0O0O0 .0
743 0O0OOO0ODOOODOOODOOIOOOO ... ..
P
75.1 O0O0ODt0O0O ... oo o o
752 ODOOOOOO0OODODOOOoOoOoooDOO oo oo,
753 UO0ODOOO0ODOOOOOOODOOOOObObOOObODbO
P
754 UO0OO0ODOODOODODOO © ..o oo,
TOO0O00 « .0

gbooobgoboboboboboobooboobd

OOO0 ..
gbooboobooboobog .o 00000000
821 U0 .. e
822 UODO .. o
I P
SUODOODO ..o

ggbbobuoooobbbuoooobbboood

OO0 .o
I
UOO0D0O0O0 .0
OO0 ..o
941 OO ..o o
942 00000 ... o
I I P
S 0

71
71
71
71
72
74
74
74
75
76
76
7
7
7
78

82
85
87

88
88
88
88
89
90
91



v

100 EEN
101 ODO0O0O0D0DD0OO00 ..o s
102 OO0O0OD0O .00 e

0O

gbooooooon

00

o0 odd
goooo

113
113
117

119

121

123

128



10
L] [

1.1 0000

00o0doodooodoooooooooooooooooooooooon
000000000000 000D00DO0bO000O0DO0DOD0DOO0ODbOObO0O0ODn
000000000000 00000bO0bO00oo0ooooooooDoooon
000000000000 000D000O00O00O0DO0DO0DbOO0ObOOoOO0OO0Dn
000000000000 0O0O000000o000 pjocooooooooooo
000000000000 0DO0DO0DOO0000DO0ODOOb0D00DOOO0DODODOD
O00000000000000000 pjjo00ooo0o0o0ooooooooo
000000000000 000DO00DbOO0bOO00DO0DO0oDOD0ODOO0ODbDObOOOD
000 0000000000000 00000O0O0000OOODOOo0OooOO
000000000000 000O0O00DO00000ODO00ooDODoO0bODOoOoDo
000000000000 000000O0000000O0DO0bO00O0o0o0oOn
O0000O0DbO0bO00O000O00ODO00O0oDO0ooD0oDbO0obOO0ObOobOobOOoOD
000000000000 00000DO00O00000D00oDoDOoDOOooOOoon
O0000b00O00000000DO00bO0bOO00DOO0oDO0oDODO0oDOO0ODbObOO0OD
0000000000000 0000000000000000000 [11joo
000000000000 DO0DbO0DO0DO0DbO0ODbO0ODbOO0ObOO0bOobOobOOobOO
000000000000 00000DO00O00000D0oDooDoDOOooOoon
000000000000 DO0DbO0DO0DO0DbO0ODbO0ODbOO0ObOO0bOobOobOOobOO
O00000D0O00 MIDI O Musical Instrument Digital Interfaced DTMO Desk
Top MusicOOOODOD0O0ODO0OOO0DOODODOODODOODODOODODOOODO
O0000000000000000000000000 [11][13][14)k2)00000
0000 DTMOOOOOOOOODOOO [1200000000000000O0OO
000000000000 0000000O0oooDoOoDOO0bOOobOOoooon
OO000b0bO000O00O0bO0bO0oboboobooboOoooo

0000000000000 0O0000000O00oO00oOooooogooog



10 00

gboobogoobbboooobobbooooboboooobboboooon
gbbobuooobbbuoobobboooobbboooobbboooon
gboobogoobbboooobobbooooboboooobboboooon
gbbobooooobbboooobbbbobbobuoooobbbbuoaon
gboobogoobbbdoooobbboooooboboooobboboooon
gbbobuoooobbbuoobobboooobbboooobbboooon
0000000000000 00000ooooOO oo
gbobooogobobaoooon

e U UOODLDLDOUOODLDDLDOUOOODLDDLDOUOOOODLDDOD

e MIDIO DIMUODDOODOODDOOODDOOODLOOODDOOO
oo ooooooooo
oo

e OUOOOOLODLDOUOOODLDODDOOOOD

Oooooan

0000000000000 DO0D0O00D000000O conceptOOnonOOn
OOOcategoryD O OO DO OOO0DOOO0OOOODOOODODODOOOOODOOOOO
O000000000D00D000categorizationflD OO O0OOO0O0OOODOODOODO
OO000000000O0000DO00Do0bO0oooDoooooooooooan
OO000d0O000doO0oDdooooDoodoooDoooDOoooooDooon
000000000 Classical ViewD OO OO OOODODOO0ODOOOOODOOO
O000000000000000DOO000DO0O0O0O0 Prototype Viewld Posner &
Keele, 196800 0000000 000O0O0OOOOOODOOOOODOOOOODOOO
O00000D000 Exemplar Viewd Medin & Smith,1984;Mervis, 199010 0 O O
OO000000D000D0000 Schemas View Bartlett,1932: Rumelhart & Nor-
man, 1988 00 0000000000000 0000O000O00OO Knowledge-
Based View[] Barsalou,1983;Keil,1989;Murphy & Medin, 198500 0 0 000 OO
OO00000D00D000dDO00dooDOoooOOoooDOoooOooDoOoooOooo
00000 3]0

000000000000 oOooDodoodoooooonoooooooo
OO00000DO0O0ODOO0O0ODOO00DOO0oO0oOO0o0oOOo0bOoOoooDobOOoooOoonoo
OO0000O0oD00D000b00oodoDodooooooooooooooooon
OO0000000000DO0DOO0DO0O00oOOoobOooooooOobOOobOooDoan
ODO00000D000D00dDO0dDO0odDodoDodoDodooDoOoooOoooo
OOo0O00o0oOoooooooon

0oodooooooooood



10 00

e JUIDOUDDOODLDDOODLUOULDDOODLUODLOOLODOODLOOO
gbooobogg

gbobooooboboboooobbbuoooobood

gboogobubugudgbboobuabobbuoobooboooboo
gooobodgd

gbobogoobbodbobobogbobooooboooboobboon
gbobooogbobbuoooobbboogbobooon

000000000000

000000000000000000000000000000000 [41)0
000000000000 (4300000000 [39)4400000000000
0000000 [28)29)00000000000000000 12000000
000000000000000000000000000000000000
000000000000000000000000000000000000
0000000000000000 [28)[29)[31)41)00000000000000
000000000000000001989000000M0000000000
00000-MAGICOOOOOOO 440000000000000000000
0000000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
0000000000000000000000000000000000000
000000000000000000000000000000000000
0000000000000000000000000000000000000
0000000000000000000000000000000000000
000000000000000000000000000SDO00000000
000000000000000000000000000000000000
000 [34][37)[39][40)000000000000000000000000000
000000000000000000000000000000000000
0000000000000000000000 (19)2000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
0000000000000000000000000000000000 [26)0
0000000010030000000000000000000000000
000000000000000000000000000000000000



10 00

00000000000000000000 [22[23)0000000000000
000000 [21][27)[28]0
000000000000000D00000000000000000000
0000000000000000000000000 521000000000
000000000000000000000000000000000000
000000000000000[53)0000000000000000000
000000000000000000000000000000000000
00000000000000000000000000000000 [57)[58)0
0000000000000000

e DU OO0ODLDLDDOUOODLDDLDOUOOODLDDLDOOOODLDDOD

e HUUDDOODLOODLOODLDOUOODLOLOODLOUOODLDOODLOOn
gooooogon

e DO ODLOUDLDDOODLODOODLOUODLDOODLOUOODLDOODLOOD
gboobooogboboboooobbbooogboobogon

e UUDDOODLOUODLOUODLDOODLDLOUODLOUDLUOLODOODLOODn
gboogbodgboobuogbobuodgbbbbodoboboooboboo
gbbooodgbbbboooobbbuoooobbod

gooooogooobod

1.2 000000

ggbbboooobbboooobbbuoooobobbooobbbodoo
gboobooboooooobooogbon

e OUOUOODLDLOOUOODLDOD
e JOUOOODLODOO

Dohobooboobuooboobooboboon
Dboboobooboobobobobbobooboobo

e U UUOOODLODLODOOOOO

gboobobbuooogobobobooooobbobbooooobbbboooogn
goddddddodooo 1obooooooobbbbobooooooon
gbobuooobobbbuoobobboooobbboooobbbuoooon
gbooboooobbboooobbboooooboboooobboboooon



10 00

gboobooooobbbooooooooboboboooobbobboooon
gbooobogg
gboooboooobbbooooboboooobooboooooboon

e lOUOOODLDLOOOUOODLDLDDOUOOODLDLODDODOUOOODLDD

gbbobuoooobbbuoobobboooobbboooobbboooon
gbooboooobbboooobbbooooboboooobboboooon
gboooboooogon

googoboo"ogo "bobdbbooobooobooooobo0roboon
gr"gbobgbogbobbobobobgagraobobaoor™oboobooon
gboogobuogbbdodgbbogboooboobobuoobbooboboDr o
gbo"oboogr"bugr"bobobobboboob20b0ob0liobooboon
OOO0ob0O MIDIO 1000bDooboboobobooboobbooboboobgoon
gooobobobbbboboboboobobbbbbooooooooooooobo200b
goboboobboouooooobbbobbotodoooobobooooonon
gbugboogbobodgbboobbo0obuooobo»oobbobbogb
gbooobuogoobbbogoobobboooobooboooobboboooon
gbbobbouoodgobbbbouooouooobbobboobouoooon
gbooobuogoobbbogoobobboooobooboooobboboooon
0000000000000000000000000000 (D0)ooooo
gbobobooogobbobooobouooobobuoooobbobbooooon
gbbobuooobbbdogoobbboooobbboooobbbooaon
gboobuoogobboboooobon

1.3 0oy

ggobobooo111oodgo

O200000000000000O0O0O0OOODOOODOOODODOODODOOD0
gbogobogoboobooilooobooobobbuoobboobbagon
gboobooooobbbooooobooboboobboooobbbboooon
gbbobuooobobbbuoobobboooobbboooobbboooon
goooobobboogobobbooooobobboooobbobboooon
DoOooboobooboobooo MIDIDDOOobOoobooboobobooo
Joddddoooooboboooooodgo 2000000 @moboobobDn
gbbobuooobobbbouoobobboooobboboooobbboooon
goooo

g3f0boobooboboobuoobobooboobobooMIDIDOODDO
gboobooooobboboooooboboobboooobobbboooon



10 00

googodbboboobbbogoboooobooboooobobsobbon
OO0 12000000000 MIDIDDOO0DO0O0oooDoooboboooooobon
gboobboogobbobooobbobuoooobboooobbb™wobobboood
gbbobooooobboboooobobsbbbooooobboboooaon
gbooboooooooobbboooooboboboooobbbboooon
gbbobuoobobbbuoobobboooobobboooobbboooon
gboobooooobbboooobobobooooobobbooooonbobon
gbbogobobbuoobbuoobobbuobboobbuogbbda 2000
OoOoobooooboMIDIODDOOobOoOog8uooooboobooboboboo
gbbobuooobbbuogbobboooobobboooobbbuoooon
gboobbogoobbboooobbboooobobooooboboboooon
gbbobuooobbbuogbobboooobobboooobbbuoooon
gboo8bbobugoobobbooooobbobboooobbbboooon
gbobbuooobbbdooobobboooobbboooobbboooon
gboooogooobogo
4000030000000 000DL0O0OOOOODODObDODbODbODbO
gboirbboobbbigoogobbbobobbbbodooooooonon
gbbobuooobbbuoooobbbuoooobobooagn
gsdbbbuouggobbboogoobbbuoooobobobbuoooon
gbbbuooobbbooobobboooobbboooobbboooon
gbobobobuoooggobos3sbbobodoogoboboolodoooon
gboboobobuogsbuugugbobobbouoooobbbbuooooobb8n
gboobboogooboogobooad
edbbbuooodobbbuoooobbbbuoooobbbbuoooon
gbodbudgboougobobobooboobooboobobbobbon
gbbobooooobbbooooobbbboooobbb3bbouoaon
gboobobuogoobbbugoobbboooobooboooobboboooon
gbbbuoobobbbduodgbobbboooobbboooobbboooon
goboobooogooobobobt+«bboooooobbbboooooon
gbbobuoobobbbdoodgbbboooobbboooobbboooon
gboobuoooobbbogoobbooooboboboooobobboooon
gboudgboobobbuogbbobobuodgboobbodoboobbooboab
gbobobooooobbobooooobbbbooooobobos3sbbbouoaon
gbbobuoooobbbuoooobbbuoooob
Orvooboboobboobboobboobbobbobbobobooboboobobon
gbogbobudgbbobbboobboobboboobboobboobood
OO RMSOOODOOOOOODOOOOODODOODOOOD400DO0O0ODOOOO
gbbbouodobobbbdoodgbbbboooobbboooobbboooob



10 00

gboobogoobbboooobobbooooboboooobboboooon
gbobbogtstobbuogoobbbuooonobboooobbobao
gbogboooooboboobobuoobobuoobobooboboobo
Ooooooobooobob RMSOODOODOOOOOOOOOOoOoDOoDOoOoDO
goobooooon
gsbuogooobbogbbuobobbuobbuoobboobobooooo
gboboooobbboooobbboooooboboooobboboooon
gbbobobbbuooobbbooooobbobuoooobbbbuoaon
googobuogbboggogobooboobboboooboobbuoobobod
gbbbooooobbbouoooobbbobbbuoooobbbboooob
gbooboooobbbooobboboooobobobuooon
Dogobobded7dbbOODDLOODDOOOODLDOODLDbOOODLDbDOn
gboobogoobbboooobbboooobooboooobboboooon
gboooogo
gioboogobooboogoboboooobbboooobon
ggbobobuogogobbog



10 00

"
1o
T
-

B2E —a—JLRry +I—V % EOE ITH I+ —LITHT 2HROHMR

AWEZEHRDOD v U ILHEE

EIE Za—JIry kT—H & F6E —EMMRITREED

WREICLD Sy VILEFLE EFENERROBE
FAE FE L2 —FILry rT—5 F1E —EHRBITHBEOGEFY
DR O FIEERR ERFRO EEEE

B8E U VILHETERESN LHTERERREN OBELDRET

FOE HTERERNRE LER2EXEY AT LD &

011000000



2]

Jooobobbobooboboodddd
HRERERERERNRN

2.1 O0O0OO

gbbooodbbbtoooobbbuooobobbbooobbboooob
gbobobuogoobbbdoooobbboooboobooooboboboooon
Doobod23000000000024000000000000250000¢0
gbooobogoobobboooan

2.2 0O0O0OO

goobobooooobbooooboboboooobbboooobbboooon
gbbobuooobobbbouoobobboooobboboooobbboooon
goobobooooobobooooooobobbooooobbbboooon
gbbobuooobobbbouoobobboooobboboooobbboooon
gooboooobobboooobbboooooboboooobboboooon
gboobuoogoobbbuoooobboboooobo

gooboooobobboooobbbooooooboga

221 OO

gboobooogoboboooooon

o0 oobobboooooboboooooobobbooooboboboioon
0040

gboood bobbooogoobbobbouooobbbbboooooooobd
gooobbbobbboooooobbooooooooobboooooo



20 000000000000000000000000 10

0000000000000000000000000000000500
000001000 WAVEDOOOOOCDMOOOOO0O000000000
00000000000000 [4][5[46)47][48][49)0 00000

222 00O

000000 Digital VidleoeOOOODOODUOOOOOOOOODOOOOOoOoO
oboboobooboobooboboboboobooboobooboon
gbooooogon

D01 0000000000000 00O00O00DOO0DOO0ODOO0

0ogd

e OO OO0OLOOO0ODOODODOLOODLOOMm
gobuboobudibimnmboobogbobuooboob b oo
ggbobmoobobooobobobooobobbobooom
gboboboooobbbuooobboboooomm

e JODODOODODOUOODDOOOLDDLOOODODLOOOODLDOO
goboboboobuoooobbo
gbbboooobbtd

e UU0ODDUOUOLDIMODbDDOOODLDLDbDOOLDDLObOOUODLDO
gbboobobooobbbuoobbbmobbooobobooon
gooboooooboom
gbbbooomwoooooaog
goobooooboboooobid
gboboboooobbboooobboboooobb
goboboooobbbooobboboooobom

b2 0000000bboooobbboogobboboooobn

goo

e DD OUODLDOOODLOUODDIMOUbDOODLDDUOUODLODLDUOOObOO
gobobbobboodooooobobbobobbbooooooooo



20 000000000000000000000000

gbbmobogobboooooboobobbooobobooon
EREREREN

e HUUOUOOOOOODLODDOOOODLDDOOOOODLODLDDOO
000 o

e MODDODOOODOODOODOODOODOODODOOD O
YOOOOooboooooooboobooobomao
MOOODOOooOOoOooOOooOoooboooboomoooboobooo
gboogdbuogoboobooboobobogoogbboobooon
gbobobooboboobooobobobobmouobobon
gobobbbobuooooooooobobbbooudooooooon
gobobooooobooboobobooooobmboboboooon
gbobobooooboboboooobobono
YOOooooooooboobooobooOod

e NUO0OODDUOOODDLOUODLDLDODUOOUODLDLDUOOD

e JODOOODOOODLOOODLOOUODODOODDOODLDOODOO
OoobD00m
gbobobooboboobobbooobobobobobobon
oboooboobobDmmm

ObO30000b00bobbobooboobuoobo

0ogd

o I OO0ODODOO0ODLDUOOODOODLDUOLDOOODLDUODLO
gmobobogbuooobbbodgobuooobbbooom
gooboooobbm

e MOINODOODOOOODLDUODLOODUOODUODLODODLDOODODLODO
gobobbbbbbbobuodoooooooobbbbobboooad
gobobobobbououooooobobobbbooooooooon
obobbooboobouD 000 o

gboboooboobooMOOboOobooboboobobooboo
oboooboobboobobooboboob TOo IDOoDODbDOOO
gobobbobobboboouuooooooboobbbodooooon
gobobooooboo



20 000000000000000000000000 12

e NUO0ODLODLODUOOUODLDLDLDUOOODLDLODDUOOUODLO
gobogbbobobooboobugbobuobogouoobooon
goboboooobobbuoooobbboooobb

b4 0D00O00000ODOOO0O0ODOOOOO0O0OObObOOOO

goo

e HUUOODLDDOUOODLDDDLDOOUOOUODLDDOUOOOOD
gooboobobbobobbbboooouooougoooobobbon
gboobDo0m

e HUUOUOoOoOooobobObbbbbObOObOOoooooobbbobo
Jiggbooooboobuogobuoobuoobbuooboboon
gogoobobobbbbbbbbbbbbbbobooooagobbn
gobbobbbouoooooooobbobobouooooooon
oboooboooboobboobbooboobboobbmob
gjgboboboboobuogdgbbogbbuoooboooooon
00000 0

OOs 0b00bobbOobbOoboobooboon

0oOod

e HUUOODLDDOUOODLDDDLDOOOUODLDDDUOOOOD
gooobobboobobobobooooooobobboboon
gbboogbmoodboogbobbuoobboobboougon
gboobobboboobooboom
gbobobooooboboooid
gboobobbobboboob
gbobbooi1ouogdnmmD oo

b6 DOOUOOUUoobObuoooobbbouooobbboooon

goo

e HUUOUOUDLDLDOUOOODLDDLDDUOOODLDOD
gooboooobbm ]



20 000000000000000000000000

13

gobobooooobood
gbobboooobbbuooobobboooon
gobobomobbooooobooooboboboooond

gboboooobobbooogbbbuoooobbbooobbboooon
gboobooooobbobooboooooboboooobobbbuoooon
gbbobuoooobbbuooobboooobbboooobbboooon
gboobooooobboboooobobobooobuoooobbobbuoooon
gbooooogn

gbooboboooobobbooooboboboooobbbuooobobboooon
gbbobuooobbbuogobboooobobboooobbboooon
ooooooMIDIDOOODOOODOOObOOoOobOoOobooboobooboooo
OoOob0oOO0NNDOODOOobOooboobooboobooboobooo
gboobuoooobbbogoobobboooooboboooobboboooon
gboboooooo

23 UO00OOoOOoOonO

gobobbboooobboboooooboboooooboobobogo
gbobooaoobn

ooooobon
1. 00b00ooooboobobooboooooooMIDIDODODOOooO

2. 0000000000 0DO00O0ODOOOMIDIDOODOODOODODOO
oooooooo

. 0buubobubuobbuoobodgbboobboobboboonoo
Dooboobood

4. 00bO0obO0o0oboboboobobooobooboobobooboooo
Doobooobooobooboobon

gbhobogboboobuobobogboobooboboobobogobon
gbbobuoooobbbdoodobbbooodobbboooobbbooaob
gbobobuoooobbboogoobbooooboboboooobbboooon
gbbobbuooodgobbbbouooooboooobbbbbooooobboon
gbobobuoooobbboogoobbooooboboboooobbboooon



20 000000000000000000000000

14

<AHBT—4E> <HHhT—%>

22l D SMF ’ ‘ HID S v v LB ’ ‘/)v VILHEERER

LESEggiii ]

EPa—L FE'E”E

anE ) IR wn
v ; /"\ /
e -‘ ©
(0~1~IEfR1E) FEIE
Za—JIIpry bT7—4H

0210000000

gboobboooobbbogoobboooooboboooobboboooon
goo

24 0OJ00OO0OO0OOOO0OO

DooooooooogMIDIDODDDOOOOOOooOooooDoboboOoooo
obobooboobooboobooboboobooboobooboon
gboobooogooboooobbooogn

OOooOoooooogobooooboobogbogoooMIDIDOODOOOOoOOod
gbbobooooobbobooooobboboooooboboooonoboobon
oboboobooboobooboobobboobooboobooboon
gbboboooouooobbobooooobobuoooobbbbuoooon
oboboobooboobooboobobboobooboobooboon
gbooboogobood

Dobobooboobgooboobobbobooboobooboobob
gbbobuoooobbbouooobboooobbboooobbboooon
oboobooboobooboobooboo bobobomooboboon
gboogdbbogbboobbooobbooobboobbaboo boon
Dombooboooboboboobobobobob boboomooooon
gboboboobobobbobboobbobbobobobbbobobobbon
O000000000D00o00100000000000000D000D00 General
MidiDDOOoOOoooooMIDIDOODODOOOOoOOooOooobooooogoo
OO000D00OSumOSH600 COODOODOO



20 000000000000000000000000

15

goooooMIDIODOOoOoboooboboooboboobooboobooobobo
gbboodmobogboobbuoobbbomoobbouooobooman
goboogobobbmoboboooobboooobbooo@moooon
gboboboooobobbbouoooobbobooooobobobbbbooogaon
gbooboogooood

gbooooboobooboobobooMIDIDOODDOoOobDooooooDoDo
gboooooon

e JUUOOOODODODO
e JOOOOLDODODO

e JUOUUOOOU

gboobooggobob3buguooboooonooon

241 0O0O0O0OO

goobbboooobobobbooogb 20bbboooobobobogo
googbooobobooboobooboboobooboobobooboon

gboboooobobboooobbbuoooobbbooobbboooon
Ooooboboboooooobooboo MIDIODODObDOoooooMIDIDOD
OobooboobooooboooooopCobObbOoboobooobooonO
gboobogoobbboooobbbooooooboooobboboooon
gbbooooobobodg 22000

googudgbobogbboobobooooboobbigi2sooouooan
OO0000o0ob0o0obOo0obo0obbooOgbOGeneral MIDIDOOOOO 3-1
gboobooooobobbooooobobooooobboobbbbuoooon
gboogoob20d32000boougoboboogbooonbooobboogn
gbooboooooboob 21000

Ooo0ooooboOo3s1000b0o00n DistortionGtD DO DO OODOOODO
000000000000000000000000000 inst[1]0inst[128] 0
12800 00000obbobbboodgooooobbobobbbboudgogo
gboobogobobgilibggobooogbobooobbbooobo1obbooon
gbobbuooobobbbdooobbboooobbboooobbboooob
0000000 inst31]=10000000000 inst(31]=0000000



20 000000000000000000000000

16

TOH S LF N —nEBEA B |

, , = IRYEY (e G AV
int inst[n]=
(n=1~128) 0 HuonTuLig

//’—"‘\\‘

inst[31] = 1

Distortion Guitar

02200000

242 000O0O0OO

0000MO000000000000000000000000000000
0000000000000 MIDIOOOODO0000000000000000
0000 MIDIOOOOOO0OO0OO0D0D00000000000 1600000000
00000000000000000000002300(0C
00000000000 beat[0]0beat[15]0 160 0000000000000
000100000000000000000000000000000000
0000000000 beat/0]00000000000000000000000
000000000000000000000000000000000000
0000000000000000000000000001000000000
000000000000000000000000000000000000
000000000000

243 0O0O0O0OO

gbobuomobbogbbboooboobbogbboobobooboooo
Doboobobobobo MIDIODOODOODOOobOOoooooooboobobobon
Ooobobooobobooboboooo24b0@mooobobooobon



20 000000000000000000000000

17

double beat[k]--- 1/NEIZ169E| L =D
(k=1~16) kEFEDHEIZHD.
1H-Yn/—r4+>nmE%%

........ N/ (n+1) /NG
g o g 2HE 3B 48E

1458
—
—=

J ] B i
[ beat [3]++ beat[8]++l beat[12]++

beat[1]++ beat[10]++

023 000000



20 000000000000000000000000

18

O 2.1: General MIDI Sound Set 0 OO

ooooooood ooooo
108 piano
90 16 chromatic percussion
170 24 organ
2500 32 guitar
330 40 bass
410 48 strings & orchestral instruments
490 56 ensemble
570 64 brass
650 72 reed
730 80 pipe
810 88 synth lead
8901 96 synth pad
970 104 synth sfx
10500 112 ethnic misc
11300 120 percussive
1210 128 sfx

Ococ4dbeobbUiibepooooooooooooooboooooDo
0000 n0n0 1012800000 nOn=101200000000000000
gbooboobooogon

O0000000000D note[l]Onote[l2] 0 1200000000120000
0000000000000000000000000000Onotel)00D0
OcOob0obOobOobOoboooooboobooboobooboooobooboobooon
gbbobooobobbboooobbbuoooobbbuoobon

25 U0boooboogod

boogoobugbbuoobbobooobobbuoobbuoobobboo
Dobobooboobooboobobboboobg



20 000000000000000000000000

19

double note[n] -+ FEANDELEZFDREMPT
(n=1~12) FEoTLBEH

SMF

J— A ///’—\\\\
SRV ) BRE:C (F)
note£1lf+
e =4

\/

02400000

g 2200000000040

ooonf gogn
10000 g
01000 god
00100 OOOOODO

251 0OU0O0booooooobod

00000000000000000000000000000000000
000000000000 Oinstn] 0 12800000 00beatn] O 16 0 O noten]
0120000000000 1560000000000000000000000
0010000000000000000000000000000000000
0000000000220000000000000000010000000
100000000000000000000000



20 000000000000000000000000

20

252 JU0b0booooooooobd

oboboboooooooobooooobobobo21boooboboobon
OO000b0obO0o0o0o0ooOobOobO0oboboooooOooDOobOobobooo
Dooobolgo3sboooooboobbooboobboooboobo
00 O Back Propagation AlgorithmO 000000000000 0OO0ODOOO

000000000000 0000000D0General MIDIDOODOOODODO
MIDIODOODODODOOobOOobOobOoboobobobobbobobobobo
goobo3togoobobooooobobobboooobbobbooooon
gbobo20000000000

2.6 200000

gogbobobuooogboboooobbbuooobobboooan

gboooooobooboobobobooMIDIDODOobOOoboooonDooo
gboogboobobbobuogbboboboobbooboobuooboobood

ggbobbuooogbbooooobbo

gboobodgag
. 0bobboobooboobooboobo MIDIODODOODOOD

2. 00o00obobobobobobobobooMIDIDOOO0DODODOn
gooooggon

. oo ooooooooogo
gbobooodgobbooodobbon

4. 00bO0obooboboooboboooboboobobooboooo
gboobuoooobboboooobon

DoOooboooboooMIDIODOODOODbOOoobooboobooooobon
gbbbuoobobbbdoodgbbboooobbboooobbboooob
OOoOoMIDIDOODOODOOOOODOOoOobOooDooboboboooboobom o
DohobOobhooboobobgoboo3sggboobooboobo

e JUUUOUOODODODO



20 000000000000000000000000

21

e JOUOOODLODODOO

e OO OOODO

gbobobbuoooogbbbboooogbobobooooobobbbodao
gbooboogobboboooobon



22

3

Jooobobbobooboboodddd
Jooobobood

3.1 OOO0OO

gbobobog200dobbboooobbbbuoooobbbbooaon
gboogobouogbodbbgobboobuooooooobooobuoobobod
gbbbuooobbbdoodobobboooobbboooobbbooaon
gbobobuogoobbbugoobbbooooobobooooboboboooon
gbbbuoobobbbdoodgbobboooobbboooobbboooon

3.2 UOUOUboouoboooboobobogn

gbobobooodgbbboooobbbuooobobbbooobbboooon
goooooon

3.2.1 0O0OOOO

gbhoboogbog200bobogbodgbogbodboobboobbob
gobodgboobobobobbobbobbobboboboobodgbooob
gboboboboobodboudgbuogogbooobobbobbobbob
gbbbuooobobbbodoodgbbboooobbboooobbbooaob
gbobobuoooobbboooobobboooobboboooobbboooon
gbbbuooobobbbodoodgbbboooobbboooobbbooaob
gboogobouogbbooboboobogbobboobboobboobobod



U 0000000000 o0o00000booooodooon

23

3.2.2 000000

ggbobobooogbboboooobbbuoooobo

goooo
gbobodbbooboboouobobooobbboob oobobbod 1200
DooooooMIDIDDOODOMmMmogoooomoooboobmoobo
gboob3bbdogobobooooobbobboooobbobbooooon
gbbobuooobobbbouoobbboooobbboooobbboooon
gbooboooobbboooobon

010 00o0boooon

020 00booooooon

030 00boboooon

U040 0O00OOOO0O0O0ODOODOOOOO0

Os50 O0b0boboooooboobooad

el U0OODLDOOOOO0OOLODODOOOO0

70 00o0DLhO0o00ooooooboogooboobooboa

grooooodn

3.23 0OO0OOOOOO

gbogbobobobobobobuolgboryoobooooboboobobo
Doobobo1oiboboboooouobgbooobobooboomaonn
Dboobbobbooboboobooboobooboobo40bmbobbon
cbobobobboboboboboboboboboboboobooybobboOooDoo
gbo200000000000000004000b 3.100

gbobobgboobobobobobobsidboboo400070bO
gboodgbobodbodgbodgboolgbogbuodgbogbogoboogn
Dooboooboooo40b0b07DOo00obobobobobobon 400
gbo0b 1200000000 b0b00000oboboboooobbobbouoaon
gooboboooooo40obovobbbbooooobbobbooooon
gboobobbuooogobobooooobbobbuooooobbbbuooogn
000000000 bo0o0o0o0ooooboo 3100320000



U 0000000000 o0o00000booooodooon

24

g3l 0buogggbobbuooogbobod

gbooboooboon gog-oo0o0-0bo gobogo b0Oo0o0 booob
10 0od0od 128-20-4 119/120  99.20% X
20 000000 16-10-4 97/120  80.10% X
g3000000d 12-10-4 103/120  85.80% X
040 0DOO0oO0OO0oO0oDOO0 144-30-4 120/120  100% 4 650
gs00o0boon 28-30-4 111/120  92.50% X
el DOoObDOoOoDOd 140-30-4 119/120  99.20% X
gr7o0oooboobon 156-30-4 120/120  100% 0 1100

UO0XID1oooooooooooo

gogboboboooobobuoooobobbuoooobobboooobbbooo
Doooooboboobobsbobobobooooobooboboob 120
gbbobooooobbobooooobbbooooobbbogsuuoon
Dooobooooooobgob4b00v0boooboboobobob 2000
Dooboboboo3d2bobobobboooobob4b00no7boboOon
Dobobooboobobooboboobooboboboobodooboon
gobobobobbboougoooooobbboobbbogoooooobDbDt
Oob0O2000 3000s5000e60000000000000D00O0O0OOOODO
gbooosuggobboooobobobooooboo33dbon

DOoobobogbi100020003b0005000600000000000
gbbobuoooobbbougoobbboooobboboooobbboooon
Dboboobooboobooboobobboobooboobooboobb
godb120dbuoboogobouogobuooobuoombbooboogn
Doobog200@muobobdpoobobodnobooogo 3ugn
gbooboobooogbooboooobbooodon

3.3 Uouoouobooobogn

gbobooobobobboboboooouobooboobobuoboboboobo

3.3.1 0OO0OO0O0O0

gogbobobooogbbobuoooobbobuoooobbbooobbbogoo
gooboooobobboooobbboooooboboooobboboooon



U 0000000000 o0o00000booooodooon

25

0.14

0.12 K
0.1

- 38 JYX L, BENN
—— B3 )X LNN

N

Eé‘ 0.08

x 0.06

2 0.04

0.02
0 -
2 3 10
o [ 2 (& 2%
O 3.1: 0000 ooonon
032 00000000000000000
googg O70 200000 ooogg 040 200000 Ododn

2 0.095464 X 0.122113 X
3 0.079253 X 0.090409 X
4 0.063746 X 0.046333 X
5 0.000418 2873 0.000782 5444
6 0.024687 X 0.008408 X
7 0.000938 429 0.000445 3774
8 0.000706 1596 0.000602 692
9 0.000700 2641 0.000899 1355
10 0.000879 369 0.000887 203

OO0XOD20000000 2000000000



U 00000000000000000000000000

26

1.4
1.2 |- <4 >ONN
' A <7 >0ONN
1
-
s 0.8
z
M2 06
3|
0.4
0.2
0
°© 83338888888
o (=] o (=] (=] o o (=] o (=
o o o o o o o o o
FEEH
0.08
0-07
A
0.06 <7>®ONN
2
% 0.0
=
T 0.04
)

0.03
0.02
0.01

o (&3] — — N N w w N EN ()]
o o ol o ol o ol o ol o
(e] o o o o o o o o o
o o o o o o o o o
24 351
FE A

0 32.000000000000200000000
gogobbbooooobbbooobobbooogoooo




U 0000000000 o0o00000booooodooon

27

U 33 b0bugsugubbooggbobuoaobn

gbooooo oodg 0oOO0 b0oOo0o bbob o0oob O0o0bo
gboooobooo 128 5 4 119/120  99.20% X
gooooooog 16 5 4 94/120  78.33% X
gboooobooo 12 5 4 71/120  59.17% X
gooooooog 28 5 4 93/120  77.50% X
gbooboooboon 140 5 4 119/120  99.20% X

Uo0Xmooooo1obooobobooobooooboooo

gbobuoooobbboooobobbooooboboboooobbboooon
goddddddooooooooooobobbbbbbbbbbbooodd
googbooobodboobuabboobooboobbooboobbod
gbbbuooobobbbdoodgbbboooobbboooobbbooaob
gboobogogoobod

3.3.2 UOO0O0

gbo0O gobood 250

gboo0O bDboobuoboobboobuooboobboobaoobbogob
OOoo0oobooO0ob0ooboooooo cboboooooooooboboo
ggudgbsbdbubuodbobodbobuobobobbgoodoo
goboubogbobogo4bbogabboog20booobos8boad
DOoobOOoMIDIDODOO MIDIDOOODOODOOOOOODOOoDOOOD
gboogogbbogbbodgbobbobuobbuodgbobbodobo
gbuodgbbouogbbdodoboboobuoobbooobbooooboo
gouogbbouboogbbodbogobuoobbooboobbboo
Dooobooooobooboboboobobuo400b00bDO0b /00

gboobooogbooobod

3.3.3 UuUuoooon

00000000 34000000000000 6650%0000000000
0094% 00000 %0 000000054% 00000000 40%00000
gbobubggbooobbuoobuoobbuoobboobooboboobbd



U 0000000000 o0o00000booooodooon

28

0340000000000

| D0 D00 0OODOOO0 000000 0O
000/000 |47/50 39/50 27/50 20,50 133,200
0000%0 | 94%  78% 54% 40% 66.5%

gboobogoobbbdoooobbbooooboobooooboboboooon
Dohogboboooboobobooboboobboobb40b0o0obboobn
Os0000000DO0ODO0ODOO0ODO0ODODbDODOODbDObDODbOoCbOObDOO
gbobooogobbod
OO000O0OPeason DO OOOOOOOO 0.03700.23800.2980 0000000
Dooooooboboobooboboogooooooo40oboooboon
OOo0obOoboboboboobooobooboooooccboobobooboooo
gbbobooodgboboboooobbouooobbbboooobbbao
gobboogoobboogobobuoogobobuoobbboooon
gbbbuooobbbduodgbobboooobbboooobbboooon
gbooobogoobooboo33buguubbouoobbss40bboogon
gboodgbuogboa3sguooubogboobboobboo3ebuogbooad
gogogbobobbouogooobbobbbouuooobotbbbodao
Doobobobobooobooboooboboomobobobooon
gbobobuoooobbbugoobbbooooboboboooobbboooon
00000000000000000 5% 000003
ggboboboooobobobooooobobbuoooobobbooooboobobogoo
gbbbuogbobbboodobbboooobbbuoooobbbuooaob
gboobooooobbobooooobbbbooooobobobooo40000
gbbbuooobobbbdoodgbbboooobbboooobbboooob
gbooboogobboboooobon
gbodgbodgbuodgbobobobbobodbdagobuooboooboboo
gboodoudgbogbogbboobbobboobogboobod 3.7gn
ooboobooobbo4000b00b0obobobobobooooobbob
gbobuogoobbbdogoobbbooooboboboooobboboooon
gbobobdobobobbobbobooobobbiouo—=0buo0bo—-0bobob
O000000000000000 1%05% 00000000000 3500 3.6
gbodbdgdbuoobuogbobudgbuogobooboobboboboob
gbobuoooobbbogoobboooooboboooobboboooon
gbbbuoodgbobbboodbbobuoooobbbuoooobbodao



U 00000000000000000000000000 29

RE

—— BEREMFFOFHRE
—m— BRFEMRFOFIYRE

KEBDIEH a— F#fT et HES

g 33 00u0aoobugd

—— JA/ZE R RE T
—— A IR E R RE T

HKBOEE  3— FET ke HES

0..5%0000

034 000000000000



U 00000000000000000000000000

30

RE

2.5
—— hr ERFORETH
2 —— hr RIERF O RE T
REBDIESE a— ST /e HES

0..5%0000

U35 0buouggooboooanon

RE

—- mEfRERFORETY
—— mFIEfERFORETY

REFEDEE  3— FEST fef SES

036 00000000000000O0




U 0000000000 o0o00000booooodooon

4

JAZL —¢— B

10 20 30 40 50 60 70 80 90 100
HIEE (%)

U3rnobobboboobooodg

g 35 000a0agn

TEIEE

kil BHE FEH FIE BEEE
=718 | 11589392 3 3863.131 8169 000
U= | 51000699 129 472874
it 72530.090 132




U 0000000000 o0o00000booooodooon

32

34 U0O0O0OO0OOOOOOOOOOOOON

gboogos3s3ugnoboogboobnuogbobooboooobobobdo
gbbboooobbbbooobuooodobobbbuoooobbbbooaob
gboobuoooobbbogoobbboooobobboooobboboooon
gbbboodobobbboodobbboooobbbuooon

33300 00000000000000000 66.5%0000

godbobuoobobobuodbobobobubbobobobobobob
gboodboogbogbob333gbugougsbuds2gbognoooan
DohooboboooboobboobooMIDIDOODDOOD 120000 800
goboboboboogooooggs2gooobbobobooouooooonbn
0000000000000 80000000D0DOO0ODN0OOD 100%0000
gboobuogoobbboogoobbbooooboboboooobboboooon
gbbbooobobbboodgbbbboooobbboooobbbooaob
gbobuoooobbbodogoobbbooooboboboooobbboooon
gobugubuodgbodgbodgbudgbbooobobobobbobbobbb
gbobuoooobbbodogoobbbooooboboboooobbboooon
gbbbuooobobbbdoodgbbboooobbboooobbbooaob
gbbobuoooobbbogoobbboooobboboooobboboooon
gbbbuooobobbbdoodgbbboooobbboooobbbooaob
0000000000000 00000000oo0o0oooDO 34joooooo
obobooboobooboobooboboboobooboobooboob
gboodboodgbogbooobbooboboob3ss33gubougnodsbuiizo
Doboobuoil1gbboobgo1yoooboobbob1bgoboobn
gbooboboooobbbouooobbodao

Dboob3gbooboobooboobboo333gbboonbonobo
oohooboboobbuoobooboobbooboooboobobouo4000
OoogsooooooooMIDIDOODOOOO0O0oOooooooboooooon
gobooboboboboogogoobbobobobodooooooobooobobooaoos.
30gobobbobbooboobooboooboobg

200000000o0bobboobobob0o1200b0b00boonD MIDIOO
gooodoss33gbbogoboboobooobooobbooonbooon
gbobobobobobbooobo1ugbgogbobobooboobogn
cbobobobbobbobbobobobobobobobobooboobosubbonbn
gboooodgo

goobogboboobboobbbooobobooobobogsyboogonbooon
gbobobobbbuooobbbooooobbbuoooobbbobuoooon
gooboooooboboboooooboboooboooobobbboooon



U 0000000000 o0o00000booooodooon

000000000000000000000000000000000000
0000000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
0000000 [33][34]0

3.5 300000

gobooobobouooobooobboobbuoooboobobuooob MIDI
gbbobuoooobbboodobbbboooobobbod

200000budgbobuoboobboobboooobobboooobb
OO0oo0Oo0oo040000000 12000000000 MIDIODOOOOOO0O
gbooggboobuogboggbogobooobobbuobuoobombadan
Doboboobobo20b00000b0oboboobmoboboboobon
gboobooooobbobo3bnuooobbobbuooobbobbouooon
Dboboboobbobbob3s3sboobooboobonobobobo2000
Ooooboobooboboobooobboobuoobo400b0oboog8uooon
OO0 MIDIDODOOOODOOODOO0OO0OOO0O00O00bOO00bO0oo0o0oon
000000000000 0000D0000000ooooOess%00000
oooo

Dooooobobobob4000000ooooooobob 2000000
Dooooobdbobobobobobooobobobobobobobod4
gbobuoooobbbouogobobboooobboboooobbboooon
Dboboobooboobooboobobboobooboobooboob
gbobobuoogoobbbougoobobboooobboboooobb—=b000o0n
—boboobgoboboobo1l1bgsuoobobboobuooboboobn
gbobuoooobbbouoobobbboooobboboooobbboooon
gbooboooobbboooobbbooooboboooobboboooon
gboobuoooobbbuoobobbbooooooboobod

4000033000000 bobboooobbobuoooobbbooooobon
gboboboooobbbooobbobuoogobbobuoooobbodao

gboob4000000bb0bo0ooobobboooobbbboooon
good



U 0000000000 o0o000d0booboogdgonood

0 3.6: 0000
FEEH B{EE
Tukey HZD
TEE 95% {Z#E[E]
Doel (Dol {I-J) R | HEtEE iR LIR
T L e —21 8536+ 4710 000 | 339545 =5 7531
AT AL 2640 5981 an -18.0056 12.7236
N—FEOw s -10.7151 5.444 200 | 247013 3.2711
BEER T X 21 8535+ 4710 000 9.7531 33.9545
A AL 19.2128% 5.806 005 42980 341275
IN—FEOw s 11.1387 5.251 145 -2 3518 24 6292
AT AL DX 2640 5.951 a7 -12.7236 18.0056
et -19.2128% 5.806 o005 | 341275 —4.2930
N—FOu 5 8074 645 589 | -p4ABERS 8.4073
N—FO»2 T+X 10.7151 5444 200 22711 247013
=y -11.1357 5251 146 | 246292 23518
AT AL 8.0741 6415 539 24073 24 5655

* SEOEDT B TEE

O37n000b0ooboogon

‘DDD g4b000o0obooobOo ovboobooboon

Oooo \ 66.5% 100.0% 100.0%



35

4[]

Jooobobbobooboboodddd
HRERERERE

4.1 0O0OOO

00000320000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
000300000000000000000000000000000000
0000000

00000000000000000000000000000000000
00000weight 10 00000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
0000 ([21)22)00000000000000000000 2000000000
00000000

4.2 JUOO00OOO0Ooooboogbogbooobood

gooobbobobobbbbbbbbbbbbbbbbbobobbbbob 510
s-o Jbbbuoobogoobbuoobbbooobbooilooooobooo
gboobuoogobboiligsbobogodgbbbboooobbboooon

gbb1000000
gbob2 0000000000
gbobo3 obooogoobooabod

obb4 000000



40 D00D0000000000000000000 36

goos oo

googoobogbboobuoobbooobuoobbooboonoboood

goobooooon

0001 0410000000000 000000O00O000DOO0DOOO0ODOOO
O0000000460000000000000 Distortion Guitard Over-
driven GuitarDO 0 000000000000 O0ODOODODOODODOODOODO
O0000D0000D0000000000000OFretless BassO Trumpet
AltSax0 Acoustic Bass OO0 00000000000 DOO0ODOOODOOODO
oooooooooo

ggdddddooogoouuuoou 1oooodooooooao
0oo

god2 042000000 100000b0b0bbo000ooobobuoooooo
oooodobbooooboobbuoo47gobbobbbooobboo
Joobboooobbooobuoobboobbooobbuooobuo
0 O Lead2(Sawtooth)d Lead8(Bass+Lead) 0 20 000 O

Dooboodb20000000000000D0000DO0O0O0O

0003 043000000 300000000000 0O000O0 30000000
0o 4800000000o0oang
OO00030000000000000000000Acoustic Grand Pianold
Acoustic Bass[J String Ensemble 00 00000000 00D0O00O0DOO0OO
0000000000000 O0O0Electric Guitar(jazz)O Synth Bass2 0 0 0
doooooooooooo

gboboooodg3dgbbouogboboobbuoognobbogn
bb4 049000000000 00000O0DLbO0OO0OODLbODbDO0OOn
gbbooogbbbboooobbbuooobobbod
Dbooboob40@mobooboobooboon
Oods b4io00boboobooobooboobooboboobobooobogn
gboogudgbbogboboogoboobboobbbbooooboo

0000000000000 ODOOElectric Bass(Finger)d Distortion Guitar(
Electric Bass(Pick) 00 0 0000000000000 O0O0O00OOOODOO

gboogbobogbbooogsubugbbuoobbodgbooobon
Dooboobood



40 D00D0000000000000000000

¥ X N—koyy EI ANTALAE)L

041:00010000000000O0

¥ X N—Kkowvy JEIR ANGLAZ)IL

042 000200000000000



40 D00D0000000000000000000 38

15
10

g# O

-10

-15

D2 & NnN—Kovsy EI; ~TIAL AR

043 000 300000000000

UxvX n—kovyy ER AT AR

044 000400000000000



40 D00D0000000000000000000 39

15

4 0
5| .
_‘IO L

-15

DA N—kovy P ~NTLAZ)L

045 000 s/00000000000O

4.3 400000

ggoobob3200 12000000bbbooobbbooomobouoaot
gooodbbdgb2go0booobooobbobbooboobooboon
DooobobobobobobooooobobmobobobobooOonoo
gboobooodnogooobooodbioomoooobobogdo
gbbobouooobbouggsgbbobuooaobon

gogoboobobbobtogoooboboooobobooooobobogo
gbodbobbbuooobbbuoooobobbbuoooobbbbooooon
gbooooogon



40 D00D0000000000000000000

Distortion Guitar
Drawbar Organ
Overdriven Guitar
Reed Organ
16UpBeat1

Synth Voice

Bright Acoustic Piano
UpBeat4

Tenor Sax

Guitar Harmonics
Slap Bass2
Lead8(Bass+Lead)
16UpBeat8

String Ensemble 2
Electric Guitar(Jazz)
Accoustic Bass

Alto Sax

Electric Piano1
Trumpet

Fretless Bass

-12

046 0000000010000 0O0ODOOODOODOOODOO0

-10

-8

-6

-4

-2

0

8

10
7



40 D00D0000000000000000000

Lead2(Sawtooth)
Lead8(Bass+Lead)
Synth Voice

Synth Bass2
Acoustic Bass
16UpBeat7

UpBeat2
DownBeat?2

Choir Aahs

FX 5(Brightness)
Trumpet

Fretless Bass
16UpBeat8

Slap Bass1

Electric Grand Piano
Electric Bass(Pick)
Electric Guitar(Muted)
Guitar Fret Noise
Lead 6(Voice)

Distortion Guitar

4700000000 2000000000000000000



40 D00D0000000000000000000

Acoustic Grand Piano
Rock Organ

Electric Guitar(Jazz)
Acoustic Bass

Synth Bass2

Lead 5(Charang)
Electric Piano1

Pad 1(New Age)
String Ensemble 1
16UpBeat3

Synth Brass 1

Guitar Harmonics
Bright Acoustic Piano
DownBeat3

Synth Voice

Electric Bass(Pick)
Fretless Bass

Choir Aahs

Distortion Guitar

Overdriven Guitar

-10

15

048 0000000030000 000b0bO0bDO0bDOo0DOn




40 D00D0000000000000000000

DownBeat2

UpBeat4

Lead 2(Sawtooth)
Choir Aahs

Bassoon

Trumpet

Guitar Fret Noise
16UpBeat8

Lead 1(Square)

Synth Voice

Soprano Sax

Electric Grand Piano
16UpBeat3
16UpBeat2
16UpBeat4

Fretless Bass
Distortion Guitar
Acoustic Guitar(Steel)
Electric Guitar(Muted)

UpBeat1

-8 -6 -4 -2 0 2 4 6
BH

049 000000004000000000000D0O00D0OO0



40 D00D0000000000000000000

UpBeat4
DownBeat2
UpBeat3

Choir Aahs

Electric Bass(Finger)
Distorition Guitar
DownBeat3

Electric Bass(Pick)
Pad 1(New Age)
Lead 6(Voice)
Accodion

String Ensemble 1
Overdriven Guitar
Rock Organ

Electric Guitar(Jazz)
Fretless Bass
DownBeat1

Alto Sax

UpBeat2

DownBeat4

gH -2 -10 0 10 20 30

0 410 Jobgoobogosuoobuoobobboboobooobg



45

5]
Jogobobobooboboboodd

5.1 O0OOO

gbhobogbudgbooobobooubugbobooboobooboon
gbbbuooobbbdoodobobboooobbboooobbboooon
gbobbouoogobobboooobobuoogobobbouoonoon

5.2 UU0bU0OUbOUbUbUOobOouboUubOoboobon
Joogd

Dbooboobooboobooboobo
ood

e 94000 000O0DLO0ODOODODOODOODLOODLOODO 30

gogbbobooobbbuolgobbbuoodobbs3aodgsiipggbbo 200
Joodobmogsgoooobooboboosbbooooooobooboooon
gboggbodgbobobboobbuoob ocoboogbobboooobon
googbooob3bligobogsuuboooboboobooboboonbon
gbbbooobobbbooogbbbuoooobbbuooobbbooogn

5.3 U0

gbhooboobooobooboobobnysboonoonbuoonbognog4
gbouodgbobogboboobbooboobbdobuooobbo2000800O
gooboooobbboooobbbooooboobooooobooon

e 00D ODODODODDLODODOODLUDM4DD3D6DODODOO
gbo400vio0ogooooooa



ol 000000000oooodnl

46

EELG

|

H g | X2

v

FTRGFRBREICEDSILYARY

J” | x8[=]

v
..

i 1E DT :
’T

Hi

tenpo=90 [bpm]
ITIREERE 15008

U s51: 00000

e DU ODLUODODLODLDODDLOODDLOODLOODLOODO

Doobooboobod

5.3.1 OUOOOOOOOO

gogbobobooogbboboooobbobuoooobobbooobobobogo
oboboboobooboo4b0ob40b000000DOtDOO0ODODODO
000000000000 0oooogsSpS)booo4000000000O
000000000022 =2306,p<.05000000000000OO0OO
gbobuogoobbboogoobbooooboboboooobboboooon



ol 000000000oooodnl 47

5.3.2 UUUOUOUOOOOLOObUOOOOO

gobooobobooobboooboboooobogsbuoy4oboonobDOoo
gobbobboodgoodg sguoooobbooboboootdoooonon
goo

Ooooags20ds60000

e 000D shOt(46) = 3.700,p < .010

e JO0DDDOO SD(sh)dt(46) = 1.981,p < .100

e DDOOODOD EO46) =2.796,p < .010

e I0DO0DDOODODO SD(S)Dt(46) = 2.490,p < .050

e 0D OOO TO(46) = 2.302,p < .050

gbbooodgbbbuoooobbooodan
gbobooboogbougoobbbooobobobooooboboooobn

e OUOOODLODOOOODLDDOO
e JOUUOOOODLDOOOODLDODO

e OUUOOOOLODLDOOOODLDOD
goobodgd

54 SUO0O00O0O

ggbbobuooogbbbuoooobbbuoooobbbooobbbooo
gboobuooooboboooobon

goggobbbs3sbbbbbuooolgooobbobboooo 2000
gboboboboooggobobbougogsggobobboooo1ooon
gbbboogbobog8buouogbbobuooaobbodn

gbobbooooobbbuoooobbbooogosuboon

e OUOOODLODOOUOODLDDOO
e OUUOOOOLODLDOOOODLDOD

e OUUOOOODLDOOOODLDODO

goobodgd
gbooboobuooooobobuoooobboboooobobbbuooon
gooboooooobod



s 000000000000000 48

HoREL HrHY

Us2.000000000bbo0ooobobosgd

Rl HrHY

gs3: 0bgbbobuobobobboboobogttgd



s 000000000000000 49

0.8
0.7
0.6
0.5
E 0.4
0.3
0.2

0.1

R ZrdHY

Us4 000000000000O00DOO0ODO0ODOtDOO

[%] 20

SD(S)

#oRiaL #RbHY

gss: 0bgboobgobobobobbobboobootton



s 000000000000000

50

0.060

0.050

0.040

0.030

—|

0.020

0.010

0.000

HURTEL #rdY

g s6:0b00b0bgobobboboobodsgd



o1

6]

Jogoobobbooobobooddd
L] [

6.1 OOOO

yjddodddoodoooooboooodoooooooobooLooogya
gbooboooobbobooooboboooooo

0000000000000000000000 400000000000
gobobooobobboodgoooobboboobobboodgoooooobobon 3
gbbbuogobbbduodgbbbuoooobbboooobbboooob
gbobobuoooobbbodogoobbboooboboboooobbboooon
gbbobobbooogoobbbobbouooooosobbbbouoogon
googobugbbodgbgboguoobooboooboobbuoobbod
gbbbuoooobbbdodgbobbboooobbboooobbboooon
gbobobuoooobbbugoobbbooooboboboooobboboooon
oboobooboboobooboobooboobooboobooboo 3o
gboboboooobbboooobboboogobbbuoooon

6.2 U0O0OOOO0OOOOOOOONO

6.2.1 0OU

ggbobobuoooobbobuoooobobbuoooobbboooobbbooo
goooogooood



60 000000000000000000

52

6.2.2 0UJUO0OOOOOO

0610000000000 DOO0OOO0ODOOOOOOODCCDOOOOO
doooooooooooboooo3boonooonoooooooooon
0000000000000000000000[B4] 000000000000
00000 15sps(samples per second) D00 O0O00O000O0O0OODO400000
000o0o0oooooooooooooodietsps0 0000000 0on
dooooooooooad

gooooooooodonooooooooooodoooooooooon
doooooooooooobooooooooooobooboooooooon
gobooooooon

000000000000 0090BPMI Beats Per Minute[11120BPMI180BPM
030000000000 00000000000000000O000O00O00000
doooooobooooooooooooooobogoooonooooil2oood
gooooooooooooooonoooooooogbooooooon
0o0ooooobooooooooooooo 120000000000 oo0oon
0o0o300000o0noooouooioonoono3doouooonoon
dooooyuoooooooouooboonoooonoooooooooon
Jooooodooooobooooooodooboooooooooon
00000000000 ChbOOo0oooooooDooooooooDoooooon
Joooodoooooooooodoooobdloonno 8o soon
doboooooooooooooooooo 4000oooi1oooogao

6.2.3 0OO0OOOO

ggobobooooboboboooon

—

1
f(t),t =0,At, 2At, ..., 120At sec, At = 60 5°¢

00000300000000000000006200630000000000
0000000000000000000000000000000000000
0000000000 (a)0(d)40000000000000000()0000
0000000000000000000000000(h)0000000000
00000000000000000(O000000000000000000
00000000000(O000000000000000O000O



60 000000000000000000

93

Windows
PC

hd

WERE

i

FrI L

Y TFILIR—

CCDA A4S

E—3r
FrYTFrtEY

0610000



60 000000000000000000

600

500

400

S FiEh T

[mm]

300

200

100

980

1000 1020 1040 1060

(000000

1080

1100 1120 1140

BF% [1/60sec]

600

500

Rt Tt H

g8 400
=~

[mm]

300

200

100

0
960

| | | |
980 1000 1020 1040 1060

(byoooo

|
1080

| | |
1100 1120 1140

B¥% [1/60sec]

Ue62000000000-1



60 000000000000000000 95

600

500 b

400 b

H ek T 1

(]

300 b

200 b

100 b

0 | | | | | | | | | |
1000 1020 1040 1060 1080 1100 1120 1140 1160 1180

B5%l|[1/60sec]
(c)00D0000

600

300

200

100 b

0 | | | | | | | | |
960 980 1000 1020 1040 1060 1080 1100 1120 1140

BF%I[1/60sec]
(d)oooo

ge63:000000000-2



60 000000000000000000 o6

6.24 0UU0OOOOOOOOOOO

0004000000000000000C0000DOODO0O0OO0OD ()00
gbooboboogobbobooo@muoooobboooobbbooobb™mon
O00000O000000o0ooooooooOoooDoooooooooOog (b)d(e)
googbobodbogudbooobuoobboobooobuoobbooon
000000000000000000000000000 (d))oboooooo
gbooboooobbboooobbboooooboboooobboboooon
gbbobuoooobbbuoobobbboooobobboooobbboooon
OO000b0o0O0o00O0ooO0obO0ob0obOooboooDooDoDOmfObObDOOO
gbbobuoobobbbouoobobboooobbboooobbboooon
gboobooooooboooobbooogn

gbobooogbbbooogbbbuooobbbooobbboooon
gbooboooobbboooobboooobooboooonoon

gbooboogobbod

e HOUOUOOOLODLDOUOOODLDODDOUOOOD
o IO

e JUUULUOLOLODODODO
g30b0buogggoboboooobobobooogn

6.3 UUogong

6.3.1 0O0O0OO0OOO

gogoboboooobooboooobobobuoooobobboooobobobooo
gbbobuoobobbbouooobbboooobbboooobbboooon
gboobooooobobooooobbiliobbooooobobobbooooon
gbbobuoogobbbouooobobboooobboboooobbon

gogoboboogobbboooobbooo

gogoboboogoooo

1.»-1000000000¢ 0000

60
tempo

[ +(1 —Oé) X

< t[sec]
60

< t,.— 1 X
1+ (1+a) tempo




60 000000000000000000

064 0000000000

(tempo = 90, 120, 180[bpm| o = 0.4)
doddddotoo00bobobb0Ot, 00oooog

2. 0000¢«0booooobobooogooboobsuuunbon

6.3.2 0UO0OOOOOO

gbobobooooboboboboboooboobobuooobe4bO
ooooboobooobooob g, 0b000bgoonog

- _,/2
f(t) = f{t)| dt

— —

a1 [tn
Dn tn—1

E, =

2
dt

1 (tn
D.

n Jtn—1

—

000 f)000000000000000000D,0»n000000000
D,=t,—t,,0f,0n0000000000000000f, =4 [ f(t)dt
0000

000¢ =ty obst +t, /521 0000¢,.0t,,04, 0000000000
0000000000000 E,0000000000000000000000
000000000000000000000000000000000000
0000000000000000000 EOOOOOO SD(E)D0OO0OO
00000



60 000000000000000000

o8

A
psd(f)

" f
065 0000000000000000

6.3.3 UUOOUOOLOOooObooo

0000000000000000000000000000000000
0000000000000 00000000000000 30000000
0000000000000000000000 psd(f)0000000000
P, P, .., Py00000065M0000000000001H]0000000
0 AP, AP,,...,AP,O00000AP,(n=1,2,..,10) 000000000000

AP, / psd(f)df
f

n—0.5[Hz]

000 &%, 4%,.,232090000000000000000000000

gboboobuodboobo2b40bogbogbooboboobuooboo
gbooboogg




60 000000000000000000 29

f (t)

» t[sec]

tﬂ
THR

0 6.6: 00 RMSOODOODO

6.3.4 00O RMSO

000 RMSO Root Mean Squared20 00000000000 3000000
0000000000000 00000 0.1[Hz] O HPF(High Pass Filter) D 00O O
Dobobobg20b000000000000000O00O0OO0OO0O0O0O0ORDO
OO000D00ORMSO R, O0000OO0ODOODODOO

1 tn
=4/ = 2 =1,2. ...
R, \/Tn / F2(0)dt, n =12,

OO0 RMSOODOOOOOODOODODODOOOOODODODOOODOODOOObOOO
DO00D0DOO0OORMSOOOOD ROODOOO SD(R)ODDOOOOOOODOO

6.4 tUO0OOOONO

0000000000000000000000000 32,88, ... 2%, E,SD(E), R, SD(R)
0000000000000 0000000000+t00000000¢000 3
0000000000000 00000000000000000000000

gbooboooobbboooobbboooooobod

6.4.1 90bpmOI OO0 tO0O

oboob0o 400 9bpmO bbb obOobObObODbODODOD
g0 ob4000000onbobbbbbooooobbobobbboooooonon



60 000000000000000000

0t00000000000004200000000000000000000
00000000¢38) =-3.352,p<0.01M0000000000000000
0000000000000000000000000000000 20000
00000000000000000000000

O0O0R,SD(R) 000000000000 0000000000000000
0 RO #(38) = 3.649,p < 0.010 SD(R)O £(38) = 3.447,p < 0.010 0000000
000000000000000000000000000000000000
000000000000000000000000000000000000
00000000000000000000000670000000000 6.8C
00000000 6700000000000000000sin00000000
000000068000000000000002000000000000
00000000000000000

6.4.2 120bpmO 000 t0OO

00000000000 1400 120bpm00000000000000000
0000040000000000000000000000000000000
0t000000000000042000000000000000000000
0000000¢38)=2.112,p<0.050000000000000000000
0000000000003000000000000000000000000
0000000FE,SD(E),R,SD(R)00000000000000000000
00000O0000EDH38) =2.749,p < 0.010 SD(E)Jt(38) = 2.029, p < 0.100
ROt(38) = 3.182, p < 0.010 SD(R)O#(38) = 4.306,p < 0.01000 0 0 0 0 120bpm
000000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
00000000000000000000000000000000000 6.9
00000000610000000006900000000000000000
3000000000000000000000000006.100000000
000000000000000000000000000

6.4.3 180bpmI 000 tO0

OO0 000bo0oboboobD 400 18obpmOb00gooooooooon
Doboobbo42000b00boobooboboooboobooboon



60 000000000000000000 61

600 b

5001

STl [t ok

3

7.

~_ 400f
[mm]

3001

2001

100 b

O | | | | | | | | | |
1020 1040 1060 1080 1100 1120 1140 1160 1180 1200

5%l [1/60sec]

067 90bpmd000000O00O0OO0O0OOO0ODOOODOO

600 b

500 b

et Tk [

Ji

400+ B
[mm]
300+ B

200~ b

100+ b

0 | | | | | | | | | | |
1020 1040 1060 1080 1100 1120 1140 1160 1180 1200 1220

B¥%I|[1/60sec]

068 90bpmO00000000OO00OO0OO0OOOODOO



60 000000000000000000

3001 b

2001 b

100+ b

0 L L L L L L L L
840 860 880 900 920 940 960 980

Bl [1/60sec]

069 120bpmUO0000000OO00OO0ODOODOOOOODOO

600 - b

500 b

[ M/\M

3001 b

it Tt

200 b

100+ b

0 L L L L L L L L
820 840 860 880 900 920 940 960

%I [1/60sec]

0 6.10: 120bpm 00000000 0OO0OOOOOOOODOO



60 000000000000000000 63

3001 b

2001 b

100+ b

L L L L L L L L L L L
630 640 650 660 670 680 690 700 710 720 730

Bl [1/60sec]

O 6.11: 1I0bpm OO0 O0DO0ODOOO0OOOOODOODOODODOOO

600 b

500 b

I NN NN

T _ 400t g
[mm]

Ft Tt

300 b

2001 b

100 b

0 | | | | | | | | | |
590 600 610 620 630 640 650 660 670 680

Bzl [1/60sec]

0 6.12: 1I0bpm OO0 O0O00DOODOOO0OOOOOOODOODOO



60 000000000000000000

64

0 61: 000000 -90bpm

goboog
0000000 O] ggoo (oob |00
ggoonb obOood 28 2 30
goo 2 8 10

90.0% 000000

06200000000 -90bpm

oonO 00
AP
|2

Py
AP 2.950
R 0.830

000t0000000000000000000000000000000000
0000000000000000000000000000000000000
0000000000000R,SD(R)0000000000000000000
000000000 RI(40) = 4.039,p < 0.0010SD(R)I#(40) = 3.537,p < 0.010
0000018bpm 0000000000000 000D0O0000O0O00000
000000000000000000000000000000000000
000000000000000000000000000 61100 6.12

6.5 UUOOgoooon

6.5.1 90bpmUU000O0OO0ONO

000t0000000000000000000000000000000

000000000000000000000000000000000200
000000000000000000000000000000000000
0000D0000009%bpmO000000000000000 22 42R03
0000000000009% 00000000000 61006200000
D009bpmO00000000000000000000000000000
AR AR ROOO000D00000D0D000D000D000000000000
00000000




60 000000000000000000

65

063 000000 -120bpm

goboog
0000000 O] ggoo (oob |00
ggoonb obOood 29 1 30
goo 1 9 10

95.0% 000000

064 00000000 - 120bpm

ooo | oo
S ]-2.389
2E | 4170
F | -2516
&% | 1170

SD(R) | 0.916

6.5.2 120bpmUOI00000O0OO

0D000120bpm000000000000000000O0O0O00000000
0000120pmO0000000000000000 £52,28,25 2% SD(R) 0
40000000000009%.0%000000000006.3006.4)0000
0000120pm0000000000000000C0O00000000000C
A A As,SD(R) 0000000000000 000000000000
0000000000000000064000000000000000%%0
A 000000000000000000000000000000%R0 25
000000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
000000000 SD(RO000000000000000000000000

gooboooobbbooooboon




60 000000000000000000

66

O 6.5: 000000 - 180bpm

goboog
0000000 O] ggoo (oob |00
ggoonb obOood 24 6 30
goo 3 9 12

78.6% 000000

0 66: 00000000 - 180bpm

000 [ 00
AP:
A 0947
R |1131

6.5.3 180bpmUI OO0 0OOONO

W8obpm OO OO0 OODOODOO0OOOOOOO0OOOOOOOOODOOODO
180bpm OO O000OO0O0ODODOOOOODOO Q—Q,RD 2000000000000
786% 00000000000 6500 6.6)0

ggbobbbog2oggobbbuooooboboboboooobbobobogo
gboobooooobbbooooboboboooooboobbobboooon

gboooooboboboooobbobdan

6.6 UOUOUOOOOooooon

gogbboboooobbobuoooobbbuoooobobbooobbobogo
OO0b0o0ooboobooboobooboobbooooon 6.130 90bpm OO0
gbobuoooobbbouooobbooooboboboooobboboooon
OO0 WardOODOOODODOOOOOODOOOODOOOOODOOOODOOODOO
gbboboogogbosbbobouooobbobboooobboboooaon
Dbooboboooboboobobbde40obbooooboboboboon
gboobooogbobbbooooobobobooooobbbuogyboooon
Doodbel0000000000000O0OO0O010D000O000S00000¢0
gbobuoooobbbouooobbbooooboboboooobbboooon
oboboboobbobboobooboboobobbobobobbobbobn



60 000000000000000000

gboobooooobbboooooooboboobboooobbobboooon
gboboooogobbooon
gobogeldbbogboboooboboogbbuooobboobbooon
gboboobbooooobbboooobobbbuoooobboboooaon
gboobooooboobbbuoooobobbooooooon

6.7 eLULIUO

sboubobuobbbibdoooobooooooobobbboooaoobon
gbooboooooboobbbooooobobbuoooobbbbuoooon
DoOobodbenbbObLOODOO

(1) 0000000000000 U0D000OOODODOOO0DODO0DODOODOOO
goobooogoobboooon

(2) D00O0DO0DO0DO0DO0DOOOOOOOOOOOO0MOCOOOOOOODmOoOOoOO
Ooo0oo0oooOoooRrRMSOOD30DOO0O0OoOOoOoDOOOo

(3) 0000000000000 U00UDDOOODODOODODODUODODUOODOOO
gboobodgtsobobugobbobuogob3goubbboogbooan
gboboobooodgobbbooodobbbooodobn

(4) 0000000000000 0UDO00OODOOOODOOOOODODOODODOOO
oo oooooodooooooooogoo
00000030000000000090.0%095.0%078.6%000000
gooo

() 00 ODODODODODODODODODODOOODOOOODOODODOOOOOOSOD0O00
Doboobobbobobobobobobobobobobobobob
0oo

00000 3)000000000o00000o0oooooooooooooon
gbbboooobobbboooobbboooouooobbbbooodaob
gbmgbobbodbooimogoogobboboobooobuooboms
gboobobboboboobooboo@moobooboobooboobon
gbooboogoon

0000 (4)0000000000000000000O0OOoOOoOODOOO
gbobooogbbbuooobbbuoootgoboboooobboooon
oboboobooboobooboobobobobooboobooboon
gbbobuoooobbobouobuoooobbbooonobbboooobbobog



60 000000000000000000

CASE Rascaled Distance Cluster Combine
0 9 10
Label Num 4 - -4 - -4 -=---—]---]-

10_2 5 A1 )

10_3 6 -

10_1 4 g,

2.3 9 A = _

0 2 :—: > 95258 —1D
2_2 8 11 I

7.2 23 4+

8_1 25 4 |

6_2 20 N i

6_3 21 H I ~\ I

1_3 3 =+ 1 I

6_1 19 J 1 !

pro2_1 34 1 | '

prod 1 40 I :

pro2_2 35 4l _

pro2 3 36 -+ > 7:7X9 _®

9 1 28 A |

9 2 29 :

7_1 22 4 I

9.3 30 - - ,
1.1 1 - ! |
2 1 7 - J | |
pro3_2 38 A N I I
pro3_3 39 1 | I
4_1 13 - : |
pro3_1 37 - : I
prol_2 32 i L I
prol_3 33 -+ >- Do RI—3 !
4_2 14 4! | | :
4.3 15 -+ | : :
51 16 - I | |
8_2 26 - N I ,
5_3 18 - v :
52 17 4 4|~ |
55 27 T L oss528-@
1.2 2 = — |
prol_1 31 — I
3_1 10 T— 7 5 z 9 —@ I
3.2 11 - [ } '
3_3 12 ——

0 6.13: 90bpm 000000000 OOOO0O



60 000000000000000000

69

25258 —1 > TREERE

L |
uRIBERE
|
=

/ d" 773;%!—@ Wﬂﬂmuiﬁﬁﬁ

( // ITERRRE
© o ’
/ A RIZERE
0.2 04 0.6 0.8 1
Alip, B3 AI:)4
= AP,

0 6.15: 90bpm 00O 00OOCOOOO-(2)

1.2



60 000000000000000000

70

0000000 (2)000000000000000000oooOO
gboboooobobbooogbbbuoooobbbooobbboooon
gboooboogooood



71

70

Jooobobbobooboboodddd
Jooobobood

7.1 0OUOon

gbbooodbbbtoooobbbuooobobbbooobbboooob
gbobobuogoobbbdoooobbboooboobooooboboboooon
OOoOobRMSOOOOOOOOOOOOOOOOODOOoOO40000000O
gbobobuogoobbobugoobbboooooboboooobboboooon
gbbbuogobbbduodgbobbboooobbboooobbbooaon
gbooboooobtogoobbbuooooboboooobobbooogn

gbuogbodgbobboobobbobuoobobuoobobooboboobo
OO00ooobooobob RMSOOOODOOOOODOOODOOODODOODO
gbooboooobbod

7.2 OJO0OO0OO0OO0OO0OO0OO0O00O0O0
721 00U

gbooboooobooobbbuoooobbobooooobbbuoooon
gbbbuoooobbbouoobobboooobbboooobbboooon
gboobogoobbboooobobbooooboboboooobboboooon
gooo

gobobooooobboogoboboboooobobbuoobbboooon
gboboooobood

gobobooooobboogoboboboooobobbuoobbboooon
gbbobuooobbbdoogbobboooobbboooobbboooon
gbobobuogoobbbougoobbbooooboobooooboboboooon



0 00000o00oo0ooooooonooonooogoon

72

gboobogoobbboooobobbooooboboooobboboooon
goo

722 UU0O0O0OO0OO0OOOO

O7i0b00000000b0000b00b00b0b0b0b0ob0ooboboooon
DooboboobobooooboboboboMIDIDODOoDOoDOoMIDIOD
ODoO0O00boooO0oooooo0oooooobooooooboooooogoooeebd
oobobodbooboobgooboobobbooboobooboobooo
obO3gboobboobboobboobboobobobobobbobbobbobn
0000000 1/60[sec) 0000000 ODODOOOOOOOOODODODOO

OOoo0ooooooooooooooooooo MIDIDODODODODO
Dohoboobooobuooboobooboboon

goog

OS Windows2000 Professional

OO0O0O0DO0DO0O00 Visual C++ 6.0 Standard Edition

MIDIO O YAMAHA Drum Trigger Module DTXPRESS

MIDIOOODOOO YAMAHA CBX-Driver V2.00 for Windows XP /2000/NT4.0
0000odoooooobon KRI DigitEye3D

gbooooogobobooan

bobobooboobgooboobobbobooboobooboobob
gboboboobooboobobboi1izougbuogbaooooboboon
Dobooooobobobobobobobooobobobobobobob
gbobooobooil120b0000goboobogoogobo3sbbbbouoooaon
OOobO0boooooboboboboboobobooboobOobo9oBPMO Beats
Per Minutes[1] 120BPMO 180BPM O 30 000000000000 OODODOO
gooogoo4l,e3, 1170 3bgboboogoooui2rbogooogn
gboobodbb3x3=00900000bbu00bobouoobbuooonbod

gooo
1. 90bpm Velocity=41 00000000000

2. 90bpm Velocity=63



0 00000o00oo0ooooooonooonooogoon

73

(FSHILES L
U/llDl%iJﬁ
ST

A=k wBE EFFSL

e ;
‘7_
N o
Wiggows 2 P—h—
N\
V)T _
AR— CCDAA S

E—v3av
Iy TFrtEY

0710000




0 00000o00oo0ooooooonooonooogoon 74

3. 90bpm Velocity=117
4. 120bpm Velocity=41
5. 120bpm Velocity=63
6. 120bpm Velocity=117
7. 180bpm Velocity=41
8. 180bpm Velocity=63

9. 180bpm Velocity=117

gboboboboooggilggoboobooooobbooobosbbuooooobn
DoooooboobobobobobliobogubOosuobobooooooon
Doobodboooboo400b0o0oboboobo

7.2.3 00000
00000000000030000000 7.2.300
e 00DOOD {f(t)}, t =0,At,2At,...,120 sec, At = & sec
e 000000 {t,ts,...}

e 100D DDODOODODOOODOO{W,V,, ...}

7.3 4Uud

gbogbuodbgbodgbooboobobogbouboobuooobobooobon
00000000000000000000000000000000,2001[53]0
gbooboooaon

73.1 OJU0UOuUuoboooooogd

0000000000000000000000 {t,te,...} 00000000
gooboooooboboboooobobobooooobbobboooouooon
gbbobuoooobbbugobobboooobbboooobbboooon
gboooooon

gbobooogbobbooogbbbuoooobbbooobbboooon
0, 2001 0doooogod



0 00000o00oo0ooooooonooonooogoon 75

FEEES f (1)

S
s
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
$
S

&
&

FTHA
E 5 E t
TR L, t 4 t. [sec]
ANOYT A
GTROH &) n-2 Vi vV,

0720000000

0000000000 {t,t,..} 0000000000000 v()0
000000000

60
ti—tioq

l/(tz) = 222,3,

00000000 {»}0000000n+100000 {&1, 22, ..., Tnp1}
0000 (073)0000%,,0000000-0000 20000
0 2000002, 0 00 [—c¢s,Z4c¢s] (¢>0)00000000
1,4, 0000000000000000 {2} 0000000

gbobobobooggd2b0bbboodoooobbibbe=3,n=10000
0000000000000 0000000000 0oooooooooo

74 000000

0000000000000 f(t).{t,t,..}.{Vi,Vs,..} 00000000 40
00000000000

e OO UOOOODG3.200
e O RMSOOG6.3400

e JOOOD



0 00000o00oo0ooooooonooonooogoon 76

X4 Xn o Knn
o [+]
Q o Q o @ o
E o o o
) o
2 . !

nf# 118
Time

073 000000000000B3j00000

e JOUUOOODOOOOO

0000000000 RMSOOO0OO0OO0O0O0O0O0OO06.32006.34000000
0000000000000 0D0D0D0D0D0D0DOODOOODOD 20000000000
000000 E,SD(E),R,SD(R) 00000

00000000000000000000000000000 f() 0000
00000000000

e JOO0OOODOODODODIDUODO y=ar+b000 a,b

gbboboogobbbbouoogbbbbouooobb1bbbuooon
gboooooon

7.4.1 0O0O0O0OO

Joooooooooodooooonooooooonoooooooooogn
0000 ty9,t,1,t, 0 0000000000000 7,00000000 7.2.3C
ﬂ:K%_%A%%%A_%an:&QW

(tn_tnf2)/2
00000000000020000000000007T000000 SD(T)
doooooooood

7.4.2 0O0O0O0OO

00000000000000000000000D0000000OO0OvVoOOO
000 SD(V)ooooooooooo



0 00000o00oo0ooooooonooonooogoon 77

743 UOJU0U0UOoboUoooooobi100on

gbobooogbobboooobbbuooobobbbooobbboooon
Opsd0 000 10000y=af+0000 «b000000000000OOOOO
633000000000 oo0bobuooobbuonoboboobboobobo
gb1o0o00gdaoon

b 1o0buoogobbbuoooobbboooon

psd00 01000000000

1. 0000000000000000 {f(1)}00000psd00 {f, psd(f)}(0 <
f<30)0000

[\

.psd0000< f<8HZ 0000010000 y=aof+b0000

w

cy=af+00000y=0000 f = flyyiHA 000D

N

.psd0000< f< fiit(HA 0000000000 y=af+b0000

5. 00O e O0OOO

00000 740000000 9bpm]|000000000O0OOOOO N.U
gboobbogoobbboogoobbboooboboboooobboboooon
gbboboooobobbbouoooobbboooouooobbbboooon
ooooobodobobooboboobboobobuooboboobog e
gbobouoogobbooogbon

7.5 OO
7.5.1 OO0OOod+sdnd

D00D0D0D0D0D000 E,SD(E),R,SD(R),T,
SD(T),V,SD(V),00 b 000000000000000000D0D0O000 t0
D0000000000O0R,SD(R),T, SD(V),00 000000000 1%0
000000000000000 7500 7100000

O00000ROOOO0OODODOOOOOODOOOOOOOODOOOOOOO
OD0D00000¢#(124) =3.331,p < 0.01[0SD(R) 000000000 ODODOOO
D000000D000000000000000¢#(124) =3.349,p < 0.010 00
000000000007 O000000000000000000000000
0#(124) = 4.087,p < 0.0010 0 0000000000000 SD(V)OODOOO



0 00000o00oo0ooooooonooonooogoon 78

o | B
L./ |y=af+b
:b \u\‘h
5 i |
D ' i ‘,‘l“
QS or | g
>
S 2
.
al
8 0 F; |:' _1‘0 1‘5 2‘0 2‘5 30
™ % [Ha]

O 74 psd00O0 10000

000000000000 0000000000000¢#(124) = 3.336,p < 0.0117
OD0ec000b0000bO0obO0b0oobobobobooboobobobbon
O00000000000¢t(124) = -2.934,p < 0.01000 0000 yOODOODO
O000000000000000000000000¢(124) =4.736,p < 0.00111
Doobooobbobobooboobooboobon

Dooboobooboobon

gbooooodgooboobod

goboooggoboboooogoon

gboboooobobod

gbouodgboobobodbogbboooboobbobobobuooboo
0ooo

DoOobooboobooboon

7.5.2 JUUOOOOOOoOOULOObLUoOoOo

gbooobobooboboooobobbbuooobbobooogbobbboooon
gboobogoobbboooobobboooooboboooobboboooon



0 O0O0o000000000oo0oooooooooogn

79

120

100

[mm] 60

40

20

ITRBRIRERE ITRBERE
0..0000 1%

O75 000000000000000O00RMSOOOOtOO

16
14

SD(R) 12
[mm] 10
8

6

ITRBREBRE ITRBRBRE
0..0000 1%

Ov76: 0000000000 0O0O0OOOORMSOOOODOtOO



0 O0O0o000000000oo0oooooooooogn

80

0.045
0.040
0.035
0.030
0.025
0.020
0.015
0.010
0.005

—|

TRBRIERE ITHRRRBRE
0..0000 1%

O 70000000000 00DO0O0DO0ODbOODbOODtOD

SD(V)

ITRBREBRE ITRBERE
0...0000 1%

078 0000000000000 00DO0O0DbOODOODbDDtOO



0 O0O0o000000000oo0oooooooooogn

81

~045
~040
-035
-030
{%%qa 02
~020
-0.15
-0.10

-0.05

o

ITRBRERE TRBRBRE
O0...0000 1%

79 0b000bdoobobbOobboobo0oboongdaa

%%b

ITRBRRBRE ITRBERE
0...0000 1%

O710: 00000000 0DOO0bOO0bOoboooooogoods



0 00000o00oo0ooooooonooonooogoon

82

7000000000000 b0o0boon

ooo ooon ooo
oguoo oo |(goog od
R *% * _ *k ok
SD(R) * * . Kk ok
vV _ sokok _ $okk
SD(V) _ Kxk . Kk ok
KKk Kxk . -
b Kk ok Kkk K% Kk

*0O000p<.05
#0000 p < .01
w0000 p < .001
_0O0ooO0p>.1

gbbbuoodobobbbooodgbbbboooobbboooobbboooob
gboobuoooobbbougoobbooooboboboooobboboooon
gboboooobbod

00000700000000 FODODOO0O711000000000000
DoOoboobooboode4b00DODDOODOG2Z7TODDO0OO0ODO0OD
DoosM40bibonooobdyp< 0l000@dobobooboboobon
gbbobuooobobbbodoodgbbboooobbboooobbboooob
gboobbuoooobbboogoobobboooobooboooobbboooon
gbobooodobobboooobbn

7.5.3 U00O0O0OO0O0Uboboboooboobooooboooood
HEN

7510 000000R,SD(R),SD(V),e,b000000000000D0OOOO
000000000000000000000000000000000000
000000000000000000000000000000000000
00000000000000000000030000000000 3000
D00000O0RSD(R),V,SD(V),eb0000000000000O0OO

07100000000000000000000000000O00DO0O00O000
0000000000000000000000000 RMSOOO0O000000



0 00000000000000000000000000d

33

U 72.00000000000000

FEHFD BEE FYES F & B
mean R = T8l | 13180868 2 6500 434 4005 020
TN |140001.058 g7 | 1609.208
=511 153181926 29
soiRy TI-TTE 178507 2 80,454 4505 014
TP | 172741 87 19.856
=Ei8 1806.379 a0
mean¥  ZN—TTE | 71218485 2 | 35600.243 414548 000
=77 7473.215 87 85800
=3 78691701 )
sovy AT 322182 2 161.091 16.993 000
S N-7 824752 g7 9.480
=8 1146934 g
a =T 133 2 | 6631E-02 14,463 000
=T 369 87 | 4585E-03
&t 532 )
b =Tl 3271 2 1636 2643 000
=77 16,4665 87 180
£ 19.737 )
Tukey HSD
Tt 954 {SEARE
SEREH (D VELOCITY W WELDCITY | Eq- | EESEE | 5ENE TR LBR
mean_R 41 63 448555513 10357830 o002 -2021211 29183224
17 —-23.13346 10357630 071 -47.83112 (156421237
63 L -4.439555 10357830 802 -28.18322 20212113
117 -27.61901% | 10357630 023 -52.31668 2821343
117 L 23133456 10357830 071 -1564212 47 831124
lix] 27T619011% | 10357630 025 |282134277 92 316680
SDIRY 41 63 —1.850885 [1.15053584 213 -4 694328 79255510
117 -3.443419+ [1.15033584 010 | -6.186360 |-69887707
63 41 185088640 (115053584 213 [-79255510 |468432790
117 —-1.482532 [1.15033584 401 -4.2395974 (125080833
17 41 344341657+ |1 15053584 oo G98B7707 618686006
2 149253217 [1.15033584 401 —-1.200908 (423597366
mean_V 41 a3 —2086402+ (2 39303186 000 | -2667018 -1625766
117 —67.32600+ [2.30303186 000 | -73.03278 -61.62043
63 4 20864023+ [2.39303126 000 15.257362 26670184
117 46362507+ (2.393031268 000 | -52.06873 -4063641
17 41 67 326594+ |2 39303186 000 | 61620433 73032756
63 46362572+ [2.39303186 000 | 40656410 32068733
S0 4 g3 -1.818180% | 79453033 047 -3.8133803 -2.26E-02
117 -4612793+| 79498033 000 | -6.508418 27171170
63 41 1.81817973% [ 79453035 047 | 2.256E-02 |3.31380264
17 -2 684613+ | 79452035 003 -4 580236 [-75856016
17 41 461279280+ | 79453035 000 (2717165888 |6.50841571
g3 2 BBAG1307+ | 75408035 003 TOSHO016 (456023657
a 41 63 -2 58E-02 1.748E-02 308 | 873E-02 1.989E-02
17 —S12E-02% | 1748E-02 000 [-.13288771 -4 85E-02
63 L 2.080E-02 1.748E-02 308 | -1588E-02 6.749E-02
117 —G G4E-02% | 1 748E-02 001 |- 10708844 | -2 37E-02
"7 4 Q121E-02# | 1.748E-02 000 | 4952E-02 13280771
a3 6541 E-02% | 1 743E-02 001 2370E-02 10706844
b 41 63 —19800087 11232736 188 |-.46593435 6.975E-02
117 - 46520650+ | 11232736 000 [-73313595 |-157453301
63 L 18809087 11232736 188 | -588E-02 48563435
117 - 26720563 1232736 051 |-53504512 6.379E-04
17 41 AGRZO6R0* | 11232736 000 18745301 73313859
it} 26720063 11232738 051 —5.38E-04 03304812

* EHOED 05 TEE



0 00000000000000000000000000d

84

U 74 0000000000000

FEHFD BEE FYES F & B
mean R =7 Ta] | 16974.785 2 2487.303 13.245 000
FN=TF | 21146409 33 §40.200
=511 38121.194 35
=d.R =T 277.388 2 138654 21274 000
=7 215.138 33 £.519
=Ei8 452 5286 35
mean¥ ZN—7T8 | 34151738 2 | 17075.860 407.780 000
=77 1381.882 33 41875
=3 35533.620 35
sd v -7 49.083 2 24,531 13.845 000
N7 58,471 33 1772
=8 107.534 35
a TN-7HE | 8325E-03 2 | 4165E-03 859 433
=T 160 33 | 4849E-03
&t 163 35
b =Tl 4231 2 2116 16,991 000
=77 4108 33 125
£ 2340 35
Tukey HED
QO FHED ) 55% {EFEERE]
TEEIE VELOCITY (D VELOCITY | E (-0 | EiEEE XS TR LR
mean_R 4 [} -8.177533 10334411 711 —33.93609 17.120881
117 —49 60464+ | 10334411 000 | -74586117 | 2424611
83 4 217755258 10334411 1 —17 18088 33536086
117 —41.42708* [ 10334411 001 —66.78062 —16.08853
117 4 49 6046404 | 10334411 000 | 24246107 74863174
83 41.427038+ | 10334411 001 16.063554 66.735621
SDRY 4 B3 —d8440442  |1.04237869 928 | -2842101 217338247
117 —6.071203* |1.04237968 000 | -8628985 —3.013418
63 4 38440442 (1.04237965 G828 | -2173382 (294215130
17 -5.686753+ | 1.04237068 000 | -2244585 —3.125011
117 4 G.07120250+ | 1.04237569 000 (351341362 862898038
a3 3.68679308+ | 1.04237960 000 [3.12801120 |8.24453457
mean_ i 4 63 —20.94740* (2 64131747 000 | -32.42888 —19.46452
17 -7432528+ |2 64181747 000 | -20380776 —7 84280
63 4 259473099+ (2 64181747 000 19464019 32429880
117 —4537788+ |2 64181747 000 | -H4 868036 —41 85540
117 4 74325282+ (264131747 000 | 67.342801 80807763
83 A5 377383* |2 64181747 000 | 41355402 G4 860363
SO0 41 63 -1.418203*| 04342413 033 | -2.791704 | -848E-02
117 —-2.829540+ | H4342413 000 | -4.192992 —-1.526088
53 4 1.41825250* [ 54342413 035 | 8420E-02 (275170434
117 -1 441288+ | 54342413 032 | 2774738 |- 10783574
17 41 2 85954008* | 54342413 000 (152608824 (419259183
63 144128708+ | D4342413 032 | 10783374 |2.774735843
a 4 83 6.827E-03 | 2343E-02 068 | -6.28E-02 | YB3I8E-02
17 —2.83E-02 | 2.843E-02 983 | -B81E-02 | 4145E-02
63 4 —§83E-03 | 2843E-02 080 | -766E-02 | 8283E-02
117 —3.91E-02 | 2.843E-02 441 [-10438088 | 3.4682E-02
117 4 2EME-02 | 23843E-02 585 | -414E-02 | 93806E-02
53 3513E-02 | 2843E-02 441 -3.46E-02 10425023
b 4 B3 — 368032633+ | 14408512 045 [-71380818 | -6.84E-03
17 - 83706558+ | 14403512 000 | -1.150347 |-483558373
63 4 AG032633# | 14405512 045 | 6.844E-03 71380818
17 - 47673925+ | 14403512 006 [-83022110 [-12325740
117 4 83706558+ [ 14405512 000 | 48358373 [1.19034744
63 47673025+ | 14405512 o0g | 12325740 83022110

* FHMED 05 TEE



0 00000o00oo0ooooooonooonooogoon

O000Oe 0000000000000 0DO0ODbODbOObOOOobDoooobon
gbobboogbobbbooogbbbuoooobbbuooobbbooogn
r200v300000000000000 7400 750000000000
OO000D00000000VelocityD OO 41,63, 117000000000000O00O
gboobdgoboobbboobobuodbuoobodbuoobooobobon
gbobobobudbooboboobudbobboboobuoobobbob
00 VOOOODODODO0D0000000000 30000000 Velocity=41,63,1170
00000000000000000000000000000001%0000
gboobooooobobobbbooooobobboooobbobbooooon
Ooboboooboooobooooboooooboooo RrRMSODOOOOOO

e J0UUU &« 0DOOUOU
e J0UUU «0DOOUOU

gbbobuoooobbbuoobobboooobbboooobbboooon
1%000000000000000000000RMSOO00OO ROODOOOO
SD(R)DO0000000D0D0OC0COO0000O0DODOoOoOOUOOoUOoooDoO
OO0000O0o0ooO0oooO0oboOobooobboobooboooooO rRMSOO
ORMSOOOOOOODOODODOOOOOODOODODODOOOOOODbODOn
gboobooooobbboooobbobooooobbbuoddd e
gogbogbbogbbobuooboboobuoobbodbooobuoobbod
gboogobobbooogobbboooooboboboooobobobboooon
gbbobuoooobbbuooobbbuoooon
gogobbobobtodgoggobobuoooobobooooobobogo
gbbbuooobobbbooobbboooobbboooobbboooon
gbobbuogoobbboogoobobbooobobobooooboboboooon
gbbobuoogobbbooobobboooobboboooobbn

754 UU000OO0O0OoOoOoOoOoOobDOO

0000000000000000000R,SD(R),R,SD(V),a,b000000
0000000000000000000000000000000000000
OORMSOOODOO ROOOODOOOOVOOODOOOOO

07120 ROVOOOOOOOOOOOOOOOOOOO0OO0OO0O0O0O0000
000000ROVOOOOOOOOODOOODOOOOOO0OOO0OO0O0OO0OO
002760000000000000000000000565000000000
000000000000000p<.0100000000000O00O0000
00000000000000000000000000000000



0 00000o00oo0ooooooonooonooogoon

36

0.07
ITRBRBRE
0.06 | igRg#R#ir-0.504 | ¥
0.05 : H .
004 : Wy ¢
@ “
T 003 % .
¢ m e
0.02
0.01 | |nxseme ¢ ITRBERERE
: = {REr=0. . .
* AEKE W TERRRE
0 ‘ | | ‘
0 0.2 0.4 0.6 08 ’
0711 BETO000OO

140

120

100

80

N

60

40

20

R

*H & o
e e s u ¢
L SN A TRERERE |
¢ * ARSI REr=0. 276
i * . * « BEKEN
0“0& “‘
* ¢
m e s |
. * O ITRBBRZRE
TRBERE
|| *HERE1% %K r=0. 565 WITEBRRRE |
0 50 100 150 200 250 300

07122 RVODOOO



0 00000o00oo0ooooooonooonooogoon

87

7.6 T7UOUOOO

00000000000000000000000000000000000
000000000000000000000000000000000000
O000RMSOOOOOOOOOOOOOOOOOOOmMOOOOOOOOO
0000100000000 50000000000000000000000
000000000000000000000000000000000000
0000000000000000000000000000000t¢0000
00000000000 0000000000
OD0DO0DO0OOR,SD(R),T,SD(V),e,b000000000 1%0000000000
0000000000000 000000000000

e DUUOOODLDLODOUOODLDDOD

e DUOOODLODOOOO

e DUOOODLDDOUOOODLDDOO
e JUUOUOLOLODODODO

e JUUDDOODLOUODLOODDOODLDLDUODLDODLOLODOODLOOn
oooo

gbboooobbbooabbon
gbhobobodboboobobbooboboboboboobuoobobob
gbbboooobbbduodgbobbbooodobbboooobbbooaob
gbobooooobbobooooobboboooooboboobbuooaon
gbbboodgbobbboooobbboooobbboooobbn
gbobobooooboboboooobobuoooobbbooobbboooon
OoO0O0OCOOO0OO0O0O00O0OooOoRMSODODOOOODOOOOOODDDOpsd
gbbobuoooobbbouoogobobbboooobboboooobbboooon
pboboobooboboobboobooboobobobbobbobbobbobn
RMSO R,SD(R) 000000000 «0000000000DODOOODODOO
00000000000 RMSO R, SD(R) 000 «000000O0O0O0OOOO
gbbobooobuogoobbbooooobobuoooobbbbuoooon
Dbobooboobooboobobobobboobooboobooboob
gbooobuoooobbbouoooobobobuoooon
ooooooRMSOOOOOoOoOooooDOOOoOoOoOooOoOoooooDDoo
gooogog
gboobuooboobobbobbooboobooboobooboobo
gbobooooobooobboooooboboooobbbbuoooon
Dboboobooboobooboob



38

8L

Jooobobbobooboboodddd
HRERERERERE

8.1 OL0OOO

gboboobogbudbodobobbobuoobuogboboboboab
gbobobuogoobbbdoooobbboooboobooooboboboooon
gbbobbobbbuooobbbuoooobobbobuoooobbbbuoaon
gbooboogooood

gbobbuodgbobobooboobobbobbooboobobbobo
gboobuoogoobbboogoobbooooboboboooobboboooon
gbbbooodgbobboooobobodan

8.2 UUOUOUOLOOOOOOOOOON

gbobobooodgbbboooobbbuooobobbbooobbboooon
gooboooobbboooobon

8.2.1 0O

gboobooogoboboooooon

OoOd 7200000000000 0D000D 8OO0 bLOObLOoObOO 30D
gooosud

bbb obbobooooobbboodd

e OO OMO OS: WindowsXP HomeEdition
e IO UOOOOODOO



g 00boooooodboooogdonobooodn

— WindowsMediaPlayer(d MIDI 00 O O [

— YAMAHA CBX-Driver V2.00 for Windows XP /2000/NT4.(0 MIDI
gobooog

e O DO MIDIOODO

— 00000O0OOoMIDIODOO 60000000000 000O0
gbhboboboboboobooboobobobphOoobobOoOD
gbobobooooboobobooobrobobob 200000
gog:0vgs3o00

e JOODO:

— YAMAHA MU20000 MIDI O OO
— SONY Stereo Headphones MDR-CD20000 O OO0 OO OOOOO

gboood booobobbogboooboooboooboobuoougon
O0O000000000000 General Midi O OO SMFO Standard MIDI
FileDOOOOOOOO200000b000b0boboboboboobo
DoobobooboboobobobooboobyooboboobobonDb
gbooggobooggboogboogoobobbboobo"boobo”o
ODoO0Oo0oooosMrOODOOOOOOOOOTO3ODOOOOO0OO10
OSMFOOOODODODOOOO30O00000000obo0ooobDoDa
Dooooooboboobobbobobobobobobobooob
gboodbouoodgboobboobuoboobboboboobouogboo
Dooboooboogon

8.2.2 [OU

U8l:0b0ugooobuooogobon

DDDDD‘DDDDDDD goooog oo

g ) 3 8
goooo 18.0%* 63.3%* 35.0%
gogno 9.1 7.6 24.8

*p<.001000

0000008100000 0000000000O 3B.0%0000000000
000000000000 BO%OODODD0OD0OD0O0O0D0O0OO0DOO0O633%000



g 00boooooodboooogdonobooodn 90

0.045
0.040
0.035 [
0.030
0.025

—|

0.020

0015
0.010 [
0.005 [

0.000
TRBFRRRE RERE

..p<.01

081: 00000 T0O0O0

00¢6)=-719,p< .00l 0000000000O0O00O0OOOOOOOO0O
oooobooooooboobobOoboboooooocCcbboboboboboooo
gbogboobooboobobbobbooboobuoobooboobon
gogobbboooobobobooooobobooogbbobboooonoobobogo
gbogboobooboobobbobbooboobuoobooboobon
gogobbbooogobobobuoooboooobobooooobobogo
gbooobuooboobgooboon

8.3 UULUUOOLOUOLOUOOOOOO

gbogbuoobooboobobooboobooboobooboobo
gon

gboobgoobooobor41bo0oboboboboobooboobuoononDs
gbogboobobub sbobbogboboboboboboobotobob
god

gbobogoglibooogbobogoobgbbouobbuoobboobboo
007TO000000000000000000000000000000¢(70) =
2799, p< 01000000 OOOO0O0DOOOLOOOORUDOUOOObLDbDODO
goo3sgbbboduoogbbobouoooobbbbouooogbbobbago
gbogbugobgoobobbgbbobooboobuoobooboobob



g 00boooooodboooogdonobooodn 91

gooboooobbboooobobuoooon

84 8UUIDODO

00000000000000000000000000000000000

00000000000000000000000000000000000
000000000000000000000000000000000000
0000000000000000

00000000800 000000000030000005000000
000000000000 18.0%000000000000000 65.0%0000
00000000000¢(6)=-7.195p<.00l0 0000000000000
TOOODODODOOOO0OO0OOO0OO0O0OO000000000000000000000
£(70) = 2.799, p < .01(0)
00000000000000000000000000000000000
000000000000000000000000000000000000
0000000000000000000000



92

90

Jooobobbobooboboodddd
HRERERERERE

9.1 OOOO

gbbooodbbbtoooobbbuooobobbbooobbboooob
gbobobogoboboboogobobobuoogobbbuooobboboooon
gbbbuoobobbbdoodobbboooobbboooobbboooon
0000000000000 00000000 p9ooooooooooooo
0000000000000 0000000000 [B3|0
gboboogooboboooobobuoooobobbuoobbbooogn
gbbobuoouooobbbuoooobbbuoooobbbuoooobn
gbhobodbobbooboobobodbooboboobobooboon
godbddbdobobobobobobobobobuabooooogoogoood

9.2 0UOOouog

goboboboboobbbbbooduogg olooouoooooooooooDn
goobbooooobobooooooboobbooooobbbbuoooon
gbooboogooboood

gooooo

OS Windows2000 Professional

OO0O0O00O0O0O0OO Visual C++ 6.0 Standard Edition
MIDIO O YAMAHA Drum Trigger Module DTXPRESS

MIDIOOOOOO YAMAHA CBX-Driver V2.00 for Windows XP /2000/NT4.0



90 0000000000 000000o0obo000dn

OO0O00O00D000b0000 KRI DigitEye3D

0000000000 ViswalC++6.0000000000000000000
gboogobubodgbboogbogobuoboobboobobbuoobbod
gbooboooobbboooobbboooooboboooobboboooon
gbooobogg

9.3 UUogogg

go20000bbbuodobobogooby3guubbobuoooobon

000000000000 0000000000 9[bpm]O 120bpm|0000
godddddboooooododdooodoooooooooooobon
gbogbbodgbbbodgboooobbuoobooobodobobooboaob
gboogobuogbbugbbodggboooboobboobbmaobon
gbbboooobobbbooouooooobbboooobbbbooaon
gbobuoooobbbuoogobbbooooboboboooobbboooon
gbbboogobbbuoooobbbooaoboo

gbobooooboboboooobbobuoooobbbuooobbboooon

o 10U OOODODODOOO
o lOUOUOODODDOOOODDODOOUOOO

00000000000 00000000
E,, k0DOOO

0o0o000oo0ooo0oon
Sk

dodododoooodoooouooooooaoad
SD(Sk)

gbbooodgbbobooabbon
Vi

dododuodoooodooooooood
SD(Vy)

gbobooboodgoboobod
gboobobooooboboboooobbobuoooobbbooobbboooon
gboboooggn



90 0000000000 000000o0obo000dn 94

A
SNCCUPS

(TSHILES L
UMDFEI;‘JE
ST

Hh— k aA—4 BBFRSL

§ b <—h
. N
W$?ms 2 E— ) —1
V)7L _
H— CCDA A S

E—>3ay
FrIFrEYy

0ol obobobobbooboobuoobg




90 0000000000 000000o0obo000dn

95

EEE

!

BARIZEAN

.

»| TempoZ;EiR

4—

Rhythm Patternz &R

—

nFE$T4H

44—

AL L YA el WANIEY

=30
)

27

0920000000



90 0000000000 000000o0obo000dn

0. 1FLEI CARrE AL TSN (F ART |tsuji

1. TR ERIRL T iz dh

T
( & 90lbpm]  © 120[bpm] AO =4 |

2 )X Lih—mRIRL, TR s RIS EL T TEL

I:: ik iy I:::j; o Il-n%—a—J—.t—| |HI—§—:J—J—-—|
3. TBAREI £ AL T FTHIEIBIT TaL) O e | 79ty|~ﬁ4|

HE—"

;@Zm’,:a' S T

ELLY

HIT=D —475% +92.3%

FOES SZHTERAC
FESOTEERE 0.8% 2.0%

Z B |
FHOIEY 8

(0~30lcm]) ﬂ
{EED T E M 18.0% 13.9% 9.4% 14.7%
Fhegs:
il -
."J'\
SO T EMN 12.8% 15.8% 11.6%

093 0000ggug



90 0000000000 000000o0obo000dn 97

e 000000000000
Ty

000000000 RMS
Ry,

e J000OO0O0OOORMSOOOOOOOOODODO
SD(Ry)

gogdouoooobobbbboooooog1obbn
=af+b

gooooooboboboooooooooobbobbboooooogoo
0000000000000 000 [53]0 drumSupport O 0 O O cluster_main O
O00000000000ooo0oooooooooooooooooooon0 %
0000000000000 00000100%0000000000000000
O00%000000

gooboobbogoogoouobobboboboo1oobbbbooooooon
dodddooooobbobbboooooooooboboobobbbbooooo
gubbobdogobbbugoubonbobbooooubboobbbooaa
gobodoobbtboboobbboobobobooobbboooubobooobo
gogdoobobobbbbooooobbbboooooouoobbooboooao
Jogdoooooobobobbboooooooouooooooobobon

000000000000 E,06.32000000000000000000
O0o000o0000o0ooooboboboe,000O0 EODDODODOOO0O0O0OOO
O00On—-10000 kO000O00O0O0O0ODO0ODOODOODOOOODODOOOODOOD
ErogoboooooooboooeEy00oboooooooon

tea
D’C 24

2
dt

ﬁ(%—”%ﬂ

ﬁ Ic+1 n fk
(n=2..N, k=1.3)

000O0ONDOOODDOODOOOOOO0O0f(#) 000 40000000000
00000000000000000000000000000000000¢
0,00 k000000000000 DO0OO0OOO0OO00000000000
D00 10000000 kue 00000¢. ., =t"'0D0 00 k000D
00000 Dy =t — WDﬁDnDDkDDDDDDDDDDDDDDDDD

DDDDDDDDDDDka ’““fk()dtDDDD

- Dn



90 0000000000 000000o0obo000dn

(n-1)/NEi B n/INEf B

B N N U B N

1 %l\
»n

i
=
e
o
&~

9\
{4

i

A

$I§ : X : -
i Y o

14TH 24TH 34TH 14TH 2¢TH 34TH 14TH
(n=1) /&R n/INER (n+1)
INER

(n-1)/NET B n/NEfi B
kEDHTE DR kEDITE k+DHTE

094000000



90 0000000000 000000o0obo000dn 99

000¢0t0 & -, 000000 ¢ -'00000000000

t—17
k— k n—1 _ 4n—1
k+1

— 1
goboooobobo eEp0oboobooobn Ek<:NZE£>D”DDDD

0000"000000000000000000 E,0000000 k0000

gbbobuooobbbuoodobobbboooobobbod
DDDDDDDDDDDDWDDDDDDDDDDDDDD?’LDDD kOO

OooooooboooooooosS;pgoooooooon

Sy = max(fy(mt:t;;...t;;ﬂ) - min(fy(tﬂt:tz...terl)
(n=1..N, k:zl 3)
DDS"DDDHDDDDDDDDSk Zsk Oo0k00000000O0O0O

Ooooooooogosyooood SD(S,QDDI{:DDDDDDDDDDDD
gbooboooobbbooooobbboooooboboooobboboooon
gogdobbbuoooobbbuoooobbbooonobbboooobbbog

0000000000000000Y,00000000000000000
OOoo00oooboo0oooooboOnbOO0 kO0O0O0OODOOODODO VPODOODOO

_ 1 _
W;TVXN$DDDDDDkDDDDDDDDDDDDDWDDDDDSDW@
000000000000000000000 SD(V,)0 k000000000
000000000000000000000000000000000000
00000000000000000000

000000 (70000000 RMSOOO0OO0O00OODOOODOOOOOOOO
O000boo000b0n000D0ROOO0DOOODOORMSO RZOODOOOO

gooobodgd
RTL k+12
o

(n=1..N, k=1..3)
000 f,()00f(t)0y000000000000000R'0000000n

—( 1
DDDDDDD]@(—NE:MQDDDDDDSD@QDDDDDDDD

gbobr4100oo0booboboobobobooboboboobobo
O0Orn00 k0O0O00OO0OCOODOOOODOO T OO0

(i —t8) — (i — 7))

1
(tZJrl*t )Jr( Z+1 tZ 1)
2

7 =




90 0000000000 000000o0obo000dn 100

(n=2..N, k=1.3)

— 1
DDDDDDDDDDDDDDDDDDDDDDDDTk<:NZT£>DDkD

DDDDDDDDDDDDDDDDDDDDDDDDDDDDD"DDDDDDD
gboobuoogobbboooan

O0007430000000000000D0000010000y=af+0b0
Dooboboboooboboboob 7430000000000 e yOD
boooooooonog

94 0O0OOO

gboobobobobooboboboboobboboboobobuobo
oooooob“cobbooboobooo’o“cooboobboooooOorosbO
Oooooogoooorb3obooboboooboobobooboobooooon
ooboboobooboobooboobobooboobooboobooo
oooooboooo“coboooboooborosoobooobooooooro e
oooobobooooooro“coo"bo4b0obooboobobobooo

9.4.1 0OU

ggbobbbooogobobobao

oooooooooooooobobo cbogobooooooobooboboo
gbbbuooobobbbdoodgbobbboooobbboooobbboooob
goobobboboboob1l1d0ggoobbbbboobobi1obbbboobooolobn
Doboobg20b00000008b00b0bO0o0obOo0oboobooboboobn
gbooogbboogdbag2o0bogobobebbosypbosgboogd 3
oo?»0dboo0boboooooo2b000obo0bobobo0oobooooboooon
gbboboooobbbogoobobbooooboboboooobbobooaon
Dooooboobobbob200000004000000000000DO00OO
gbuogbgboobobobooboobobuoobsgbboobouogb400n
gbbbuoooobbboodgbobboooobbbboooobbbooaob
Oobooobooooobooboobbooboooboo40booboboobooroo
Oobooooooo’'ocgboboobobooo»o’bobobboobobn
Oo’o”’0oo”Dh4000000000D00000OD0ODOobObOOoDOoDDO
gbbbuoogbobbbdoodobbbooodobbbboooobbbooaob
gbobuoooobbbouooobobbboooobboboooobbboooon
Dobobobomobobobobooboobobobobooobobob



90 0000000000 000000o0obo000dn 101

goobooooooboooobobbooooobobboooobbobooo
oogdboboboooobbbuooogboboboooobboboooobn
ggobobboooobboboooobbbuoooobboo24abbogo
gogbbobooogbbbuoooobbbuoooobbboooobbbogoo
goboobobooooooboobbodool1oodgsbodoooobedgnon
gbbobouoog3gbbobouooobbbbuoooobbbbouoaon
goobodd
gbobooogbobbooogbbbuoooobbbuooobbbooogn
gboooobbogobbedbosbglbbuon200boooboboogn
gbboogbobbogoobbooobobs3sggosuyd1gbbbbogsggn
gboobogoobbboooobbboooobooboooobboboooon
gbobobobuoooggobobi1ibobboaggsbuoooobbobouooaon
gogboogbboooboiloogbobsgbbogoonoobboboobon
gbobbobouoggloogobgubbbouooobbbbouogaon
gbobogoblggobosgoug 200dbobuogobboboboogn
Dbhobbobbobooboobooboosbobbosrbooboon
gboobuoooobbos3sbuoogobobooooboon

94.2 0OOOOO

ggbobobooogbboboooobbbuoogobo

0000000000000000000000000000000000 E,
OORMSOOOO RORMSOOODOOD SD(ROODOOOOOODOODDOO SO
0D0000000000000000000SD(S) 000000000 Tooa
000000VODOODODOO0O SD(V)ODOO000000024000000
gb40000040000oooobboobbboouoooootstggonon
Dooboo4b00bobooboogon

gbogbobbbobboooboooogbbbobooboobobooooo
oobooboobuoobuoo4boob4b0b0b0o0obooboobboobn
Dbooboobobuobobobdbyp>.aouboboobobooboboon
goo

e 0000000000 OH46) = 1.742,p < .100
e 00 RMSOODODO RO#(46) = 2.035,p < .050
e RMSODODDDODO SD(R)D#(46) = 2.536,p < .050

e 000000000000 SO¢(46) = 2.253,p < .050



90 0000000000 000000o0obo000dn 102

nga‘ s

095 0D000000OG6

Hi’,:a‘ J I

0960000000 3-000000

Higa‘ oD

0970000000 3-0b000000

e 00000 DDDDOOOONO SD(S)Ot(46) =2.727,p < .010
e 00000 DODDO TOt(46) =1.736,p < .100

e 1000000000 SD(V)OH(46) = 1.935,p < .100

Dobobobdobob40b00040b0000000000DO0DODOOOO
gbooboogguubogoboouoooobbobuoooobboboooon
goobooooobobboooooobobooooobboboobbuoooon
gbobobuogbboobbombobogbbodbbogbooboobbagb
gobmooobbboooobobooobbbooobobobboooobobobooon

A0000boooboboooboboobboobboobbobbooboon
gooboooobbbooooobobbooooboboboooobboboooon
gbobuoooobbbuooobobboooobboboooobon

goobobooobogboboooobbooobbooboobobooouobn

gbogbbodbbodbongobugbbuodobbouooboobuanoboon
gboobogoobbbooooobobboooooboboooobboboooon



90 0000000000 000000o0obo000dn 103

gboobogoobbboooobobbooooboboooobboboooon
gbooodg

gooboooobbboooooboboboooobobooooon

gbobooogbobboooobbbuooobobbbooobbboooon
goddbbobooodddddddddododouuuouuooooon
gbbobuoooobbbuoobobboooobbboooobbboooon
000000000000 0000000000 p < .01007TOp < .0100V
Op<.00l0000000000a0p <.050000p < 050000000000
googobouobogbbobbboobbooboooboobbuoobobod
gboobooggn

e JUUOOOOOOLDODODO
e OUOOODLDLODLOOOOO
e OUOOODLDLODOOUOODLDLDDOOOODO

obooobobobo

gboobooooooo

000000000000000000000000 E00D0DOOO0O0O00
000000000000000000000 RMSOOOO ROOODOODO
O0000000sd(S) 000000000000 0000O0sd(V)ODOO00OO0OO
gbooboooogon

gboooogo9nnooiobogn

gbobodboooobooobuoobboobooboboobobooobooo
goobooooobbboooobobobooooobobbooooonboobon
000000000000 7T00000000000000000000D000
gooboooobbboooobbboooooboboooobboboooon
OoOgrs40000000000O0OO

gobodbboobuoobboobooob rh200boobbooboo
00000000000000000000007520000000000T0
0000000 FO000D000000000000000000000000
gboboooobbbooooobboooobboboooobon

9.5 UUouououououogd
0000000000000

gbooboboooobbbboooobbbbuoooobbobo3bouoaon
OO0000000000bO0obOOo ShbOoobOO0obOobOOobDOobDOobDOobDOobOOn



90 0000000000 000000o0obo000dn

JRXLT4— RNy DR

ERODTLREMS IRIERMSE D F 15
12 . 50
wEamERE -
| B
10 poN 104 °
HEAERE o
w 8 COK 0N R R
2@ E K30 °
E‘H 6-1 o EII
o . b °
i ® . ;; <904 P o
B 4] o. e
- ° W AERE .-
0.0 o
2 ‘ 109 R
CEEAERE
. X HEAKES
0 - o -
T T T T T T T T T T T T T
0 2 4 6 8 10 12 0 10 20 30 40 50
W aE () MA@ (m)
TR > FRE =S K
IRIERMS D TR 3E 1 FHRYIETY
8 15
(<]
6-{ . o
. 00 .
?; 0 10
2 2K o
Ex o & o
SH 4 . . EIII - o
# ° ¥ 2 °
Al . ®
M amEE 5+ wxemn .
2 V.
RN s}
pw CEEAEN
o ERABEE L ks
0 - o -
T T T T T T T T T
0 2 4 6 8 0 5 10 15
Hik 4R (m) Fi 4l (om)
RE > FRE I —F
FERYBOTREN YXLERETFY
30 0.15 | B
mEaERE
25+ B
A
T AERE
ﬁ2.0— w 0.10 | X R0
Sk o ® 2k
@ f} 1.5 a
3 4 P .
i ﬁ oo ® K
109 ggamze #0054 o
000 )
05 S -
FamEE
X BB .
00 - 000 -
T T T T T T T T T T T
00 05 10 15 20 25 30 0.00 0.05 0.10 0.15
Wk AE (o i AB 5
RE > FRRE BE > FRE
ENBRESDIREN
12
10-{
. o
u 8 ";°
= .0
K o %
e .
< H 6
#
N
|
W sERE
B
2] R\
‘w¥aERE
o T AR
T T T T T T T
0 2 4 6 8 0 12
W AE B
RE > FRRE

098 000000b400004000000000



90 0000000000 000000o0obo000dn 105

T4— RNy LE JALT4— RNy I8
[Bz7r—4| [mHi7+—67—%] [z7r—4| [mor—n7—%|

A

890

. 584%,, 579",

L) [

'i'q=<§t:: 2 'E' .81 !E!

IA—LITA— RNV IH NAOLTF 4 T14— RNy B
[rzr—5| |maz+—sa7—5] [mEF-5| [HEI+—LF—5]

FEROFREM

FROEY

4 8c

lIE' — . 688 'I.
SD(V) J=="—(SD(R) (SD(V) Jusi# (SD(R)
5560 613,
BEKE (N=24)
— <. 001 s p< 01 —— p<. 05

099 0bobbobooboobd



90 0000000000 000000o0obo000dn

106

TJ4— KRNy LE JALT4— KNy I8

[#z7—%] [im#o+—L7—%] Iﬁﬁ?—ﬁl raos—n7—%5]

O

_ @
v = )

o o

H
@@

- SD(V) SD(R)
SD(S)
T+—LTa— Ny NOYTA4 74—y o
[Ez7r—4]| |im#o+—L7—%| ls7—45| |sm#o+r—L7—%|
%Ew*iiﬁx
'i'//<&§// li'ﬂm~&4

) ) lll'<;a;::lﬁi|
CE G @D ED

(sp(s)) (sp(s))

BEKk#E(N=192)
— <. 001 srvenem p<.01  ——p< 05

0 910: bbobouoooobboood



90 0000000000 000000o0obo000dn 107

A0000000bO0o0DoLOY0boobboOo“yoboobobooboooboob
Om“2rgodbdbooboboboobobomsrrooooooobobooon
oooobooboboboobooboaooobobooboboboboboobob
gbbobuoooobbbuodgobboooobobboooobbboooon
gboobuoooobbbdoooobbbooooobboooobboboooon
gbbobuooobobbbuoobobboooobbboooobbboooon
gboobuoooobbbdoooobbbooooobboooobboboooon
gboobooooon

gboogobodbboooobuogboboobbooboobobobob ot
gbobbooggbbobodggo

goloogoon

e JOUO0OODLDODOUOUODLDLDOUOOODLDOO
e JOUUOOODLODLDOOOODLDDOOOODO

e JO0OODODODOODDODODDODDDOOOOOOLDOODLDOODODLODDODLO
00

DoOooboob3sbooboobbo40bo0bbobboobooonbon
gbooboooobbboooobboooobooboboooobboboooon
gbooooogon

gogobobboogoobbbooooobbbooogooo

e JOUUOOODLODDOOOO
e JOUO0O0ODLDLDDUOUODLDLDOUOOOODLDLDUOUODLDOD
e O0UUOO0OODODOOOUODLDDLDOOOOODLDDOO

gbobodbgbboobuooboboobobuoobobooboboobon
gbbobooooobbbuoooobbbouoooobbboooobooon
gboogboogoboogoboooboobuoobboobboooobomon
gbbbuoooobbbduoobobboooobbboooobbboooon
gbobooooooobooon

Domoboobobogboboobobbooboboobobsnob2n
gooboboobboodogooooooobbbbblibbodoooooon
Doobomobogbobobboboooooobobobobobboooon
gboboooooboobbbouooobobuoooobbobbooooon
gbuodgbobodbogboobobuobbouoobbooboboobogn
goo



90 0000000000 000000o0obo000dn 108

ol gboobobbobbobbooboob-oboobo

gooo ERERN
gbobobooogoobobod 4 +
gboboboooobbbooon 4 +
gbooboooobbbooooboboooon 4 +
gbbobuoooobbboooobbboooon 4 +
000000D000000000000000000000000000000 4 +
9bpmUO 000000 0OOODOOOO 3.67
gbooboogoboobooooboo 3.67
gbbobuoogobboobbbduogobbobodan 3.67
gboboboooobbboooboboboooon 3.67
gboboboodgbobbboooobbbuoogooboo 3.67
goboboooooboooobbooogon 3.67
gbobbuoooobbbuooobbobdao 3.67
gboboboogobbbouoooboboboooon 3.67
gbbbuoogobbbooobbboooon 3.67
gboboboooobbobuoooobobogad 3.67
gbobobooodgobobod 3.33
gboboboogobbbouoooboboboooon 3.33
gbbogboobbooooobbooobuooboooboaoo 3.33
gbobooogbbobuoooobobuoooon 3.33
codbbobuogogbobbooogn 3.00
gbooboobooboboboboobooboobooboobooboobo 3.00
gbbboodgbobboooobbooodn 3.00
gbobobooooboboooobboboooooboo 3.00
gbboboodgbobboooobbbuooaooboo 3.00
gbooobooooboboogd 2.67
gbbbuoodgbobbboooobbbuooobobboood 2.67
gobooboobboobooobobooobooboobooooboooo 2.67
gbbboodgobbooad 2.33
gbboboogobbobuoooobboboooobooooon 2.33
gbbbuooobbbuoooobbbuoooobbod 2.33

+.0oooooo3ocoorg”



90 0000000000 000000o0obo000dn 109

goooooooobooaon

gogbobobooogboboooobobbuoooobobbooobobobogo
Doobooboboo200b0gbooboooobobooboob400
OOooOSbooo0ooooboobobobooooboobobooo
gbbobooodgbobboooobbbuooobobbbooobbboooob
oot ogoooooooooogd
gbbbuooobobbbdoodgbobbboooobbboooobbbooaob
gbobo1oobboogogbobobbodoooobbobboooobbbboooaon
gbbbuooobobbboodobbboooobbboooobbbooaob
gbobobuoooobbboooooboboooobboboooobboboooon
gbooodo
gogboboboooobobuoooobbobuoooobobbooobobobooo
Doooboboooboboogbbbobbobobooboboobe2b00bn
gbhobogbuogboobobodbugbobboobooboobobobob
Dooooboooobobobooboboboooooobobobobob
gboobbogobbodbbuoobouoooboobuoobboooboobood
ooooo

e JUUOOODLODLDDOOOUODLDODOUOOUOLDDLDOUOOODD
e DU ODLOUODOUDLDODDOODLDOODLOODLOODLOODODOD

e JOUOOODLDOOUOOUODDLDOUOOODLDOOU

oboboobooboobooboboboboboobooboobooboob
oboobodoboooboobgoobooboboobooboobooboon
oboboobooboobooboboboboboobooboobooboob
oobobodboooboobgooobooboboboobooboobooboon
obobooboobooboobooboboobooboobooboob
oobobodboooboobgooobooboboboobooboobooboon
obobooboobooboobooboboobooboobooboob
oobobodboooboobgooobooboboboobooboobooboon
0oOgd

9.6 9000 0ONO

gbodgboobooobogbobogboobobobobobooboobo
gboogbobuobodgbdoobobbuoobbodobooboboobboobbod

e 1OUOOOODODOOO



90 0000000000 000000o0obo000dn

110

g2 0bbooobbbooooboboooo-booonooon

ooood 0o
gddbooodobooooouobooboooooooouoobooo 3.61
0D000D000000000000000000000000000000 3.50
Ogodooooooooog 3.46
goodoouououododoo 3.42
gooooooooooood 3.33
goodooooooooood 3.29
gddbooodoboobooouobobooouoouoouooboog 3.22
gododoooooood 3.13
godoooououooououoouoodgo 3.11
godoooooooooooon 3.04
Obpm OO0 O0O0OOOOOOOOOO 3.00
oo ououououao 3.00
dodoodooooouououooooouood 2.89
gbddououououououooooooa 3.50
goddouodouododooodooooa 3.17
dododudoooooooooooad 3.17
dodoodooooouououooooouood 3.00
dgbddououououououoooouooa 3.00
doddouooouodouoooooooa 3.00
goddouououodooouooooood 3.00
0000D00000000000000000000000000000000 2.94
dodoodooooooooooooood 2.83
dodoooouoooououououooouood 2.83
ddbotuouotuouodooooooooouoooo 2.72
c00dooooooooooood 2.63
oot otuououououoouood 2.61
doddououoooouoouououooooo 2.54

boooboooobobooooobooooboboooboon

2.33




90 0000000000 000000o0obo000dn

111

e lOUOO0ODODODOUOOOODLDODOOUOOO

0000000000000 oooooo
E,, kO0O0OOO

000000000000
Sk

dododuododododuoouoouoooaoad
SD(Sk)

e U UOOOODLDDOOOODLDODO
Vi

gbobbouoooobbbooodgobbodo
SD(Vy)

gobobogo3bboobb240000bobooobbbooobbboon
gbobobuogoobbbogoobbboooobooboooobboboooon
gboboobouoodgobood

e JOUUOODLDDLDDOUOOO
e DUOOODLDDODOUOOODLDDODO
e DU OOOODLDOOOODLDOD

Doobooboobod
Doobodboobooboobobbobooboobooboobon
Dbobooboobooboboobooboobooboobo

e JUUOUUOUOUOLODODODO
e DU UOOOODODOOOODO
e OUOOODLDLDOUOODLDDLDOOOOD

0ooooooo
000000000000000000000 FODO0DOO0O0O0O0O00000
RMSO R,SD(R)00D0DODO S,SD(S)0000000000000O0
00000000000000000000000000000000000
000000000000000000000000000000000000
00000000000000000
D00000000300000000000000000000000



90 0000000000 000000o0obo000dn 112

e JOUUI0OODLDDOUOUODLDLDOUOOODLDDOOT

e [ JUOODODOOOODLDDLDUOOUOLODLDOOOOD

goooooooobooon
gbooobboboooobbbuoooobo



113

100
L] [

10.1 O0OO0O0OO0OO0O0OO0
(1) 0O0ODOoOoUoooDooO0oDOooDoOoOoOooooooOooooDo

e OO 0ODODODOD4DODOODLDODLDODODLOOODODODO
gbobogoobbumoboooggbbbooobbboogbobogao
Dohooobmoboobboooboboobbuoobboobbooobon
ggobobuooooboboooon

e OUOUODLDDDULOODLDLDULOUODLDLDDUOUODLDDbOOOODLDOOO
DoOobmbooboobonooboobdgoooboob 30boon
gooodg

o UODODLDOODLDO40D000 1200000 0O0DLOOLODLOODLOO0OO
100%00000000000000000000000000000M 0O
gobogb3goboobbuooobongoobooobogo 2000000
Doboboobooboobooboboobooboobuomboon
gigooboggbbooobobobuooobboooobbooobobood

(2) D000D0O0OO0000O0OO000DOO0O00DOOOO00O0OO0O0
HEN
e II0ODDOOODDOUOD2000DOO0ODOO40000DO8OO

ODoobOooMIDIDOODODOODOOooODOOooooboboboooboo
O000000de665%0000000000

e OODODDOOODODODDDLDDODODLODLDDLODODLDDDLDDDOOODDD
gobhoogooboooobobomobbooobbbooobbobooo



100 00 114

gooobooooobobboooobbboooobbboodun p< .05

e JOU0OODOODLDUOLODLDOOODLDOOUODL4UDUODLDDbOOOO
gboobuooobbbooobobboooonoobod
— b0DobOo-0b0p<.0010
- bDbooogo-0b0dp<.010

gobbogoobodboogbboobuooboobboobouogboo
gboobooogobo

e JOIODODOUDOOUDOD SOUDODKnife-EdgeODODODOODOODO
gbooboooggbobuooobboboooobbbooooboboooaons
gbobbouogobbbuoooobob

(3) D0oU0UUOoDOooOU0UOoDOooOOoOUooooOooo

e JU0ODLOODLDOODLODLDOODLDOOSOUDLOOLODLOOUOO
gbooobodgd
— bDbOoogaoboo
— bDbooooooobobogg
- bDboooooboboobboad
- gobooboon
— bDbooogboboboooobo

gbboooouodgbbbuoooobbbooobbboooon

(4 0000000DODOO0O0OoOoDoODOd

e OO DOODLDOODLDDOUODLODLDOODLOUODLDODLOODLOOO
gbobbuooobobbooogbbboooobobobooon

e N U0OUDLDUODLDOODLDOODLOLOODLOOODLODLDbDOODLOD
gooboooooobbooooboboboooobobod

e JIDODOODLDDOODOODLOODLOODLDDOLODDOODLUOODLOOO
gbooodog



100 00 115

() 0000000 DODODODDOODOOO0ODOOOO0O

e 00O 0ODUODUOD MM0U0DUODULODOLODDOODOODOODO
gboboooooood

gbobogoobobuggbboooobbmbobuooobbonoad
OoOoo0oo0ooooOoooRrRMSOODO300OO0O0OOO0O0ODOOOO

gboodbuodgbogbboboboobbobbooboobogoboo
Doobotboobobogboobosgobobooobooboon
gboobooooobboooobboboooonoo

gbuodgboobbodbuoobboobuoobobbobbuogboo
oo oooooooogo
00000030000000000090.0%095.0%078.6%000000
gooo

gboboodgbboogbbuogbobooobboooboobosbbon
goodboggbbooboboobuogboobbooboobooboo
goo

(6) D0DDO00U0DODOODODODOODOOOODODOODOOODO

e U UDDOODLOUODDOODLUODLDOODDLDLDUOODLDODDOODLOOn
Dbooboobooboobon

00000000000000000000000000R,SD(R),T,SD(V),a,b
000000000 1% 0000000000

godddddddddddooooooooooooooooooo
gbobooodbbbuoooobbboogbbobooon

e JO000DODODODUODUOODOOOLODORMSOODDOODOODODOODO
OO00psdDO0OD0OOO0OOODOOODOODOOODOOOOODOODODOOO
gogboobogboboobooobuogboooboobbooboo
gbouodgbooboboboobuooboobbodobobobobuooboo
gboboboooobbbuoooobobobooooboboooon

OORMSOOODOOOODOOOODOOOOOOOOODOobOoOooOoDboOg
Dbooooobboobbooobbooobbooobobbooobb
gobbogboogbobogbbobuoobboobobuooboooboo
Dbobooboobgooboobobbobod



100 00

(YOoODDOoOoOoOoDoOoDOooOoooooOooooDoooOo

e UUDDOODLOUODLOODLDDOOODLOUODLDOODOLDDOODLOOD
gooodd

e 000000 300000050000000000000000000
180%000000000000000 65.0%0000000000000
00¢(6) = —7.195,p < .001(0

e 00000000 ONONONONOONDDDDONDDDTOOOOOOOOOOO
O00000000000000000000000 ¢(70) =2.799,p < .01

e UUDDOODLOUODLOODLDDODLOODLOUODLUODLUOLODOODLOOD
goodgbooobodboobboboboobuoobbonobooboo
gbooboogobood

() DooOoOoUoooDpooOod

e JO0O0OOODODOOLOOOOODUODOLODODODODO*DODO"O*ODO
oooor’g"oogboo’0boboboo0obbo0ogobooooooobobog
Dboobooboobod

e HUDODOODO30O0D0D0OOD0D 2400000000000 0O00ODOODDOO
gboboooobbooobbobuooobbobuooobbobooobbod
Dbooboobooboobon
- pooooooboboood
— bboogobbbuoodobbbodg
— bDbOboooobobboooobo

gbooooogooood

e IO DOUOODDOODLODOUODLDOOODLOODLOLOUOODLOOn
Dobobooboobooboooboobooboobobbob

- ggbogooboobobn
— bbbuooooboboboogd
— bboogogbbobuoooobbbdoodon

gboooooon



100 00 117

e 100000000 DODDODDDDOOEODOODOOODODDDODOO RMS
0O R,SD(ROOOODOS,SD(S)0D0000D00DOOOOODDOOODOO
000000000000000000000000000000000
0000000000000000000000000000000000
0000000000000 000

e JOUUO0O0OZ0ODDOUOUOULDDLDOOOUODLDLDOUOOODO

— bboboooopobbooooboboboooobobo
— booobbbuoooboboboooobbbuoon

gbbooodgbobbooan

e OUODOOOOODLDDOOOOLODLDDOO

10.2 0OOOO0O

gboobuooboobobbobooboobooboobooboobo
ood

e U UUOOOODLODOOUOOO
e JUUOUOOLDODODO

— bboooobbbuoooobbbdoodan
- MIDI=00000000000000000

e JOUUOOODLDLDDOUOOODLDDOOO

— bDoboooo
— b0oo
- 0o

e OUUOUODLODLODLDOOOODLDDOODO

gboggsgbogbbooboobbobboobuogbuoobooboon
gbooboooobbboooobobboooooboboooobboboooon
gbogobbodbogbobuoobboobuoobboobooobuoobbod
gbooboooobbboooobobbooooboboooobboboooon
gbbobuoobobbbuogobobboooobobboooobbboooon
gbooboooobbboodbmooobbbooobbobooooboon



100 00 118

gogoboboooobooboooobobobuoooobobboooobobobooo
gbooboboooobobbbooooobbobobbbuoooobbbboooaon
gboobogoobbboooobobboooooboboooobboboooon
gbobobuoooobbbuooobbodo

e OO UOOOODODO
e JOUUOOODLDDOOUOODLDDLODOOOODO

e JOUUOOODLDDDOOOO



119

L] [

gbobuogoobbbogoobbboooboobooooboboboooon
gboboudg bbbo bbb oodgbbbbdooduooobbbooaon
goboboboobbobddoougo obb bboboboboboodooooooooon
gbooobbooodgbood
gboboogooboboooobbobuoooobobbuooobbboooon
gbboboobbouooobbbuooooobbbuoooobbbbuooaon
U0 oogo odg obobooooobod
gbbboogobbbbodoooobbbuooooboobbbbuooaob
gbooboooobobboood b 0o obooobboboooobod
gbbobooodgbbboooobbbuooobobbbooobbboooob
oo bobodbbudg ogbobooobuoo bodb obboobboon
god
oo ogbodbuogboooboobdodb bbobo gbouogobo ooo
bbb oobbo d0boooobbboooobobob
gboboogooboboooobbbuoogobbbuoobbboooon
gbobbuoodb oo buodb oo buooobbboooobbo
gboobobooogbbobbodooooboobbbooooobbbuoooon
gbooboodgbbooboboodbbuodob oooob obboobbooobooab
gbhobodbogbobobogbobooboobobooobobogobon
gbobobbouoodg bbooodobb ooodobbbouooo bbbo od
gbooobO obobboodgo ouog bobogooboboago
gbbobooodgbbboogobbbuooobobbbooobbbooaob
gboobouooogbooobobdo oobb oooobboobouoo obbb oOod
gboObO oob oodobobbbdoodabo
gboobobooooboboboooobbobuoooobbbooobbboooon
ODOo00O0o0DbOOo0ooOooo0ooooooooooobooobooooobooO
0000 HUBODODOOOOODO CEOOODOODO Dboboboboboooon
oboboobooboobooboobobboobooboobooboob
gboooooobod



00 120

gobodboogbbbuogbooobuoobboobuoobobooobooobo
Ooboboooooboobobooooobobbooboobo buonooboo O
o0 ooobobooooboon
gbbobooodgbobbooogbbobuoooobbbooobbbooogn
OO000obO0bO0bO0ob0 bobOo obooooMbObDUObDOobObODObDOO O
OO0 oDooobooboooMObDooobooobobooobooboD oooo
gooobooooboon
ggbobbbuoooobbobooobuooobbobooooobobobogoo
gboobooooobbboooobboboooooooobbobbooooon
gbboboogobbboooobbboogdd
goboobobogoboogobboobbooboooboooobboonbon



121

Jooobobood

Ooon

() D DOo0oO0U00OOoO“0000000OD0O00ODOO0DOOOUODOODOO
O00000000"000000000 Vol.24 No.3 pp.183-191 (2000.12)
------ 20030040

(2) 0 000000000 000000000000000007,000
00000000 Vol.20 No.3 pp.274-283 (2003.07)

(3) 0 00000000 “0000000000000000000000
000007, 000000000
(0ooooo)

(4 0 00000000“0000000000000000000000
0000000007, 000000000
(0ooooo)

Odon
(1) Yasuhiko TSUJI, Kanji AKAHORI, Atsuhiro NISHIKATA, “The Es-

timation of Music Genre Using Neural Network and Its Educational
Use”, Proceeding of International Conference on Computers in Educa-
tion(ICCE), pp.158-162, Taiwan (2000.11)

------ 20030040



goooooaon

122

Jooooogood

(1)

0O 0b0obO0ob0obO+«“0b0ob0bOO0obOO0oboDobDOobOOobOoDbOoDbDOoOD
00000000007 The Estimation of Music Genre Using Neural Net-
work and Its Educational UseDO O OO OO0 O 1500000 02pK03
(1999.10)

O 00oooooooboooo“cooooo MIDIDOOOOoOOno
0000000000 DOO0000O0OoDOO0O00On0” The Estimation of
Music Genre of Standart MIDI Files Using Neural Network[d JCET O
000000000 600000012A19a4 (2000.11)

0000000000000 0b000000b00o0oOonag” Devel-
opment of Support System for Drumming Form Improvement O [0 [J

O000O000ooooD-15-4 (2002.3)

00000000 0O“C00bbO0O0o00ooboobDOonoDono” Statistical
Analysys of Drumming FormOOOOO0O0O O OOO0O0OOODOODOOO
0 0 MUS-47-3 (2002.10)

O000O0000O0“000o0oobobObODODbODODODOO0000oooooOOnO
0 07 Development of Drumming Form Recording System with Function

of Recording Play0 0000000000 0OOOD-15-30 (2003.3)

O 0D0DOOo0oOooD«“000oooooDooooDooooOooDoooon
OD0O00O00O0O0DO” Development and Evaluation of Drum Learning
Support System Based on Rhythm and Drumming FormO OO OO O O
00 0000000 (ET)0 A-12 (2003.12)

00000000 DO«“0000000D00DOoDOoDoDOoDOOoDOooon
O00O00000” 0 Improvement of Beginners” Drumming Play by
Expert’s Teaching for Drumming Form, 0000000000000 D-
15-2 (2004.30000)



[]

1]

[11]

[12]

[13]

[]

oboooooobobo oobobobooobD “pit0boobobgoon
OOooOo"0b0obOono19es

ob booobobobo obobooobooooooooswbooon
OOo0obOobob4000000000070 000002000

Kathleen M.Glotti “Cognitive Psychology In and Out of the
Laboratory(pp.164-193)”0 Brooks/Coled 1994

O000obO0 o“0boboo’boboobobobi9sT

OO0 0D00000 O“Obobobobdosoboboo cbsoon”o OO
0001993

o000 “ob0b0obo"0b0o0ob0o0bo0obuoobOgnggs
OOooobD“obboobogoobobie0boboooo’obobOonigsy

oooo«“MIDIDOOOOOOODOOOOOOOooO"0oooboboon
000 0O EA86-8200 1986

OOoo0oooobo “MIDIO MPUD 40170 0000000 410 60 01985

OO0 0o0dob bobooboo“cobooboboooooobobobnr0on
O0Oo0bOob0ObOOnOdVol1s,No.39,pp.27-320 1991

OO0 00000 oob0 “c0o0ob0o0ooboooboboooboooboobon
OO0D07’0038000000000000000O0O0ONo.2,pp.682-6830 1989

o0 oodoob oo o“sbobobobooboboboboboo
ooboooobooooboobrMoboobooooobooooooooro o
ObOoo0bOobbOobO0oO0nOdVol10,No.2,pp.23-3600 1995

00 00000 00000 00000 0000000 “00000000
000000000000 0000000000000007000000
000000000000 540 ,No.2,pp.273-2740 1997

123



00

124

[14]

[15]

[16]
[17]
[18]
[19]
[20]

[21]

[22]

[23]

[24]

[25]

[26]

[27]

28]

o0 00 “WebOOGUOOooooooooobobobo’ooobobooo
0O 000MUS-96-102,15-220 1996

00 00000 00“00000000000007’0000000000
0000000 Vol.13,No.6,pp.21-240 1999

OO0 00O0DOoDbD “0ob0ouoooooroboobOoDiesT
OoboOo“«CcOoobbooboooboobooboorogobooboooonoooa
Oooo“obobOobooooooo’obobooononges
Oooobobooo“0boobooboobobo’0ooogniggd

Ooboo“bc0bobooboboobooboobobooboooroooooboobooon
0000 Vol.39,No.10 1998.7

ooobobobooooobo0 “oooboooooboboobooobooooo
o000’ 0oooooooooobobobbOET-9-500000000
Vol.96,No.500,pp.53-6001 1997

Ooobo0oooboo “cob0obobooboboboboooooboooon
gbooooo"booboooboobbooboboooboooboooo
00001998

ooboooooo“cbooboooboboobboobooobobobooboron
gobobooogbbobuoooobbodd1ggss

gboooooboob “cobobobuoobbuoobbooboooboboooon
gboboboboooboobooboroboobobbo ooboob
b oggoobbobdood booogod2o01

LiMin Fu “Knowledge Discovery Based on Neural Networks” D0 COMMUNI-
CATIONS of the ACM,Volume.42, pp.47-50, Number.11 O 1999

LiMin Fu “Neural Networks in Computer Intelligence”’d McGraw
Hill,NewYork[] 1994

LiMin Fu “A neural network model for learning domain rules based on its ac-
tivation function characteristics”J IEEE transaction on neural networks,9,50
1998

Masako Nishijimal Kazuyuki Watanabe “A neural network model for learn-
ing domain rules based on its activation function characteristics” 0 the Pro-
ceeding of International Computer Music Conferencel] 1992



00

125

[29]

[30]

[31]

[32]

[33]

[34]

[35]

[37]

[38]

[39]

[40]

o0 00000 bobo0 oobob ob“cbobobobooboob
ooboooooboooboooboooooooboooorooobboobo
Obooobobobo0ob 4000 40000 Num.2.pp.199-20000 1992

O00b0oooob0o bobo oo“bboboooboobooboboob
OOobooooboooooorooboooboobooogMUus 26-6,pp-39-440
1998

o0 0bO0oo0o0 obobo obobo obobobo oo “oboobooobob
Ooboobobooboobooo"boboooboobooooboobooOoD 440
0040000 Num.1,pp.401-40200 1992

Hajime Sano,B.Keith Jenkins “A Neural Network Model for Pitch Percep-
tion” 0 Computer Music Journal,Vol.13,No.30 1989

OO0 bO0bO0 ooobo0 o “coboboobooboooooooooon
obooboooboobooob"ocboobOobbOn,Vol.40,No.40 1999

o0 oo0bo obboob oo “coobbuoobboobbooboooo
OOoO0"00D00bO00000OnMUS-33-2,pp.7-140 2000

OO0 bobobobodobD obobo oo “0obooboooooooobooon
oboooobooobooobo’ogobbooobos20b0b008gonog
00000 1-4370 1996

oopoobooobobossbboooboobobobooboboboooooboooro
goboboooobbobuoooobybbooooniggT

00 obobob0o“boboooooooooooobooooboooroo
gbobobobooboobooybobooobolggT

OO0 00ob oooobooo“cobooboobbooboooobooboooo
O07"00b0odboobooboobo0bETODODOOVol.98,Numl183,pp.41-
460 1998

OO0 oooboo“0boob0obooboobooboboooooooboon
gbooboboboobooobor ocbgebilotllono boobooboob
OobDboboBm2000000 p.44-65

oooobo0 0“oob0booboobooboboooooobooboon
OO000D0O0DO0O0’000000000D0O0O0O0OA-15-2701999



00

126

[41]

[42]

[43]

[44]

[46]
[47]
[48]
[49]

[50]

[51]

[52]

[55]

goooobooboobbo “oobboobboobooboboooo
O"000000000000MUS-21,pp.7-120 1997

ooboooooo“gbooboobboobooooboooroooooon
goboboooobb ioodobbodd1ges

o0 0obo0ob oboob bbobob Db “obooboobooborg
OO00O000D0ODO0OMUS-96-53,pp.79-8400 1996

00 00000 00000 ooboobo ob“cboboooooobooon
O0-MAGIC’O 0000000 D0OOO0O0OO0ODOO0ODOO30DoDoOoooog
Num.3,pp.2242-22430 1989

OO0 ooooO0o oooob0o oo boooo bo“CcobOoOoboobo
gbboooobbdooobobbuooobbbooobbooobbobood
OOoooboobooooo"ooobogbooobosoooooryobooboonon
00O 1-3730 1995

Oboob“0b0o0bo0c oobo"bbooboOonneg2

OO0 “0b00o0bo0 oob"bbooboOonnees
Od0O“bbo0boobuoobuobo’obbo—00nb0oonooD199s
Od0O“boobooboobo"bbob—0b0oobggi19gr

Debbie Rohwer, “Effect of Movement Instruction on Steady Beat Perception,
Synchronization, and Performance”, Journal of Research in Music Education,
Vol. 46,n0. 3, pp. 414-424[1 1998

Oooo,0b b0, “bodboboooboboobooobooboboooboon
OO00oooOo” boboboooo, Vol.24,No.3, pp.183-1910 2000

oooo,00 00, 2000000b0o0obo0ooooobobo0oDo
00007, 0000b0000oog, VOL.J85-DI, No.5, pp.484-4880 2002

0000,00 00,000,0000, “0000000000000000
00000007, 00000000,Vol.24,No.3 , pp.153-1600 2000

O000000000000000 DigitEye3D-M100 http://www.kansai-
ri.co.jp/icr/digiteye/

U0 0oDbOobooOo“o0buooboor” bbobbob2o01



00 127

[56] “000000MIDIDOOOODOODOOO HyperGrooved” DO ODOOOO
0001999

57 D000 “000000 000 00000000000 1998

58] 00 O “0O00000000000ODDODOOOO” DOO0OOOO0OOO0O0OO
2001

59) 00 000,00 000, “000000000000000000000
00000000000000” 000000 000000000000
0, MUS-32,pp.17-230 1993



55: {0.20, 0.55, 0.75, 0.875},

56: {0.20, 0.55, 0.675, 0.80},

57: {0.20, 0.490, 0.640, 0.790},

58: {0.20, 0.640, 0.765, 0.880}};

59:

60:

61: static int g_nBius = 149; // 00000 ID
62: static int g_nMiniBius = 141; // 00000 ID
63:

64: // 00ODODODOODODOODOOODO
D D D D D 65: double g_meanSerialEn; // En 000
66: double g_sdSerialEn; // En 0000

67: double g_meanSerialVn; // Vn OO0
68: double g_sdSerialVn; // Vn OOOO

69: double g_meanSerialTn; // Tn OO0
70: double g_sdSerialTn; // Tn OO OO
71:

72: // 00000000

73: double* g_meanEn; // En000
74: double* g_sdEn; // En 0000
75: double* g_meanRn; // Rn 00O
76: double* g_sdRn; // R 0000
77: double* g_meanSn; // sn 000
78: double* g_sdSn; // sn 0000
|:| |:| |:| |:| |:| |:| D |:| |:| |:| |:| |:| |:| |:| 79: double* g_meanTn; // v OO0
80: double* g_sdTn; // v OO0O0O
81: double* g_meanVn; // Ta 000
|:| [:I [:I [:I D D I:] I:] 82: double* g_sdVn; // Tm 0000
83:
84: // yonekawa 000
1: // drumSupportDlg.cpp : 00O OO0ODOOOO O0OOO 85: double* g_meanSHIFT; // logfitting OO 00
2: // 86: double* g_sdSHIFT; // logfitting 00O OO
3: 87:
4: #include "stdafx.h" 88:
5: #include "drumSupport.h" 89: // Event 0D 0OODODO
6: #include "drumSupportDlg.h" 90: struct midiEvent
7: 91: {
8: #ifdef _DEBUG 92: int nCh;
9: #define new DEBUG_NEW 93:  long double dDiffTime;//timestamp
10: #undef THIS_FILE 94: int dAbstime;
11: static char THIS_FILE[] = __FILE__; 95:  time_t eventTime;// timestamp
12: #endif 96: int eventTime_ms;// millisecond
13: 97: // double dDifftime;
14: // ooo 98: int nVelocity;
15: #define PATTERN 8 99: int nNoteNumber;
16: 100: int nNoteOnOff;
17: 101: midiEvent* pNextEvent;
18: // #xxxkkkkrrnnkskkkrx global [ [ sskskkrkkskskskkksnkkkkkk 102: };
19: // MIDI DOOOO 103:
20: HMIDIOUT gs_hMidiOut; 104: // ODO00D0OOO0O0OOOOO
21: HMIDIIN gs_hMidiln; 105: midiEvent *pStart;
22: static MIDIHDR* gs_pMidiHdr; 106: midiEvent *pEnd;
23: static MIDIHDR* gs_pMidiOutHdr; 107: midiEvent *pNow;
24: 108:
25: static CString WAVE_PATH="C:/gibsdata/wave"; // wave 00 109: // EnRn 000000
gooo 110: struct positionForCalc
26: static CString DATA_PATH="C:/gibsdata/subject";// 00000 111: {
oooo 112:  int number;// 00000
27: 113:
28: // 0000 114: // 0000000000000O0O0OOOOOOO0
29: int g_nState; // 00 115: double dStartTime;
30: int g_nClickInterval; // 00000000000 116:  double dEndTime;
31: int g_nVelocity; // 000o0oooooao 117:
32: int g_nTime; // 00 118: // 000000Velocityl
33: bool g_is_start; // 00000000000000 119:  int nVelocity;
34: int g_nError; 120:
35: bool g_bIsAfter; // 000000000000000000o0o 121: // 00
122: double *dTime;
36: 123:  // 000
37: // 0000000 DigitEye 000000 124:  int *nLabel;
38: static double g_dOffset = 0.06435; 125: // 1000000000
39: 126: int *posi_x;
40: // 00000OOOOOOOOOOOOOOOOOOOOOOO0 127:  int *posi_y;
41: static int g_nExtendWidth = 5; 128: int *posi_z;
42: 129:
43: int g_tempo; // 000 130:  int mData;// 00000 DO...990
44: int g_nOtehonBar = 2; // 00000ooooo 131:
45: int g_nNotePerBar = 2; // 100000000000 132:  positionForCalc* pNext;
46: int g_nPerformTime[PATTERN]; // 000000000 oO700 133: };
ooooooo 134: // 0D0O0D0O0ODO
47: 135: positionForCalc* p_calcStart=NULL;
48: bool *g_accent; // 00000 136: positionForCalc* p_calcEnd=NULL;
49: bool g_setAccent[4] = {0,1,0,1}; // ODO00OOO0ODOOOOO 137: positionForCalc* p_calcNow=NULL;
ooo 138:
50: static double g_rateAccent[8][4] = { 139: // OOOOOOO
51: {0.20, 0.725, 0, 0}, 140: struct BarLine
52: {0.20, 0.695, 0.845, 0}, 141: {
53: {0.20, 0.515, 0.775, 0}, 142: // n000

54: {0.20, 0.575, 0.785, 0}, 143: int number;
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144: // 000000000OOOO

145: double* dTime;

146: // 000000O0OOOO

147: double* dDiffTime;

148: // 0000000OOOOOOOOOOO

149: positionForCalc **pNote;

150: // 0000O0OOOO

151: double* dRelativeTime;

152: // 000000 En

1563: double* En;

164: // 00 RMSOODOODOO yOoOoo

1565: double* Rn;

i166: // 0000000000 yOoOodod

157: double* Sn;

168: // 00000 Tn

159: doublex Tn;

160:

161: BarLine* pNextBar;

162: };

163: // 0000000

164: BarLine* p_barStart=NULL;

165: BarLine* p_barEnd=NULL;

166: BarLine* p_barNow=NULL;

167:

168: // 0000000000

169: double * g_dTemplateNotes;

170:

i71: // 00O

172: CString g_strRes;

173:

174: [/ sxxskkkskkkrkkkskkksk Callback functions skskskskskskskoskkskkkkk
175: // MIDI OODO

176: void CALLBACK MidiInProc(HMIDIIN, UINT, DWORD, DWORD, DWORD);
177: // SetTimer 0O 0

178: void CALLBACK EXPORT MyTimerProc(

179: HWND, // SetTimer 000000 Cwnd O 0OOO0O
180: UINT, // WM_TIMER

181: UINT, // 000 000

182: DWORD // 0000 00

183: );

184:

185:

186: /////111711177717177177171111771117717177111177111771117
111111711117111177117

187: // 0000000000DO0O00O0000O00O0O000 CAboutDlg O
oooo

188:

189: class CAboutDlg : public CDialog

190: {

191: public:

192:  CAboutDlg();

193:

194: // 00000 OO0

195:  //{{AFX_DATA(CAboutDlg)

196: enum { IDD = IDD_ABOUTBOX };

197:  //}}AFX_DATA

198:

199: // ClassWizard 00 00000000000000000
200:  //{{AFX_VIRTUAL(CAboutDlg)

201: protected:

202: virtual void DoDataExchange(CDataExchange* pDX);
// DDX/DDV 00000

203:  //}}AFX_VIRTUAL

204:

205: // ODOOOOOOOOOO

206: protected:

207:  //{{AFX_MSG(CAboutDlg)

208:  //}}AFX_MSG

209: DECLARE_MESSAGE_MAP ()

210: };

211:

212: CAboutDlg::CAboutDlg() : CDialog(CAboutDlg::IDD)
213: {

214:  //{{AFX_DATA_INIT(CAboutDlg)

215:  //}}AFX_DATA_INIT

216: }

217:

218: void CAboutDlg::DoDataExchange (CDataExchange* pDX)
219: {

220: CDialog: :DoDataExchange (pDX) ;

221:  //{{AFX_DATA_MAP(CAboutDlg)

222:  //}}AFX_DATA_MAP

223: }

224:

225: BEGIN_MESSAGE_MAP(CAboutDlg, CDialog)

226:  //{{AFX_MSG_MAP(CAboutDlg)

227: // 00000 OD000O0Ooooooo

228:  //}}YAFX_MSG_MAP

229: END_MESSAGE_MAP()

230:
23L: //111117777717177777117177177117117117177117117117777717

I111111111111111111117

129

232: // CRecordPlayMidiDlg OO O DO

233:

234: CRecordPlayMidiDlg::CRecordPlayMidiDlg(CWnd* pParent
/*=NULL*/)

235: : CDialog(CRecordPlayMidiDlg::IDD, pParent)

236: {

237:  //{{AFX_DATA_INIT(CRecordPlayMidiDlg)

238: m_strRes = _T("");

239: m_nTestSec = 0;

240: m_sUserName = _T("");

241: m_nSelectedPattern = 0;

242: m_nPerformTime = 0;

243:  //}}YAFX_DATA_INIT

244: // O0: LoadIcon O Win32 [ DestroyIcon DO OOODDDODO
oooooooo

245: m_hIcon = AfxGetApp()->LoadIcon(IDR_MAINFRAME) ;
246: }

247:

248: void CRecordPlayMidiDlg::DoDataExchange (CDataExchange* pDX)
249: {

250: CDialog: :DoDataExchange (pDX) ;

261:  //{{AFX_DATA_MAP(CRecordPlayMidiDlg)

252: DDX_Control(pDX, IDC_STROKE, m_ctrlStroke);

253: DDX_Control(pDX, IDC_YOUR, m_ctrlYour);

254: DDX_Control (pDX, IDC_CORRECT, m_ctrlCorrect);
255: DDX_Control(pDX, IDC_BAR, m_barCtrl);

256: DDX_Control (pDX, IDC_STATIC_TEXT, m_ctrlstrRes);
257: DDX_Text (pDX, IDC_STATIC_TEXT, m_strRes);

258: DDX_Text(pDX, IDC_TEST_SEC, m_nTestSec);

259:  DDV_MinMaxInt(pDX, m_nTestSec, 0, 300);

260: DDX_Text (pDX, IDC_USERNAME, m_sUserName) ;

261:  DDV_MaxChars(pDX, m_sUserName, 20)

262: DDX_Text (pDX, IDC_SELECTED, m_nSelectedPattern);
263: DDV_MinMaxInt (pDX, m_nSelectedPattern, 1, 8);
264: DDX_Text (pDX, IDC_PERFORM_TIME, m_nPerformTime);
265: DDV_MinMaxInt (pDX, m_nPerformTime, O, 10);

266:  //}}AFX_DATA_MAP

267: }

268:

269: BEGIN_MESSAGE_MAP(CRecordPlayMidiDlg, CDialog)
270:  //{{AFX_MSG_MAP(CRecordPlayMidiDlg)

271:  ON_WM_SYSCOMMAND ()

272:  ON_WM_PAINT()

273: ON_WM_QUERYDRAGICON()

274: ON_BN_CLICKED (IDC_TEMPO_PLAY, OnTempoPlay)

275:  ON_WM_TIMER(Q)

276: ON_BN_CLICKED(IDC_PLAY, OnPlay)

277: ON_MESSAGE(WM_DE_REAL, OnReal)// DigitEye

278: ON_BN_CLICKED(IDC_BUTTON_TEST, OnButtonTest)
279: ON_BN_CLICKED(IDC_MINI5, OnRhythm5)

280:  ON_BN_CLICKED(IDC_MINI6, OnRhythm6)

281:  ON_BN_CLICKED(IDC_MINI7, OnRhythm7)

282:  ON_BN_CLICKED(IDC_MINI1, OnRhythm1)

283:  ON_BN_CLICKED(IDC_MINI2, OnRhythm2)

284:  ON_BN_CLICKED(IDC_MINI3, OnRhythm3)

285: ON_BN_CLICKED(IDC_MINI4, OnRhythm4)

286: ON_BN_CLICKED(IDC_MINI8, OnRhythm8)

287: ON_BN_CLICKED(IDC_BAR_ADVICE, OnBarAdvice)

288: ON_BN_CLICKED(IDC_FORM_ADVICE, OnFormAdvice)
289: ON_BN_CLICKED(IDC_VELO_ADVICE, OnVeloAdvice)
290: ON_BN_CLICKED (IDC_PUT_ACCENT, OnPutAccent)

291:  //}Y}AFX_MSG_MAP

292: END_MESSAGE_MAP ()

293:

294: ///11111117771117771177111777177771777777177111777117777

111711711111111711117

295: // CRecordPlayMidiDlg OO OO0 OOODO

296:

297: BOOL CRecordPlayMidiDlg::OnInitDialog()

298: {

299:  CDialog::0nInitDialog();

300:

301: // "0000000...» 00000000000 OOOOOOO
oooo

302:

303: // IDM_ABOUTBOX OO 000 O0OO00O0O0O0O0O0O0O0O0ODOODO
oo

304:  ASSERT((IDM_ABOUTBOX & OxFFFO) == IDM_ABOUTBOX);

305: ASSERT (IDM_ABOUTBOX < 0xF000) ;

306:

307: CMenu* pSysMenu = GetSystemMenu(FALSE) ;

308: if (pSysMenu != NULL)

309: {

310: CString strAboutMenu;

311: strAboutMenu.LoadString (IDS_ABOUTBOX) ;

312: if (!strAboutMenu.IsEmpty())
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313: {

314: pSysMenu->AppendMenu (MF_SEPARATOR) ;

315: pSysMenu->AppendMenu (MF_STRING, IDM_ABOUTBOX,
strAboutMenu) ;

316:

317: ¥

318:

319: // 00000O00O0DOO0O0OOOOOO0O0OO0DOO0O0DOOO0OO0DOOO0
oooooooooo

320: // 0000000O0OCOOOOOOOOOOOOOOOOO0O0
321: SetIcon(m_hIcon, TRUE); // 00000O0ooOoo
322: SetIcon(m_hIcon, FALSE); // 0000000oooo
323:

324: // TODO: ODOO0OO0DOOOOOOOOOO0OOOOOOO0OOO0
325: // wavePlay(WAVE_PATH + "/bunsekisiteimasu.wav");
326: // exit(0);

327:

328: g_nState = IDLE;

329: g_is_start = false;

330: initMidiIn(0);

331: initMidiOut ) ;

332: m_nTestSec = 60;// default 10[sec]

333: m_sUserName = "";

334: g_bIsAfter=0;

335: m_isSetAccent=0;

336:

337: // 00000000 o...00 1...00 2...0000
338: m_nAccentMode=1;

339:

340: UpdateData(false);

341:

342: // 000000

343: {

344: int i;

345: for(i=0;i<PATTERN;i++)

346: {

347: g_nPerformTime[i]=1;

348: }

349: m_nPerformTime = 1;

350:

351: // default O 90[bpm] 00000

352: static int first = 1;

353:  if(first)

354: {

355: first=0;

356: // 90BPM

357: CButton* radio90=(CButton*)GetDlgItem(IDC_TEMPO90_BIG) ;
358: radio90->SetCheck(1);

359: g_tempo=90;

360: g_nVelocity=63;

361:

362: // 0000000 1000000

363: m_nSelectedPattern = 1;

364: UpdateData(false);

365: g_nNotePerBar = 2;

366: g_dTemplateNotes = new double[g_nNotePerBar];
367: g_dTemplateNotes[0] = 0.75;

368: g_dTemplateNotes[1] = 0.25;

369: // 0000

370: printBarPict();

371: drawCorrectLength();// 000000

372:  }

373:

374:

375: // DigitEye3D 00000

376: //==>>

377: int i;

378:

379: m_is_real = false;

380: m_is_rec = false;

381: for(i = 0 ; i < 4 ; i++)

382: m_dx[i] = m_dy[i] = m_dz[i] = 0;

383:

384: //000000O0OOOOOODO

385: {

386: m_rec.idx = 0;

387: m_rec.cycl = 0;

388:

389:

390: //0000000 (coMm) O00O0O0DOOO0O0O0O00O0O0OOOOOO

goooo0ooboOooooOoooOooboOoOoooo

391: //000000000000000000000000

392: if (eye.open(1, "./DE-1-129.tbl", this->m_hWnd, DE_ALLCH |
DE_REAL | DE_NEEDSTATMSG) == TRUE)

393: {

394: //00

395: m_is_real = true;

396: //0000000000

397: eye.start();

398:
399:

}

else

400:

401:
402:
403:

//00
m_is_real = false;
MessageBox("O OO O0O0O0O0O0OOOOOOOOOOOOON,

"Load", MB_OK);

404: eye.close();

405: exit(0);

406: }

407: //<<==

408: // MessageBox("OnInitDialog 000 0O0O00O0OOO", "Load",
MB_OK) ;

409:

410: return TRUE; // TRUE O00O00000000OO0O0OOOOOO
oo
ooooooo

411: }

412:

413: void CRecordPlayMidiDlg::0nSysCommand (UINT nID, LPARAM 1Param)

414: {

415: if ((nID & OxFFFO) == IDM_ABOUTBOX)

416: {

417: CAboutDlg dlgAbout;

418: dlgAbout.DoModal () ;

419: }

420: else

421:  {

422: CDialog: :OnSysCommand (nID, 1Param);

423: }

424: }

425:

426: // 000000000000 0OO0OO0O0OO0O0OO0OOQOOOODOOOO
goooo

427: // 00000000000 COO0OO0OCOOOMFC DOODOOOODO
document/view

428: // 0000000000000 OOOOODOODOODOOOOOOO
goooooo

429:

430: void CRecordPlayMidiDlg::0OnPaint ()

431: {

432:  if (IsIconic())

433: {

434: CPaintDC dc(this); // 00000000 0DOOOOO

435:

436: SendMessage (WM_ICONERASEBKGND, (WPARAM) dc.GetSafeHdc(),
0);

437:

438: // 000000000000000

439: int cxIcon = GetSystemMetrics(SM_CXICUN);

440: int cyIcon = GetSystemMetrics(SM_CYICON);

441: CRect rect;

442: GetClientRect (&rect);

443: int x = (rect.Width() - cxIcon + 1) / 2;

444: int y = (rect.Height() - cylIcon + 1) / 2;

445:

446: // 00000000000

447: dc.DrawIcon(x, y, m_hIcon);

448: ¥

449: else

450: {

451: CDialog: :0nPaint () ;

452:

453: // ---0000000

454: printBarPict();

455: // ---00000000

456: if (m_isSetAccent==1)

457: {

458: drawAccent () ;

459: ¥

460: // -—--000000000000

461: drawCorrectLength() ;

462: // ---0000000

463: if (g_bIsAfter==1)

464: {

465: drawYourLength() ;

466: drawStrokeError();

467: drawVelocity();

468: }

469: }

470: }

471:

472: // 000000000000 OOOOOOOOOOOOODOOOOO

473: // 0000000O0O0OOO0OOOOOOOOOO0

474: HCURSOR CRecordPlayMidiDlg::OnQueryDragIcon()

475: {

476: return (HCURSOR) m_hIcon;

477: }

478:
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479: / 558:
ok okok ok ok ok ok ok ok ok ok ok 559:
480: *x FUNCTION : OMIDI OO OOOOD 560: // MIDI OO
481: ** : 561: int CRecordPlayMidiDlg::initMidiOut ()
482: 562: {
HHARHAAAAAAAAK | 563:  char tmp[100]="";
483: int CRecordPlayMidiDlg::initMidiIn(int nInDevNo) 564:  char buf[1000]="";
484: { 565: int nn,i;
485: int i; 566: MMRESULT mmRes;
486: int nDevNum; 567: MIDIOUTCAPS moCaps;
487: int nKeyNo; 568:
488: int nErr = 0; 569:
489: MMRESULT mmRes; 570: nn = midiOutGetNumDevs() ;
490: MIDIINCAPS miCaps; 571: sprintf(tmp, "MIDI O0000OOO0OOO % OO0O0O\r\n", nn);
491:  char tmp[255]; 572: m_strRes+=tmp;
492: 573:
493: /* 000000000 =/ 574: if(nn == 0)
494:  nDevNum = midiInGetNumDevs() ; 575: {
495: sprintf (tmp, "MIDI OO0OOOODO0DOO %d OO0 \r\n", nDevNum); 576: sprintf (tmp,"midi 00000000000 \r\n");
496: m_strRes+=tmp; B77: m_strRes += tmp;
497: 578: return NG;
498: for (i=0; i<nDevNum; i++) 579: ¥
499: { 580:
500: midiInGetDevCaps(i, &miCaps, sizeof(miCaps)); 581: for (i=0; i<nn; i++) {
501: sprintf(tmp, " O0OOOO0O % : %s\r\n", i, miCaps. 582: midiOutGetDevCaps (i, &moCaps, sizeof (moCaps));
szPname) ; 583: sprintf(tmp, " 000000 %d : %s\r\n", i, moCaps.
502: m_strRes+=tmp; szPname) ;
503: ¥ 584: m_strRes += tmp;
504: 585: }
505: if (nInDevNo>=0 && nInDevNo<nDevNum) 586:
506: { 587:  UpdateData(FALSE);
507: sprintf(tmp, "O0000000 MIDI OOO0O ==> %d\r\n 588:
\r\n", nInDevNo); 589: sprintf(tmp, "0000000 MIDI OOO0OO ==> %d\r\n\r\n",
508: m_strRes+=tmp; MIDI_DTX);
509: nKeyNo = nInDevNo; 590: m_strRes += tmp;
510: 3 591:  UpdateData(FALSE);
511: else { 592:
512: 593: // DTX 0 00O
513: /* 000000000 */ 594: mmRes = midiOutOpen(&gs_hMidiOut, MIDI_DTX, 0, 0, 0);
514: fflush(stdin); 595:
515: 596:
516: nKeyNo = 0; 597: if (mmRes == MMSYSERR_NOERROR) {
517: sprintf(tmp, "OOODOO0 MIDI 0000 ==> %d\r\n 598: mmRes = midiOutReset(gs_hMidiOut);
\r\n", nKeyNo); 599:
518: m_strRes+=tmp; 600: /+* MIDIHDR 0 0000000000000 =/
519: } 601: gs_pMidiOutHdr = (MIDIHDR *)HeapAlloc(GetProcessHeap(),
520: HEAP_ZERO_MEMORY, sizeof (MIDIHDR));
521: mmRes = midiInOpen(&gs_hMidiIn, nKeyNo, (DWORD)MidiInProc, 602: if (gs_pMidiOutHdr) {
(DWORD)NULL, CALLBACK_FUNCTION); 603: gs_pMidiOutHdr->1pData =

522: if (mmRes MMSYSERR_NOERROR) { (char *)HeapAlloc (GetProcessHeap() , HEAP_ZERO_MEMORY, 1024L);
523: mmRes = midiInReset(gs_hMidiIn); 604: gs_pMidiOutHdr->dwBufferLength = 1024L;
524: 605:
525: /* MIDIHDR 00 000000000000 */ 606: else {
526: gs_pMidiHdr = (MIDIHDR #*)HeapAlloc(GetProcessHeap(), 607: MessageBox ("ERROR: HeapAlloc OO O");
HEAP_ZERO_MEMORY, sizeof (MIDIHDR)); 608: return NG;
527: if (gs_pMidiHdr) 609:
528: { 610: ¥
529: gs_pMidiHdr->1lpData = 611: else
(char *)HeapAlloc(GetProcessHeap(), HEAP_ZERO_MEMORY, 1024L); 612: {
530: gs_pMidiHdr->dwBufferLength = 1024L; 613: sprintf (tmp,"000000000\r\n");
531: 614: m_strRes += tmp;
532: else 615: UpdateData (FALSE) ;
533: { 616: }
534: sprintf (tmp, "ERROR: HeapAlloc [0 O[O \r\n"); 617:
535: m_strRes+=tmp; 618: if (mmRes == MMSYSERR_NOERROR)
536: return NG; 619: {
B37: } 620: mmRes = midiOutPrepareHeader(gs_hMidiOut, gs_pMidiOutHdr,
538: nErr = 1; sizeof (MIDIHDR)) ;
639: } 621:
540: 622:
541:  if (mmRes == MMSYSERR_NOERROR) { 623:
542: mmRes = midiInPrepareHeader(gs_hMidiIn, gs_pMidiHdr, 624: if (mmRes != MMSYSERR_NOERROR)
sizeof (MIDIHDR)) ; 625: {
543: } 626: sprintf (tmp,"MIDI 00 0000000000O0OOOOOO
544: if (mmRes == MMSYSERR_NOERROR) { 0000000000O0N\r\n");
545: mmRes = midiInAddBuffer(gs_hMidilIn, gs_pMidiHdr, 627: MessageBox (tmp) ;
sizeof (MIDIHDR)) ; 628: return NG;
546: } 629:
547: if (mmRes == MMSYSERR_NOERROR) { 630: else
548: mmRes = midiInStart(gs_hMidilIn); 631: {
549: } 632: sprintf (tmp, "midiOutPrepareHeader [ : mmRes=%d\r\n",
550: mmRes) ;
551: if (mmRes != MMSYSERR_NOERROR) { 633: m_strRes += tmp;
552: g_nError = mmRes; 634: UpdateData (FALSE) ;
553: return NG; 635: }
554: } 636:
555: 637: return OK;
556: return 0K; 638: }
557: } 639:
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640: void CRecordPlayMidiDlg::0nOK()
641: {

642: // TODO: 0ODODOOOOODODOD0ODODOD0O0O0000000000
643:  MMRESULT ret;

644:

645:

646: // 000000000

647:  while(pStart!=NULL)

648: {

649: pNow=pStart;

650: pStart=pStart->pNextEvent;
651: delete (pNow) ;

652: }

653: pEnd = pStart;

654: while(p_calcStart!=NULL)

655: {

656: p_calcNow=p_calcStart;

657: p_calcStart=p_calcStart->pNext;
658: // 00000000

659: delete(p_calcNow->dTime) ;

660: delete(p_calcNow->nLabel) ;
661: delete(p_calcNow->posi_x);
662: delete(p_calcNow->posi_y);
663: delete(p_calcNow->posi_z);
664: // 00000

665: delete(p_calcNow);

666: ¥

667:

668: {

669: int count=0;

670:

671: p_calcEnd = p_calcStart;

672: while(p_barStart!=NULL)

673: {

674: p_barNow=p_barStart;

675: p_barStart=p_barStart->pNextBar;
676: // 00000000

677: delete(p_barNow->dTime) ;
678: delete(p_barNow->Rn);

679: delete(p_barNow->Sn) ;

680: delete(p_barNow->dDiffTime) ;
681: delete(p_barNow->dRelativeTime) ;
682: if (count > 0)

683: {

684: delete(p_barNow->En) ;

685: delete(p_barNow->Tn) ;

686: ¥

687: // 00000

688: delete(p_barNow) ;

689: count++;

690: }

691: p_barEnd = p_barStart;

692: }

693:

694: midiOutUnprepareHeader (gs_hMidiOut, gs_pMidiOutHdr,
sizeof (MIDIHDR)) ;

695:  HeapFree(GetProcessHeap(),0,gs_pMidiOutHdr->1pData) ;
696:  HeapFree(GetProcessHeap(),0,gs_pMidiOutHdr)
697:

698: ret = midiOutReset(gs_hMidiOut);
699: ret = midiOutClose(gs_hMidiOut);
700: ret = midiInReset(gs_hMidiIn);
701: ret = midiInClose(gs_hMidilIn);
702:

703:  CDialog::0n0K();

704: }

705:

706: VOID CALLBACK MidiInProc

707: (

708: HMIDIIN hMidiIn,

709:  UINT uMsg,

710: DWORD dwInstance,

T11: DWORD dwParal,

712: DWORD dwPara2

713: )

714: {

715 BYTE bytStatus;

716: char tmp[256];

717 time_t now;

718: struct _timeb timebuffer;

719:

720:  time(&now);

721: _ftime(&timebuffer);

722:

723: switch (g_nState)

724:  {

725 /7 wxxkxkkrronkx OO0 00000 sxkkskkkrrnksss
726: case TESTING:

727 case RECORDING:

728:

729: switch (uMsg)

730: {

731: /+ 0000000000000 =/

732: case MIM_DATA:

733: case MIM_ERROR:

734: bytStatus = LOBYTE(LOWORD(dwParal));

735: if (bytStatus < 0xf8)

736: { ,»x00000000000000000000 */

737: if (LOBYTE (HIWORD (dwParal)) > 0 &&
g_nTime < 0)

738: {

739: g_nTime = 0;

740: }

741: if (g_is_start == false)

742: {

743: g_is_start = true;

744: }

745:

746: // MIDI Event 00

TAT: if (LOBYTE (HIWORD (dwPara1)) > 0)

748: {

749: pNow = new midiEvent;

750: pNow->pNextEvent = NULL;

751: pNow->dAbstime = g_nTime;

752: pNow->nCh = LOBYTE(LOWORD(dwParail)) % 16;

753: pNow->nNoteNumber = HIBYTE(LOWORD(dwParal));

754: pNow->eventTime=now;

755: pNow->eventTime_ms=timebuffer.millitm;

756: // Note on or Note off

757: if (LOBYTE (HIWORD (dwParal1)) == 0)

758: {

759: pNow->nNoteOnOff = 0;

760: pNow->nVelocity = 0;

761: }

762: else

763: {

764: pNow->nNoteOn0ff = 0;

765: pNow->nVelocity = LOBYTE(HIWORD(dwParal));

766: }

767: // 000000000

768: if (pStart == NULL && pEnd == NULL)

769: {

770: // 0000

771: pNow->dDiffTime = O;

772:

773: pStart = pNow;

T74: pEnd = pNow;

775: ¥

776: else if(pStart != NULL && pEnd != NULL)

777 {

778: // 0000

779: pNow->dDiffTime =

(double)now - (double)pStart->eventTime +
(double)pNow->eventTime_ms / 1000 -
(double)pStart->eventTime_ms / 1000;

780:

781: pEnd->pNextEvent=pNow;

782: pEnd=pEnd->pNextEvent;

783:

784: else

785: {

786: g_strRes += "MIDI Error.\r\n";

787: s

788: }

789: }

790: break;

791:

792: case MIM_LONGDATA:

793: fprintf (stdout, "MIDI Event: MIM_LONGDATA\r\n");

794: break;

795:

796: case MIM_OPEN:

797: sprintf (tmp, "MIDI Event: Short Message: %x %x %x\r\n",
LOBYTE(LOWORD (dwParal)),

798: HIBYTE(LOWORD (dwParal)), LOBYTE(HIWORD(dwParal)) )

799: g_strRes += tmp;

800: break;

801:

802: case MIM_CLOSE:

803: fprintf (stdout, "MIDI Event: MIM_CLOSE\r\n");

804: break;

805:

806: case MIM_LONGERROR:

807: fprintf (stdout, "MIDI Event: MIM_LONGERROR\r\n");

808: break;

809:

810: case MIM_MOREDATA:

811: fprintf (stdout, "MIDI Event: MIM_MOREDATA\r\n");
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812: break;

813:

814: default:

815: break;

816:

817: break;

818:

819: [/ Fkxkkxkckkkokkk [0 00 0 sskokkskokkorokkorokkk
820: case CLICKING:

821: break;

822:

823: default:

824: break;

825: }

826: }

827:

828: void CRecordPlayMidiDlg::OnTempoPlay ()

829: {

830: // TODO: 000000000000 O0D0O0000000000O0
ooooo

831: UpdateData(TRUE) ;

832:

833:  CButton* tempo90big=(CButton)GetDlgItem(

IDC_TEMP090_BIG) ;

834:  CButton* tempol20big=(CButton)GetDlgItem(
IDC_TEMP0120_BIG);

835:

836:  if(g_nState == IDLE)

837: {

838: if (tempo90big->GetCheck()) {g_tempo=90;

g_nVelocity=63;}

839: if (tempo120big->GetCheck()) {g_tempo=120;
g_nVelocity=63;}

840:

841: g_nState = CLICKING;

842: g_nClickInterval = getInterval(g_tempo);
843:

844: // 000000000

845: CButton* metro=(CButton*)GetDlgItem(IDC_TEMPO_PLAY);
846: metro->SetWindowText ("&0 00O ");

847: // 000000000000

848: CButton* kaishi=(CButton*)GetDlgItem(IDC_BUTTON_TEST);
849: kaishi->EnableWindow(false) ;

850: // 000000000000000DOO0

851: enableRhythmButton(false);

852:

853: m_strRes.Format ("Clicking...\r\n");

854: UpdateData(FALSE) ;

855:

856: g_nTime = 0;

857: SetTimer (ID_CLICK_TIMER,10,NULL);

858: }

859: else if(g_nState == CLICKING)

860: {

861: KillTimer (ID_CLICK_TIMER);

862: g_nState = IDLE;

863:

864: // 000000000

865: CButton* metro=(CButton*)GetDlgItem(IDC_TEMPO_PLAY);
866: metro->SetWindowText("&¢0 00D OOO");

867: // 00000000000

868: CButton* kaishi=(CButton*)GetDlgItem(IDC_BUTTON_TEST);
869: kaishi->EnableWindow(true);

870: // 0000000000000000

871: enableRhythmButton(true) ;

872:

873: m_strRes.Format ("Stopped.\r\n");

874: UpdateData(FALSE) ;

875: }

876: else

877: {

878: MessageBox("fatal error.");

879: }

880:

881: }

882:

883: int CRecordPlayMidiDlg::getInterval(int tempo)
884: {

885: return (60 * 1000 / tempo);

886: }

887:

888: void CRecordPlayMidiDlg::0nTimer (UINT nIDEvent)
889: {

890: // TODO: 0000000000 ODOO0OOoOoOooOoOoooooo
go00o0oooooo0o0ooooooooo

891:

892: MMRESULT ret;

893:  DWORD dwMsgl,dwMsg2_4;

894: DWORD dwMsgl_off,dwMsg2_4_off;

895: char tmp[100];

896:

897:  dwMsgl = 0x7F2599;

898: dwMsgl_off = 0x002599;

899: dwMsg2_4 = 0x7F2599;

900: dwMsg2_4_off = 0x002599;

901:

902:  if(nIDEvent == ID_CLICK_TIMER)

903: {

904: // 0000

905: g_nTime = g _nTime + 10;

906:

907: duMsgl = (g_nVelocity << 16) + 0x2599;// 0000

908: // dwMsgl = (g_nVelocity << 16) + 0x1£99;// 00D OO

909: // 000000000000

910: if (g_nTime >= g_nClickInterval)

911: {

912: ret = midiOutShortMsg(gs_hMidiOut, dwMsgl);

913: g_nTime = 0;

914: // ret = midiOutShortMsg(gs_hMidiOut, dwMsgl_off);

915: }

916: }

917:  else if (nIDEvent == ID_REC_TIMER |
nIDEvent == ID_TEST_TIMER)

918: {

919: // 0000

920: if (g_nTime >= 0)

921: {

922: g_nTime = g _nTime + 1;

923: ¥

924: if(g_strRes != "")

925: {

926: m_strRes += g_strRes;

927: g_strRes = "";

928: UpdateData(FALSE) ;

929: }

930: }

931:  else if(nIDEvent == ID_PLAY_TIMER)

932: {

933: // 0000

934: g_nTime = g_nTime + 1;

935: if (pNow == NULL)

936: {

937: KillTimer (ID_PLAY_TIMER) ;

938: g_nState = IDLE;

939: m_strRes += "playing finished\r\n";

940: UpdateData (FALSE) ;

941: if(g_strRes != "")

942: {

943: m_strRes += g_strRes;

944: g_strRes = "";

945: UpdateData (FALSE) ;

946: }

947:

948: else if(g_nTime > pNow->dAbstime)

949:

950: dwMsgl = (pNow->nVelocity << 16) +

(pNow->nNoteNumber << 8) + (9 << 4) + pNow->nCh;

951: ret = midiOutShortMsg(gs_hMidiOut, dwMsgl);
952:

953: sprintf (tmp,"%d %d\r\n",pNow->eventTime,
pNow->eventTime_ms) ;

954:

955: pNow = pNow->pNextEvent;

956: m_strRes += tmp;

957: UpdateData(FALSE) ;

958: if(g_strRes != "")

959: {

960: m_strRes += g_strRes;

961: g_strRes = H

962: UpdateData (FALSE) ;

963:

964: }

965: }

966:

967: CDialog: :OnTimer (nIDEvent) ;

968: }

969:

970: int CRecordPlayMidiDlg::addStrRes(CString tmp)
971: {

972: m_strRes += tmp;

973:

974: return 1;

976: }

976:

977: void CRecordPlayMidiDlg::0OnPlay()

978: {

979: // TODO: 000D DO0O0O0ODOOOO0DODOOOOOODOOOODO
ooooo

133



U0 0do0oobog

980:  if(g_nState == IDLE)

981

982: g_nState = PLAYING;

983:

984: if (pStart != NULL)

985: {

986: m_strRes.Format ("Playing...\r\n");
987: UpdateData (FALSE) ;

988:

989: pNow=pStart;

990: g_nTime = 0;

991: SetTimer (ID_PLAY_TIMER,10,NULL);
992: }

993: else

994: {

995: m_strRes.Format("no play data.\r\n");
996: }

997:

998:

999 else if(g_nState == CLICKING)

1000:  {

1001 KillTimer (ID_CLICK_TIMER);

1002 g_nState = IDLE;

1003: m_strRes.Format ("It’s clicking now.\r\n
So stopped.\r\n");

1004: UpdateData(FALSE) ;

1005:  }

1006: else if(g_nState == RECORDING)

1007:  {

1008: // 0000

1009: KillTimer (ID_REC_TIMER) ;

1010: m_strRes.Format ("recording stopped.\r\n");
1011: g_nState = IDLE;

1012: UpdateData(FALSE) ;

1013:  }

1014:  else if(g_nState == PLAYING)

1015:

1016: // 0000

1017: KillTimer (ID_PLAY_TIMER);

1018 m_strRes.Format ("Playing stopped.\r\n");
1019 g_nState = IDLE;

1020: UpdateData (FALSE) ;

1021

1022 else

1023 {

1024 MessageBox("fatal error.");

1025 ¥

1026: }

1027

1028

1029: //WM_DE_REAL 0000000000000
1030: void CRecordPlayMidiDlg::0OnReal (WPARAM wParam,
LPARAM 1Param)

1031: {

1032: int ch, x, y, z;

1033: struct _timeb now;

1034: time_t tmptime;

1035: int tmpms;

1036:

1037: _ftime(&now);

1038

1039 tmptime=now.time;

1040: tmpms=now.millitm;

1041:

1042: //0000000000000O00000000
1043: //0000000000000000000
1044: (/0000000000 (0, 0, 0) OO
1045: // 0O00O0O0O0OO

1046: // 00000000

1047: // 000000OO0OOOO

1048: ch = DE_CH(wParam, 1Param) 7% 4;

1049: x = DE_REALX(wParam, 1Param);

1050: y = DE_REALY(wParam, lParam);

1051 z = DE_REALZ(wParam, lParam);

1052:

1053:  m_dx[ch] = x;

1054: m_dylch] = y;

1055 m_dz[ch] = z;

1056 m_eventTime [ch]=tmptime;

1057 m_eventTime_ms [ch]=tmpms;

1058

1059 if(m_is_rec && g_is_start == TRUE && ch == 3)
1060 recording() ;

1061: }

1062

1063: void CRecordPlayMidiDlg::OnButtonTest ()
1064: {

1065 // TODO: 0000000000000 D0O0000O000000O0
ooooo

1069:  UpdateData(TRUE);// 00000 DOOO00DO 00O OTRUED

1071:
IDC_TEMP
1072:

1073:  if (tempo90big->GetCheck()) {g_tempo=90;}
1074:  if (tempol20big->GetCheck()) {g_tempo=120;}
1075:

1076: if (g_nState == IDLE)

1077:  {

1078: // 0000

1079: if('m_is_rec)

1080: {

1081: // 00000000000

1082: if (m_nTestSec <= 0 || m_nTestSec > 300)
1083: {

1084: MessageBox("O OO 0-300 00000000
ooooo"

1085: return;

1086: }

1087: // 00000000

1088: if (m_sUserName == ""

1089: {

1090: MessageBox ("0 OO OO0O0OOO0OOO0OOM";
1091 return;

1092 }

1093 else

1094: {

1095: // 000000000000000ved
1096: sprintf (1folder,"%s/%s", DATA_PATH,
m_sUserName) ;

1097: if (1IsExistFile(1folder,true))
1098: {

1099: if (!CreateDirectory(1folder,NULL))
1100: {

1101: MessageBox ("0 00000 OOOOOO
oooooooom;

1102: return;

1103:

1104: }

1105 ¥

1106 g_nState = TESTING;

1107

1108: // 00000000o0o0oo0oooon
1109: CButton* metro=(CButton*)GetDlgItem(
IDC_TEMPO_PLAY) ;

1110: metro->EnableWindow(false);

1111: // 00000000000000000
1112: enableRhythmButton(false);

1113

1114: // 000000000

1115: while(pStart!=NULL)

1116: {

1117: pNow=pStart;

1118: pStart=pStart->pNextEvent;

1119: delete (pNow) ;

1120:

1121: pEnd = pStart;

1122 while(p_calcStart!=NULL)

1123 {

1124 p_calcNow=p_calcStart;

1125 p_calcStart=p_calcStart->pNext;
1126 // 00000000

1127 delete(p_calcNow->dTime) ;

1128 delete(p_calcNow->nLabel) ;

1129 delete(p_calcNow->posi_x);

1130 delete(p_calcNow->posi_y);

1131: delete(p_calcNow->posi_z);

1132: // 00000

1133: delete(p_calcNow);

1134: }

1135:

1136: {

1137: int count=0;

1138:

1139: p_calcEnd = p_calcStart;

1140 while(p_barStart!=NULL)

1141 {

1142 p_barNow=p_barStart;

1143 p_barStart=p_barStart->pNextBar;
1144 // 00000000

1145 delete(p_barNow->dTime) ;

1146 delete(p_barNow->Rn) ;

1147 delete(p_barNow->Sn) ;

1148: delete(p_barNow->dDiffTime) ;

MMRESULT ret;

char 1folder[256];

// 00000

CButton* tempo90big=(CButton*)GetDlgItem(
090_BIG) ;

CButton* tempo120big=(CButton*)GetDlgItem(
IDC_TEMP0120_BIG);

134



U0 0do0oobog

delete(p_barNow->dRelativeTime) ;
if (count > 0)
{
delete(p_barNow->En) ;
delete(p_barNow->Tn) ;

}
// 00000
delete(p_barNow) ;
count++;
¥
p_barEnd = p_barStart;
}

g_nState = TESTING;

m_is_rec = TRUE;

g_is_start = FALSE;
m_rec.idx = 0;

m_rec.cycl = m_nTestSec * 15;

// MIDI 0O OO
ret = initMidiLong();

m_strRes.Format ("Form and MIDI TWIN Recording...

Please play.\r\n");

1172:

UpdateData(false);

g_nTime = -100;
SetTimer (ID_TEST_TIMER, 10,NULL) ;

GetD1lgItem(IDC_BUTTON_TEST)->EnableWindow (FALSE) ;
GetD1lgItem (IDC_USERNAME)->EnableWindow (FALSE) ;

}

else

{
m_is_rec = FALSE;
g_is_start = FALSE;
KillTimer (ID_TEST_TIMER);

}

}

: )

: void CRecordPlayMidiDlg: :recording()
: {

int i;

for(i = 0 ; i < 4 ; i++)
{

m_rec.x[i] [m_rec.idx] = m_dx[i];

m_rec.y[i] [m_rec.idx] = m_dyl[il;

m_rec.z[i] [m_rec.idx] = m_dz[i];

// by tuzzy

m_rec.eventTime[i] [m_rec.idx] = m_eventTime[i];

m_rec.eventTime_ms[i] [m_rec.idx] = m_eventTime_ms[i];

//1 00000000000

}

m_rec.idx++;

if (m_rec.idx >= m_rec.cycl)

{
m_is_rec = false;
g_is_start = false;
g_nState = IDLE;
// 000000000000000000
GetDlgItem (IDC_BUTTON_TEST)->EnableWindow (TRUE) ;
GetDlgItem (IDC_TEMPO_PLAY)->EnableWindow (TRUE) ;
// 0000000000000000
enableRhythmButton(true) ;

//0000

// 000
BeginWaitCursor();

// 000000

m_strRes += "Analyzing...\r\n";
UpdateData(false);

wavePlay (WAVE_PATH + "/bunsekisiteimasu.wav");

// 00000000000000
autoSaveForm() ;
autoSaveMidi();

// 000000o0o0ooo
formCustumize();
autoSaveCForm() ;

// 00000
form2Group() ;
// 00000

1237: form2Bar () ;

1238

1239: // 000000000000000000O0
1240: {

1241: int ret;

1242: if ((ret = clusterBarLine())==0)

1243: {

1244: drawYourLength() ;

1245: ¥

1246: else

1247: {

1248: m_strRes += "OOOOOOOOOONr\nOOOOOOODO
O0000O00O\r\n";

1249: UpdateData(false);

1250: return;

1251: ¥

1252: }

1253:

1254: // 0000000000000000000O0
1255: printBarLine();

1256: // 00000000000000

1257: drawStrokeError() ;

1258: // 0000000000000

1259: drawVelocity();

1260: // 00000000000

1261: drawFurihaba();

1262:

1263: // 00000

1264: g_bIsAfter = 1;

1265

1266: // g_meanEn,g meanSHIFT 00 000000000000
1267: waveFeedBack() ;

1268

1269: // 000000000

1270: autoSaveTotal();

1271

1272: // 00000000000

1273: autoSaveSelfLog();

1274:

1275: // 00000

1276: EndWaitCursor();

1277:

1278: // 0000000000

1279: g_nPerformTime [m_nSelectedPattern-1]++;
1280: m_nPerformTime = g_nPerformTime[m_nSelectedPattern-1];
1281: UpdateData(false);

1282

1283: // 0000000000000000

1284: m_ctrlstrRes.LineScroll(m_ctrlstrRes.GetLineCount());
1285: }

1286: }

1287

1288: MMRESULT CRecordPlayMidiDlg::initMidiLong()
1289: {
1290: //
1291: MMRESULT ret;

1292: BYTE bBuf [1={0xFO, 0x7E, 0x00, 0x06, 0x01, OxF7};

my code

1294: midiInReset (gs_hMidilIn);
1295: midiInStart(gs_hMidilIn);

1297: gs_pMidiOutHdr->1pData = (char #*)bBuf;

1298: gs_pMidiOutHdr->dwBufferLength = sizeof (bBuf);
1299: ret=midiOutLongMsg(gs_hMidiOut, gs_pMidiOutHdr,
sizeof (MIDIHDR)) ;

1300:

1301: return ret;

1302: }

1303:

1304: void CRecordPlayMidiDlg::autoSaveMidi()

1305: {

1306:  FILE*x fp;

1307: time_t tim;

1308: char 1filename[100];

1310: time (&tim);
1311:  CTime ctim(tim);

1313: sprintf (1filename,"%s/%s/%d_%d_%dmidi", DATA_PATH,
m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);

1314:  fp = fopen(lfilename, "w");
1315:
1316:  fprintf(fp, "DATA: diffTime(sec) 9nCH notenumber

velocity eventTime(sec) eventTime(ms)\n");

1317:

1318: pNow=pStart;

1319:  while(pNow != NULL)
1320: {
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136

1321:

1337:

1338:
1339:

("3Dimension-Data")

1340:

ctim.GetHour(), ctim.GetMinute());
fprintf (fp, "Sampling-Time

1341:

Y

fprintf (fp, "%f 99 %2d %2d %d %3d\n",
pNow->dDiffTime, pNow->nNoteNumber, pNow->nVelocity,
pNow->eventTime, pNow->eventTime_ms);

pNow =

fclose(£fp);

FILEx fp;

int i;

time_t tim;

char 1filename[100];

time (&tim) ;
CTime ctim(tim);

pNow->pNextEvent;

: void CRecordPlayMidiDlg::autoSaveForm()
: {

sprintf (1filename,"%s/%s/%d_%d_%dform", DATA_PATH,
m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);

fp = fopen(lfilename, "w");

fprintf (fp, "%s\n", (m_is_real) 7

("DigitEye3D Original-Data"));

fprintf (fp, "%d/%2d/%2d %2d:%2d\n",
ctim.GetYear(), ctim.GetMonth(), ctim.GetDay(),

m_rec.cycl / 15, m_rec.cycl);

1342:
1343:
x2
1344:
1345:
x2
1346:
1347:
1348:
1349:
1350:
%+5d
1351:
m_rec
1352:
m_rec
1353:
m_rec
1354:
m_rec
1355:
1356
%5d

1357:
m_rec
1358:
m_rec
1359:
m_rec
1360:
m_rec
1361:
1362:

¥

¥

%

1363: }

1364:
1365:
1366:
1367:
1368:
1369:
1370:
1371:
1372:
1373:

if (m_is_real)

fprintf (fp, "DATA: x0 yO

2 z2
else

fprintf (fp, "DATA:
2 s2  x3 y3 s3\n");

x3 y3 z3\n");

x0 yO0

%d

z0

s0

sec ( %d cycles )\n",

x1 y1 z1

x1 y1 st

for(i = 0 ; i < m_rec.cycl ; i++)

{

if (m_is_real)

fprintf (fp, "%d %3d %+5d %+5d %+5d
%d %3d %+5d %+5d %+6d

+5d

%d %3d %+5d
%d %3d %+5d %+5d %+5d\n",

m_rec.eventTime[0] [i], m_rec.eventTime_ms[0] [i],
.x[0][i], m_rec.y[0][il, m_rec.z[0][i],
m_rec.eventTime[1] [i], m_rec.eventTime_ms[1][i],
.x[11[i], m_rec.y[1]1[i], m_rec.z[1][i],
m_rec.eventTime[2] [i], m_rec.eventTime_ms[2] [i],
.x[2]1[i], m_rec.y[2][i], m_rec.z[2][i],
m_rec.eventTime[3] [i], m_rec.eventTime_ms[3] [i],
.x[31[i], m_rec.y[3]1[il, m_rec.z[3]1[il);

else

fprintf(fp, "%d %3d %4d %4d %5d
%d %3d %4d %ad %5d\n",

%d %3d %4d %4d %5d

%d %3d %4d %4d

m_rec.eventTime[0] [i], m_rec.eventTime_ms[0] [i],
.x[0][i], m_rec.y[0][il, m_rec.z[0][i],
m_rec.eventTime[1] [i], m_rec.eventTime_ms[1][i],
.x[11[i], m_rec.y[1]1[il, m_rec.z[1][i],
m_rec.eventTime[2] [i], m_rec.eventTime_ms[2] [i],
.x[2]1[i], m_rec.y[2][i], m_rec.z[2][i],
m_rec.eventTime[3] [i], m_rec.eventTime_ms[3][i],
.x[31[i], m_rec.y[31[il, m_rec.z[3]1[il);
}

fclose(fp);

// Form O0O00O MIDI OOO0ODOO0O0O0O00O0OOO0OO
void CRecordPlayMidiDlg: :form2Group ()

{

int from, to, count, nVelocity;

double dStartTime;

from = -10;
nVelocity = -1000;
to = 0;

count = 1;
p_calcStart = NULL;

p_calcEnd =
p_calcNow =

p_calcStart;
p_calcStart;

pNow=pStart;
while(pNow != NULL && to
{

< m_nTestSec * 60)

if (pNow->dDiffTime < m_simple.dDiffTime[to]
&% to >= g_nExtendWidth
&% to < m_nTestSec * 60 - g_nExtendWidth)

{
// 0000000000
if (from >= 0)
{

1390: // formO (to-1)
1391: makeGroup(from, to - 1, count, dStartTime,
(double)pNow->dDiffTime, nVelocity);

1392: count++;

1393:

1394:

1395: dStartTime = (double)pNow->dDiffTime;

1396: nVelocity = pNow->nVelocity;

1397: from = to;

1398: pNow = pNow->pNextEvent;

1399: }

1400 to++;

1401: }

1402: }

1403

1404: void CRecordPlayMidiDlg::formCustumize ()

1405: {

1406 int i,j,count, justChanged;

1407: count=0;

1408: CString tmp;

1409: justChanged=0;

1410 // 000000

1411 for(i = 0 ; i < m_rec.cycl ; i++)

1412

1413 for(j=0;j<4;j++)

1414 {

1415 m_simple.x[count]l=m_rec.x[j1[i];

1416 m_simple.y[countl=m_rec.y[j]1[i];

1417 m_simple.z[count]l=m_rec.z[j]1[i];

1418 m_simple.eventTime [count]=m_rec.eventTime [j] [i];
1419 m_simple.eventTime_ms[count]=m_rec.eventTime_ms[j][il;
1420: m_simple.dDiffTime [count] = (double)m_rec.eventTime

[j1[i] - (double)pStart->eventTime;

1421: m_simple.dDiffTime [count] = m_simple.dDiffTime [count]
+ (double)m_rec.eventTime_ms[jl[i] / 1000

- (double)pStart->eventTime_ms / 1000;

1422: m_simple.dDiffTime [count] =

1423: m_simple.dDiffTime [count] - g_dOffset;

1424:

1425: // 0000000000000000i==0000020000

00 0.012sec 00OO0O0ODO

1426: if (justChanged == 0 && count>0 && (
m_simple.dDiffTime [count] - m_simple.dDiffTime[count-1]) < 0.012)
1427: {

1428: m_simple.dDiffTime [count] =
[count] + ((double)1 / (double)300);
1429: m_simple.dDiffTime[count-1] =
[count-1] - ((double)1 / (double)300);

m_simple.dDiffTime

m_simple.dDiffTime

1430: justChanged = 1;// 000000

1431:

1432: else if (justChanged == 1)

1433: {

1434: justChanged = 0;

1435:

1436: count++;

1437:

1438: }

1439:  // [11-[0] O [count-1]-[count-2] OO0 ... 0O0OO0OODO
oooooag

1440:  if ((m_simple.dDiffTime[1] - m_simple.dDiffTime[0])
> 0.018)

1441: {

1442: m_simple.dDiffTime[0] = m_simple.dDiffTime[0]

+ ((double)1 / (double)300);

1443: }

1444 : if ((m_simple.dDiffTime [count-1]

- m_simple.dDiffTime[count-2]) > 0.018)

1445:  {

1446: m_simple.dDiffTime[count-1] =
m_simple.dDiffTime[count-1] - ((double)1 / (double)300);
1447: }

1448: }

1449:

1450:

1451:

1452: void CRecordPlayMidiDlg: :makeGroup(int from,
int tominusone, int count, double startTime,
double endTime, int velocity)

1453: {

1454: int i;

1455:

1456: p_calcNow = new positionForCalc;

1457:

1458: p_calcNow->number = count; // n000

1459: p_calcNow->nData = tominusone + 1 - from; // 00000
1460: p_calcNow->dStartTime = startTime; // 0000000
0

1461: p_calcNow->dEndTime = endTime; // 0000oooo
oooooooooao
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1462 p_calcNow->nVelocity = velocity; // Velocity
1463

1464: p_calcNow->dTime = new double[tominusone+1-from];
1465 p_calcNow->nLabel = new int[tominusone+1-from];
1466: p_calcNow->posi_x = new int[tominusone+1-from];
1467: p_calcNow->posi_y = new int[tominusone+i-from];
1468: p_calcNow->posi_z = new int[tominusone+i-from];
1469: // 00000 NULLOOOOOOOO

1470 p_calcNow->pNext = NULL;

1471

1472 if (p_calcNow->posi_x == NULL |

1473 p_calcNow->posi_y == NULL |

p_calcNow->posi_z == NULL)

1474:  {

1475: MessageBox ("0 OO DOODOOOO");

1476: return;

1477:  }

1478:

1479 for (i=from;i<=tominusone;i++)

1480:  {

1481 p_calcNow->dTime [i-from] = m_simple.dDiffTime[i];
1482: p_calcNow->posi_x[i-from] = m_simple.x[i];
1483: p_calcNow->posi_y[i-from] = m_simple.y[il;
1484: p_calcNow->posi_z[i-from] = m_simple.z[il;
1485: p_calcNow->nLabel [i-from] = ij;

1486 }

1487

1488 // 00000000000

1489 if (p_calcStart == NULL && p_calcEnd == NULL)
1490 {

1491 p-calcStart = p_calcNow;

1492 p_calcEnd = p_calcNow;

1493 ¥

1494 else if(p_calcStart != NULL &% p_calcEnd != NULL)
1495 {

1496 p_calcEnd->pNext = p_calcNow;

1497: p_calcEnd = p_calcEnd->pNext;

1498: }

1499: else

1500:  {

1501 MessageBox("O OO OOO");

1502 exit(0);

1503

1504: }

1505:

1506: // va 00000

1507: void CRecordPlayMidiDlg::calcVn()

1508: {

1509 double tmp=0;

1510 int count=0;

1511

1512 pNow=pStart;

1513 while(pNow != NULL)

1514 {

1515 tmp += pNow->nVelocity;

1516: count++;

1517 pNow = pNow->pNextEvent;

1518

1519

1520: g_meanSerialVn = tmp / count;

1521

1522 tmp=0;

1523 pNow=pStart;

1524 while(pNow != NULL)

1525 {

1526 tmp += pow((pNow->nVelocity - g_meanSerialVnm),2);
1527 pNow = pNow->pNextEvent;

1528 }

1529

1530 g_sdSerialVn = sqrt(tmp / count);

1531: }

1532:

1633: // T 00000

1534: void CRecordPlayMidiDlg::calcTn()

1535: {

1636:  FILE * fp;

1537: double tmpTime;

1538 double tmpTimeminus=0;

1539 double tmpDeltaTime=0;

1540: double tmpDeltaTimeminus=0;

1541: double tmpTn=0;

1542: double tmpTnminus=0;

1543: double tmpAllTn=0;

1544: double tmpsd=0;

1545: int count=0;

1546: time_t StartTime;

1547: double StartTime_ms;

1548: char tmp[100];

1549:  char 1filename[256];

1550:
1551:

sprintf (1filename,"%s/%s/%d_%d_%dTn", DATA_PATH,

m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);

1552: fp = fopen(lfilename,"w");

1553:

1554: pNow=pStart;

1555 StartTime = pNow->eventTime;

1556 StartTime_ms = (double)pNow->eventTime_ms / 1000;
1557 while(pNow != NULL)

1558 {

1559: tmpTime = pNow->eventTime - StartTime

+ (double)pNow->eventTime_ms / 1000;

1560: tmpTime = tmpTime - StartTime_ms;

1561:

1562: if (count > 0)

1563: {

1564: tmpDeltaTime = tmpTime - tmpTimeminus;
1565: if(count > 1)

1566: {

1567: tmpTn = (tmpDeltaTime - tmpDeltaTimeminus)*2
/ (tmpDeltaTime + tmpDeltaTimeminus);

1568: if (tmpTn < 0)

1569: tmpTn = tmpTn * (-1);

1570: tmpAllTn += tmpTn;

1571: fprintf (fp,"%d\t%.5f\n", count-2, tmpTn);
1572: sprintf (tmp, "Tn[%d]=%.5f\r\n", count, tmpTn);
1573: m_strRes += tmp;

1574: UpdateData(false);

1575: }

1576: tmpDeltaTimeminus = tmpDeltaTime;
1577: }

1578: tmpTimeminus = tmpTime;

1579: count++;

1580

1581 pNow = pNow->pNextEvent;

1582:  }

1583:

1584: g_meanSerialTn = tmpAllTn / (count-2);
1585:

1586: count = 0;

1587 pNow=pStart;

1588 while(pNow != NULL)

1589 {

1590: tmpTime = pNow->eventTime - StartTime

+ (double)pNow->eventTime_ms / 1000;

1591: tmpTime = tmpTime - StartTime_ms;

1592:

1593: if (count > 0)

1594: {

1595: tmpDeltaTime = tmpTime - tmpTimeminus;
1596 if (count > 1)

1597:

1598: tmpTn = (tmpDeltaTime - tmpDeltaTimeminus)*2
/ (tmpDeltaTime + tmpDeltaTimeminus);

1599: if (tmpTn < 0)

1600: tmpTn = tmpTn * (-1);

1601

1602: tmpsd += pow(tmpTn - g_meanSerialTn,2);
1603: ¥

1604 tmpDeltaTimeminus = tmpDeltaTime;

1605 ¥

1606 tmpTimeminus = tmpTime;

1607 count++;

1608

1609 pNow = pNow->pNextEvent;

1610 }

1611

1612 g_sdSerialTn = sqrt(tmpsd / (count - 2));
1613:

1614: fprintf (fp, "mean\tsd\t%.6£f\t%6f\n", g_meanSerialTn,
g_sdSerialTn);

1615: sprintf (tmp, "meanTn=%.5f sdTn=),.5f\r\n",
g_meanSerialTn, g_sdSerialTn);

1616: m_strRes += tmp;

1617:  UpdateData(false);

1618:

1619: fclose(fp);

1620: }

1621:

1622: // En 00000

1623: void CRecordPlayMidiDlg::calcEn()

1624: {

1625: FILE * fp;

1626: FILE * fp_en;

1627: positionForCalc* lp_calcPre = p_calcStart;
1628: positionForCalc* lp_tmp = p_calcStart;
1629: double * 1p_En;

1630: double * 1lp_x;
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1631: double * lp_y;
1632: double * 1lp_z;// 00000000

1633: double * lp_time;

1634: double * lp_posi_x;

1635: double * lp_posi_y;

1636: double * lp_posi_z;

1637: // 000

1638: double dTDash;

1639: double dXnMinus, dYnMinus, dZnMinus;
1640: double dBarXn, dBarYn, dBarZn;

1641: double tmpSumOfNumerator, tmpSumOfDenominator;
1642: double deltaNumerator, deltaDenominator;
1643: int i, j, nEn=0;

1644: int count=0;

1645: int n=2;

1646:  char tmp[100];

1647:  char 1filename[256];

1648:  char 1filename_en[256];

1649: // 00000

1650: struct _timeb now;

1651: time_t tmpStartTime;

1652: int tmpStartms;

1653: time_t tmpEndTime;

1654: int tmpEndms;

1655:

1656: // by tuzzy
1657:  _ftime(&now);
1658

1659: tmpStartTime=now.time;
1660: tmpStartms=now.millitm;

1661

1662: p_calcNow=p_calcStart;
1663

1664:  if (p_calcNow == NULL)
1665: {

1666: return;

1667:

1668: else

1669: {

1670: p_calcNow = p_calcNow->pNext;
1671: }

1672:

1673: // En 00O
1674:  while(lp_tmp !'= NULL)

1675:  {

1676: nEn++;

1677: lp_tmp = lp_tmp->pNext;
1678: }

1679: 1p_En = new double[nEn];
1680

1681:  sprintf(1filename,"%s/%s/%d_%d_lidhokan", DATA_PATH,
m_sUserName, g_tempo, m_nSelectedPattern,

g_nPerformTime [m_nSelectedPattern-1]);

1682:  sprintf(lfilename_en,"%s/%s/%d_%d_%dEn", DATA_PATH,
m_sUserName, g_tempo, m_nSelectedPattern,

g_nPerformTime [m_nSelectedPattern-1]);

1683: fp = fopen(lfilename, "w");

1684: fp_en = fopen(lfilename_en, "w");

1686: g_meanSerialEn
1687: g_sdSerialEn = 0;
1688: while(p_calcNow != NULL)

1689:  {

1690: // Bar OO0

1691: dBarXn=0;dBarYn=0;dBarZn=0;

1692: for(i=0;i<p_calcNow->nData;i++)

1693: {

1694: dBarXn += (double)p_calcNow->posi_x[i];

1695: dBarYn += (double)p_calcNow->posi_y[il;

1696: dBarZn += (double)p_calcNow->posi_z[i];

1697: }

1698: dBarXn = dBarXn / p_calcNow->nData;

1699: dBarYn = dBarYn / p_calcNow->nData;

1700: dBarZn = dBarZn / p_calcNow->nData;

1701:

1702: fprintf (fp,"%d 0000000000Y%.5£0%.5f [sec
JO0 \n[barxn baryn barzn] = %.3f %.3f %.3f\n",

1703: n++, p_calcNow->dStartTime, p_calcNow->dEndTime,
1704: dBarXn,dBarYn,dBarZn) ;

1705:

1706: // double 0OOO OO

1707: lp_time = new double[lp_calcPre->nData+2

* g_nExtendWidth];
1708: lp_posi_x = new double[lp_calcPre—>nData+2
* g_nExtendWidth];
1709: lp_posi_y = new double[lp_calcPre->nData+2
* g_nExtendWidth];
1710: lp_posi_z = new double[lp_calcPre->nData+2
* g_nExtendWidth];

1758:
dYnMinus

1759:

1760:

for(i=0;i<1lp_calcPre->nData+2+g_nExtendWidth;i++)

{
// 1p_calcPre 000+ g_nExtendWidth D0O0O0O0DOO0O
j=i+lp_calcPre->nLabel [0]-g_nExtendWidth;

//000000000000000000000000
if(j < 0)
{

MessageBox ("LabelError in calcEn(low)");

exit(0);

}

else if(j > (m_rec.cycl * 4))

{
MessageBox ("LabelError in calcEn(high)");
exit(0);

}

// 0000000+ g_nExtendWidth 0000000000

lp_time[i] = m_simple.dDiffTime[j];

lp_posi_x[i] = m_simple.x[j];

lp_posi_y[i]l = m_simple.y[jl;

lp_posi_z[i] = m_simple.z[j];
}
// 0000000000000 20000
// x,y,z00000000000000000000ODO
1p_x = new double[lp_calcPre->nData+2*g_nExtendWidth];
1lp_y = new double[lp_calcPre->nData+2*g_nExtendWidth];
1lp_z = new double[lp_calcPre->nData+2*g_nExtendWidth];

// n-1 000000000
splineMakeTable(1p_calcPre->nData+2*g_nExtendWidth,
1lp_time,
lp_posi_x,
1p_x);
splineMakeTable (1p_calcPre->nData+2*g_nExtendWidth,
lp_time,
1p_posi_y,
1p_y);
splineMakeTable (1p_calcPre->nData+2*g_nExtendWidth,
lp_time,
lp_posi_z,
lp_z);

tmpSumOfNumerator=0;
tmpSumOfDenominator=0;
deltaNumerator=0;
deltaDenominator=0;

fprintf(fp, "0O0 OO0 t [x y z] dTDash [dXnMinus
dZnMinus] A nume A deno\n");

sprintf (tmp,"dTDash dXnMinus dYnMinus dZnMinus\r\n");
m_strRes += tmp;

UpdateData(false);

for(i=0;i<p_calcNow->nData;i++)
{
// v 000
dTDash = splineMakeTDash(
p_calcNow->dEndTime - p_calcNow->dStartTime,
p_calcNow->dTime[i],
p_calcNow->dEndTime,
p_calcNow->dStartTime,
1p_calcPre->dStartTime);

// ¥n-1,Yn-1,Zn-1 000

dXnMinus = splineSpline(dTDash,
1p_calcPre->nData+2*g_nExtendWidth,
1lp_time,
1lp_posi_x,
lp_x);

dYnMinus = splineSpline(dTDash,
1lp_calcPre->nData+2*g_nExtendWidth,
1lp_time,
lp_posi_y,
1p_y);

dZnMinus = splineSpline(dTDash,
1lp_calcPre->nData+2*g_nExtendWidth,
lp_time,
1lp_posi_z,
1p_z);

deltaNumerator =
pow(p_calcNow->posi_x[i] - dXnMinus, 2) +
pow(p_calcNow->posi_y[i]l - d¥nMinus, 2) +
pow(p_calcNow->posi_z[i] - dZnMinus, 2);
tmpSumOfNumerator += deltaNumerator;

deltaDenominator =
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pow(p_calcNow->posi_x[i] - dBarXn, 2) +

pow(p_calcNow->posi_y[i] - dBarYn, 2) +

pow(p_calcNow->posi_z[i] - dBarZn, 2);
tmpSumOfDenominator += deltaDenominator;

// log
fprintf (fp,"%d OO0 0O t=%.5f [%d %d %d] t’=

%.5f [%.3f %.3f %.3£] %.5f %.5f\n",

1804:
1805:

i, p_calcNow->dTime[i],
p_calcNow->posi_x[i], p_calcNow->posi_y[il,

p_calcNow->posi_z[il,

1806:
1807:
1808:
1809:
1810:
1811:
1812:
1813:

1817:

dTDash, dXnMinus, dYnMinus, dZnMinus,
deltaNumerator, deltaDenominator);

sprintf (tmp,"%.3f %.3f %.3f %.3f\r\n",
dTDash, dXnMinus, dYnMinus, dZnMinus);

m_strRes += tmp;

UpdateData(false);

}

// 0 En000O
1p_En[count++] = tmpSumOfNumerator

/ tmpSumOfDenominator;

1818:

g_meanSerialEn += tmpSumOfNumerator

/ tmpSumOfDenominator;

1819:
1820:
1821:
1822:
1823:

fprintf (fp,"En(%d) = %.5f / %.5f = %.5f\n",
count-1, tmpSumOfNumerator, tmpSumOfDenominator,
1p_En[count-1]);

fprintf (fp_en,"%d\t%.6f\n", count-1,

1p_En[count-1]);

1824:

sprintf (tmp,"1p_En[%d]=%.6f\r\n",count-1,

1p_En[count-1]);

1825:
1826:
1827:
1828:

1844:

m_strRes += tmp;
UpdateData(false);

delete(lp_x);

delete(lp_y);

delete(lp_z);

delete(lp_posi_x);

delete(lp_posi_y);

delete(lp_posi_z);

p_calcNow = p_calcNow->pNext;

1lp_calcPre = 1lp_calcPre->pNext;
¥

// En 0000000
g_meanSerialEn = g_meanSerialEn / count;

// En 00000000
for(i=0;i<count;i++)
{
g_sdSerialEn = g_sdSerialEn + pow(lp_En[i]

- g_meanSerialEn,2);

1845:
1846:
1847:
1848:

}
g_sdSerialEn = sqrt(g_sdSerialEn / count);

fprintf (fp,"meanEn = %.6f gdEn = %.6f\n",

g_meanSerialEn, g_sdSerialEn);

1849:

fprintf (fp_en, "mean\tsd\t%.6f\t%.6f\n",

g_meanSerialEn, g_sdSerialEn);

1850:
1851:
1852:
1853:
1854:

// by tuzzy

_ftime(&now);

tmpEndTime=now.time;
tmpEndms=now.millitm;

fprintf(fp,"En 0000 = %d[sec]\n",

tmpEndTime - tmpStartTime);

1855:
1856:
1857:
1858:
1859:

fclose(£fp);
fclose(fp_en);

sprintf (tmp,"En 0000 = %d[sec]\r\n",

tmpEndTime - tmpStartTime);

1860:
1861:

1866:
char

1867:
1868:

m_strRes += tmp;
UpdateData(false);

: )

: // positionForCalc 00 2000000000 En 00000
:// 00000000000000

double CRecordPlayMidiDlg::calcOneEnAnother(

* before, char * after)

{

positionForCalc * 1lp_before =

(positionForCalc *)before;

1869:

positionForCalc * 1lp_after =

(positionForCalc *)after;

1870:
1871:

double * lp_x;

1872: double * 1lp_y;

1873:  double * lp_z;// 0DODODOOOO
1874: double * lp_time;

1875: double * lp_posi_x;

1876: double * lp_posi_y;

1877: double * lp_posi_z;

1878:

1879:  char lfilename[256];

1880:

1881: // 000

1882: int nCenterLabel;

1883: double dTDash;

1884: double dXnMinus, dYnMinus, dZnMinus;

1885: double dBarXn, dBarYn, dBarZn;

1886: double tmpSumOfNumerator, tmpSumOfDenominator;
1887: double deltaNumerator, deltaDenominator;

1889: int 1i,j,k;
1890: FILEx fp;

1892:  sprintf(1filename,"%s/%s/%d_%d_%dOneEn", DATA_PATH,

m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);
1893: fp=fopen(1lfilename,"a");

1894:

1895: // Bar U OO

1896: dBarXn=0;dBarYn=0;dBarZn=0;

1897: for(i=0;i<1lp_after->nData;i++)

1898: {
1899: dBarXn += (double)lp_after->posi_x[il;
1900: dBarYn += (double)lp_after->posi_y[il;
1901: dBarZn += (double)lp_after->posi_z[il;
1902:  }

1903: dBarXn = dBarXn / 1lp_after->nData;
1904: dBarYn = dBarYn / lp_after->nData;
1905: dBarZn = dBarZn / lp_after->nData;

1907: fprintf(fp,"0000000% DO00ODOO0O
000%.5£0%.5f [sec]10 \n[barxn baryn barzn]
= %.3f %.3f %.3f\n",

1908: 1lp_after->number, lp_after->dStartTime,
1lp_after->dEndTime,
1909: dBarXn,dBarYn,dBarZn) ;

1910: fprintf(fp,"0000000%d 0000000
000%.5£0%.5f[sec]0\n",

1911: 1lp_before->number, lp_before->dStartTime,
1p_before->dEndTime) ;
1912:

1913:  // double 0O OO OO

1914: lp_time = new double[2*g_nExtendWidth];

1915: lp_posi_x = new double[2*g_nExtendWidth];
1916:  1lp_posi_y = new double[2*g_nExtendWidth];
1917:  1p_posi_z = new double[2*g_nExtendWidth];
1918: // x,y,z0000000000000000000O00DO
1919:  1p_x = new double[2*g_nExtendWidth];

1920:  1p_y = new double[2*g_nExtendWidth];

1921: 1p_z = new double[2*g_nExtendWidth];

1923: tmpSumOfNumerator=0;
1924: tmpSumOfDenominator=0;
1925: deltaNumerator=

1926: deltaDenominator=0;

1928:  fprintf(fp, "OO OO0 t [x y z] dTDash
[dXnMinus d¥YnMinus dZnMinus] A nume A deno\n");

1929:

1930: for(i=0;i<1lp_after->nData;i++)

1931:  {

1932: // v 000

1933: dTDash = splineMakeTDashDiscrete(

1934: lp_after->dTime[i],

1935: lp_after->dEndTime,

1936: lp_after->dStartTime,

1937: 1p_before->dEndTime,

1938: lp_before->dStartTime

1939: N

1940:

1941: //

1942: // 000000000000000000O0
1943: //

1944: // 00000000000000 <= nCenter

Label <= 1lp_before->nDatall

1945: nCenterLabel = (int) ((double)lp_before->nData
* (double)i / (double)lp_after->nData);

1946:

1947: fprintf (fp, "nCenterLabel = %d\n",nCenterLabel);
1948:

1949: // 000000000000000000
1950: for (k=0;k<2*g_nExtendWidth;k++)
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1951:
1952:
1953:

{

// nCenterLabel # g_nExtendWidth 0000000000

j=nCenterLabel+k+1lp_before->nLabel [0]

- g_nExtendWidth;

1954:
1955:

2017:

// 00000000D00O00000000000000

if(j < 0)

{
MessageBox("LabelError in calcEn(low)");
exit(0);

}

else if(j > (m_rec.cycl * 4))

{
MessageBox ("LabelError in calcEn(high)");
exit(0);

}

// 0000000% g_nExtendWwidth 00O 0OO0O0O0OO0O

lp_time[k] = m_simple.dDiffTime[j];
1p_posi_x[k] = m_simple.x[j];
1p_posi_y[k] = m_simple.y[jl;
1p_posi_z[k] = m_simple.z[j];

}

// n-1000000000000000O0O0000000000

splineMakeTable (2*%g_nExtendWidth,
lp_time,
lp_posi_x,
1p_x);

splineMakeTable (2*g_nExtendWidth,
1lp_time,
lp_posi_y,
1p_y);

splineMakeTable (2*%g_nExtendWidth,
1lp_time,
1lp_posi_z,
1p_z);

//

// ¥n-1,Yn-1,Zn-1 000
dXnMinus = splineSpline(dTDash,
2%g_nExtendWidth,
lp_time,
lp_posi_x,
1p_x);
dYnMinus = splineSpline(dTDash,
2%g_nExtendWidth,
1lp_time,
lp_posi_y,
1p_y);
dZnMinus = splineSpline(dTDash,
2*g_nExtendWidth,
1lp_time,
1lp_posi_z,
1p_z);

deltaNumerator =
pow(lp_after->posi_x[i]l - dXnMinus, 2) +
pow(lp_after->posi_y[i] - dYnMinus, 2) +
pow(lp_after—>posi_z[i]l - dZnMinus, 2);
tmpSumOfNumerator += deltaNumerator;

deltaDenominator =
pow(lp_after->posi_x[i] - dBarXm, 2) +
pow(lp_after->posi_y[i] - dBarYn, 2) +
pow(lp_after->posi_z[i] - dBarZn, 2);

tmpSumOfDenominator += deltaDenominator;

fprintf (£p,"%d 000 t=Y%.5f [%d %d %d] t’=

%.5f [%.3f %.3f %.3f] %.5f %.5f\n",

2018:
2019:

i, lp_after->dTimel[il,
lp_after->posi_x[i], lp_after->posi_yl[il,

1p_after->posi_z[i],

2020:
2021:
2022:

2029:

2030:
2031:
2032:
2033:
2034:

3

dTDash, dXnMinus, dYnMinus, dZnMinus,
deltaNumerator, deltaDenominator);

fclose(fp);
// 0 En0O00
return tmpSumOfNumerator/tmpSumOfDenominator;

void CRecordPlayMidiDlg::splineMakeTable(int N,
double x[], double y[], double z[])

{

int i;

double t
double *
double *

2035 h = new double[N];

2036: d = new double[N];

2037:

2038: z[0] = 0; =z[N-1] =0; / OOOOO y>’°(x) / 6 */
2039: for (i = 0; i < N - 1; i++) {

2040: hii 1 = x[i+ 1] - x[i];

2041 dli + 11 = (yli + 1] - y[il) / hlil;

2042: }

2043:  z[1] = d[2] - d[1] - h[0] * =z[0];

2044: d[1] = 2 * (x[2] - x[0]);

2045 for (i = 1; i < N - 2; i++) {

2046 t = h[i] / d[il;

2047 z[i + 1] = d[i + 2] - d[i + 1] - z[i] * t;
2048 dli + 11 = 2 * (x[i + 2] - x[i]) - h[i] * t;
2049 }

2050 z[N - 2] -= h[N - 2] * z[N - 1];

2051 for (i = N - 2; i > 0; i--)

2052 z[i] = (z[i]l - h[i] * z[i + 1]) / d[il;
2053: }

2054:

2055: double CRecordPlayMidiDlg::splineMakeTDash(
double D, double t, double zero, double one, double two)
2056: {

2057: if(D == 0)

2058: return 0;

2059: return twox(zero - t)/D + one * (t - one)/D;
2060: }

2061:

2062:

2063: double CRecordPlayMidiDlg::splineSpline(
double t, int N, double x[], double y[], double z[])
2064: {

2065: int i, j, k;

2066: double d, h;

2067

2068: i=0; j=N-1;

2069: while (i < j) {

2070: k=(@{+3 /2

2071 if (x[k] <t) i =k +1; else j = k;
2072:

2073: if (i > 0) i-—-;

2074:  h = x[i + 1] - x[i]; d =t - x[il;

2075 return (((z[i + 1] - z[i]) * d / h + z[i] * 3) * d
2076 + (i +1] -yli) /n

2077 = (z[il * 2 + z[i + 1]1) * h)) * d + y[il;
2078: }

2079

2080: double CRecordPlayMidiDlg::splineMakeTDash2(

double D, double t, double zero, double onedash,
double one, double two)

2081:
2082:
2083:
2084:
: )

{

if (D == 0)
return 0;
return two + (t - onedash) * (one - two)/D;

:// 00000

: // g_nNotePerBar 0 00O

: void CRecordPlayMidiDlg: :makeBarLine(
*1p_tmp, int count)

int i;
double barLength=0;
positionForCalc *1lp_note;

// 0000
lp_note = (positionForCalc *)lp_tmp;

// 0000
p_barNow = new BarLine;

p_barNow->number = count;// 0000

p_barNow->dDiffTime = new double [g_nNotePerBar];
p_barNow->dRelativeTime = new double [g_nNotePerBar];
p_barNow->dTime = new double [g_nNotePerBar];
: // p_barNow->En = new double[g_nNotePerBar];
p_barNow->pNote = new positionForCalc *[g_nNotePerBar];
: // p_barNow->Tn = new double[g_nNotePerBar];

p_barNow->pNextBar = NULL;

for(i=0;i<g_nNotePerBar;i++)

{

p_barNow->dDiffTime[i] = 1lp_note->dEndTime

- lp_note->dStartTime;

2113:
2114:
2115:
2116:
2117:

p_barNow->dTime[i] = lp_note->dStartTime;

p_barNow->pNote[i] = 1lp_note;
barLength += p_barNow->dDiffTime[i];
if (lp_note != NULL)

{
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2128:

1lp_note=lp_note->pNext;

else if(i != g_nNotePerBar-1)
{
MessageBox("fatal error at makeBarLine()");
}
}

for(i=0;i<g_nNotePerBar;i++)
{
p_barNow->dRelativeTime[i] =

p_barNow->dDiffTime[i] / barLength;

2129:
2130:
2131:
2132:
2133:
2134:

: )

D3

}

// 00000000000
if(p_barStart == NULL && p_barEnd == NULL)
{
p_barStart = p_barNow;
p_barEnd = p_barNow;
}
else if (p_barStart != NULL && p_barEnd != NULL)
{
p_barEnd->pNextBar = p_barNow;
p_barEnd = p_barEnd->pNextBar;
}
else
{
MessageBox("O OO OOO");
exit(0);
}

: // 00000000000
: void CRecordPlayMidiDlg::form2Bar ()
H {

int i, count, flag;

double * tmpNote;

double dSum0fBar=0;
positionForCalc *1p_calcNow;
positionForCalc *1lp_tmp;

count
flag =

p_barStart = NULL;
p_barEnd = p_barStart;
p_barNow = p_barStart;

tmpNote = new double[g_nNotePerBar];

// positionForCalc 000 OODOO
1p_calcNow=p_calcStart;
while(lp_calcNow != NULL)
{
1p_tmp=1p_calcNow;
dSumOfBar = 0;
// g_nNotePerBar 00O
for(i=0;i<g_nNotePerBar;i++)

if (1p_tmp==NULL)
{

flag=0;
break;
}
tmpNote [1]=1p_tmp->dEndTime - lp_tmp->dStartTime;
dSum0fBar += tmpNotel[il;
1p_tmp=1p_tmp->pNext;
}

if (flag)
{
for(i=0;i<g_nNotePerBar;i++)
{
tmpNote[i] = tmpNote[i] / dSumOfBar;

// 0000000000
makeBarLine ((char *)1lp_calcNow, count);
count++;

¥

else

{
break;

}

1p_calcNow=1p_calcNow->pNext;

}

: // BarLine 0O DODODOODO

2206: void CRecordPlayMidiDlg::printBarLine()

2207: {

2208:

BarLine * lp_tmp;

BarLine * lp_pre;// 000000
FILE *fp;

FILE *fp2;

time_t tim;

char 1filename[100];

char 1filename2[100];

int i, count;

/] —=mmmmmmmmmm e En 00000
struct _timeb now;

time_t tmpStartTime;

int tmpStartms;

//
time (&tim) ;
CTime ctim(tim);

sprintf (1filename,"%s/%s/%d_%d_%dBarLine",

DATA_PATH, m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);

2226:
2227:
2228:
2229:

fp = fopen(lfilename, "w");
fprintf (fp, "UserName=Ys, Date:%4d’%2d%2d%2d%2d%2d\n"
, m_sUserName
, ctim.GetYear(), ctim.GetMonth(),

ctim.GetDay ()

2230:

, ctim.GetHour(), ctim.GetMinute(),

ctim.GetSecond());

2231:
2232:
2233:
2234:
2235:
2236:
2237:
2238:
2239:

2270:

lp_tmp=p_barStart;

count = 0;
A En 00000
_ftime (&now);

tmpStartTime=now.time;
tmpStartms=now.millitm;

//

// 0000

g_meanEn = new double[g_nNotePerBar];
g_meanRn = new double[g_nNotePerBar];
g_meanSn = new double[g_nNotePerBar];
g_meanTn = new double[g_nNotePerBar];
g_meanVn = new double[g_nNotePerBar];
g_sdEn = new double[g_nNotePerBar];
g_sdRn = new double[g_nNotePerBar];
g_sdSn = new double[g_nNotePerBar];
g_sdTn = new double[g_nNotePerBar];
g_sdVn = new double[g_nNotePerBar];
for(i=0;i<g_nNotePerBar;i++)

{

g_meanEn[i]=0;

g_meanTn[i]=0;
g_meanVn[i]=0;
g_sdEn[i]l=0;
g_sdRn[i]=0;
g_sdSn[il=0;
g_sdTn[i]=0;
g_sdVn[il=0;

}

while(1lp_tmp!=NULL)
{
count++;
fprintf(fp, "[4d 0001 0OO0DO%.3£f0%.3f\n"
, lp_tmp->number, lp_tmp->dTime[0],

((1p_tmp->dTime [g_nNotePerBar-1])
+ (1p_tmp->dDiffTime [g_nNotePerBar-11)));

2271:
2272:

2282:

1p_tmp->Rn = new double[g_nNotePerBar];
1p_tmp->Sn = new double[g_nNotePerBar];
if(count > 1)
{
1p_tmp->En = new double[g_nNotePerBar];
1p_tmp->Tn = new double[g_nNotePerBar];

for(i=0;i<g_nNotePerBar;i++)
{
fprintf (fp,"\t%d 00000000 %.3£0%.3f 00O0=Y.3f

000D [xy z1=04d % %d]\n"

2283:

, lp_tmp->pNote[i]->number,

1p_tmp->pNote[i]->dStartTime, lp_tmp->pNote[i]->dEndTime,
1p_tmp->pNote[i]->dEndTime - lp_tmp->pNote[i]->dStartTime

2284:

, lp_tmp->pNote[i]->posi_x[0],

1p_tmp->pNote[i]l->posi_y[0], 1lp_tmp->pNote[il->posi_z[0]);
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2285:

2286: 1p_tmp->Rn[i] = calcOneRyn(

(char *)1lp_tmp->pNotel[il);

2287: 1p_tmp->Sn[i] = calcOneFurihaba(

(char *)1p_tmp->pNote[il);

2288: if (count > 1)

2289: {

2290: 1p_tmp->En[i] = calcOneEn(

(char *)1p_pre->pNote[i], (char *)1lp_tmp->pNote[il);
2291: lp_tmp->Tn[i] = calcOneTn(

(char *)1p_pre->pNote[i], (char *)lp_tmp->pNote[il);
2292: fprintf (fp, "En[%d] [%d]=%.6f Rn[%d] [%d]

Sn[%d] [%d]=%.6f Tn[%d] [%d]=%.6f Vn[%d] [%d]=Vd\n",

2293: lp_tmp->number, i, lp_tmp->En[il,
2294: 1p_tmp->number, i, lp_tmp->Rn[il,
2295: lp_tmp->number, i, lp_tmp->Sn[il,
2296: 1p_tmp->number, i, lp_tmp->Tn[il,
2297: 1lp_tmp->number, i,

1p_tmp->pNote[i]->nVelocity) ;

2298: g_meanEn[i] += lp_tmp->En[il;

2299: g_meanTn[i] += lp_tmp->Tn[il;

2300: g_sdEn[i] += pow(lp_tmp->En[i], 2);
2301: g_sdTn[i] += pow(lp_tmp->Tn[il, 2);
2302: ¥

2303 g_meanRn[i] += 1lp_tmp->Rn[il;

2304: g_meanSn[i] += 1lp_tmp->Sn[il;

2305 g_sdRn[i] += pow(lp_tmp->Rn[il, 2);
2306 g_sdsn[i]l += pow(lp_tmp->Sn[il, 2);
2307: g_meanVn[i] += (double)lp_tmp->pNote[i]l->nVelocity;
2308: }

2309 1lp_pre=lp_tmp;

2310 1p_tmp=1p_tmp->pNextBar;

2311:  }

2312

2313:  sprintf(lfilename2,"%s/%s/%d_%d_ldcluster",

DATA_PATH, m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);

2314:  fp2 = fopen(lfilename2, "a");

2315:

2316 for(i=0;i<g_nNotePerBar;i++)

2317: {

2318 g_meanEn[i] /= (count-1); // 00000000

2319 g_meanRn[i] /= count;

2320 g_meanSn[i] /= count;

2321 g_meanTn[i] /= (count-1); // 00000000

2322 g_meanVn[i] /= count;

2323 g_sdEn[i] /= (count-1); // 0DO0OODOOOO

2324 g_sdRn[i] /= count;

2325 g_sdSn[i] /= count;

2326: g_sdTn[i] /= (count-1); // 00O0O0OOOOO

2327: // g_sdVn[i] /= count;

2328 g_sdEn[i] = sqrt(g_sdEn[i] - pow(g_meanEn[i], 2));
2329 g_sdRn[i] = sqrt(g_sdRn[i] - pow(g_meanRn[il, 2));
2330 g_sdSn[i] = sqrt(g_sdSn[i] - pow(g_meanSn[il, 2));
2331: g_sdTn[i] = sqrt(g_sdTn[i] - pow(g_meanTn[il, 2));
2332: // g_sdVn[i]l = sqrt(g_sdVn[i] - pow(g_meanVn[il, 2));
2333: fprintf (fp, "meanEn[%d]=Y%.6f meanRn[%d]=%.6f

meanSn [%4d]=%.6f meanTn[%d]=%.6f meanVn[%d]=J).6f\n"
2334: , i, g_meanEn[i], i, g_meanRn[i], i,
g_meanSn[il, i, g_meanTn[i], i, g_meanVn[i]);

2335 fprintf (fp2, "# meanEn(%d)=%.6f\n", i, g_meanEn[il);
2336: ¥

2337 for(i=0;i<g_nNotePerBar;i++)

2338: {

2339 fprintf (fp2, "# meanRn(%d)=%.6f\n", i, g_meanRn[il);
2340: }

2341: for(i=0;i<g_nNotePerBar;i++)

2342:  {

2343: fprintf (fp2, "# meanSn(%d)=%.6f\n", i, g meanSn[il);
2344: }

2345 for(i=0;i<g_nNotePerBar;i++)

2346: {

2347: fprintf (fp2, "# meanTn(%d)=%.6f\n", i, g_meanTn[il);
2348: }

2349: for(i=0;i<g_nNotePerBar;i++)

2350: {

2351: fprintf (fp2, "# meanVn(%d)=%.6f\n", i, g_meanVn[il);
2352: }

2353

2354 // sda 0000

2355 1lp_tmp=p_barStart;

2356:  while(lp_tmp != NULL)

2357:  {

2358 for(i=0;i<g_nNotePerBar;i++)

2359: {

2360: g_sdVn[i] += pow((double)lp_tmp->pNote[i]->nVelocity

- g_meanVn[i],2);
2361: }
2362: 1lp_pre=lp_tmp;

2363 1p_tmp=1p_tmp->pNextBar;

2364:

2365: for(i=0;i<g_nNotePerBar;i++)

2366: {

2367: g_sdvn[il /= (count-1); // 00000000000
2368: g_sdVn[i] = sqrt(g_sdvn[il);

2369: )

2370:

2371 fclose(fp2);

2372: fclose(fp);

2373: }

2374:

2375: // 2000000000000000

2376: double CRecordPlayMidiDlg::splineMakeTDashDiscrete(

double t, double zero, double onedash, double one, double two)
2377: {

2378: return (two + (t - onedash) * (one - two)
/ (zero - onedash));

2379: }

2380:

2381: // 000000000 DOO0OTMOOOOOO

2382: double CRecordPlayMidiDlg::calcOneTn(

char *before, char *after)

2383: {

2384: double tmpDeltaTime=0;

2385: double tmpDeltaTimeminus=0;

2386: double tmpTn=0;

2387: positionForCalc * lp_before = (positionForCalc *)before;
2388:  positionForCalc * lp_after = (positionForCalc *)after;
2389

2390: tmpDeltaTimeminus = lp_before->dEndTime

- lp_before->dStartTime;

2391: tmpDeltaTime = lp_after->dEndTime

- 1lp_after->dStartTime;

2392:

2393:  tmpTn = (tmpDeltaTime - tmpDeltaTimeminus)*2

/ (tmpDeltaTime + tmpDeltaTimeminus);

2394: if (tmpTn < 0)

2395: tmpTn = tmpTn * (-1);

2396:

2397: return tmpTn;

2398: }

2399:

2400: // 00000D0O0O0O0OOOODOOOOOOOD

2401: int CRecordPlayMidiDlg::clusterBarLine ()

2402: {

2403 FILE *fs;

2404 char 1filename[256] ;

2405

2406 int n=1; // 000

2407 int nc=g_nNotePerBar; // 00OOOOOO

2408 int cnc; // 00000000

2409

2410 BarLine *1lp_now=p_barStart;

2411

2412 double **e; // 00000000000
2413 double **newe; // 000000000+ 000
2414 double *ratio;

2415

2416 // use at logfitting

2417 double *diff; // 000000

2418 double **logfitted; // 000000000000
2419 double shiftValueAtMinError;

2420

2421 int *cluster; // i000000000000000000
2422 int *existcluster; // 00000000

2423 int *clus2obs; // 00000000

2424 int *mincluster;

2425 int *label;

2426

2427 int isFittingDoing; // logfitting 00000000
2428

2429 // 000000000000

2430 while(1lp_now->pNextBar != NULL)

2431 {

2432 1p_now=1lp_now->pNextBar;

2433: n++;

2434: }

2435

2436 // 0000000000000000O000O0O0000O0O000
2437 if( n < nc )

2438: {

2439: m_strRes += "cluster: The number of data was less

than the number of cluster.\r\ncluster:aborted..
2440: UpdateData (FALSE) ;

2441: MessageBox("cluster: 000000 OOOOOOOOOOOO
00000O0N\r\n0OO0O0O00O0O0O00O0O0O00000";

2442: return -1;

2443: }

Ar\n";
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2444:

2445:  // logfile

2446: sprintf (1filename,"%s/%s/%d_%d_%dcluster",
DATA_PATH, m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);

244T7: fs = fopen(lfilename,"w+");

2448:

2449: // 0000000

2450: e = new double *[n];

2451: newe = new double *[n];

2452: logfitted = new double *[n];

2453: {// 2000000000000000100000000

2454 : int i;

2455: for(i=0;i<n;i++)

2456 {

2457 e[i] = new doublel[nc];

2458: newe[i] = new double[nc];
2459: logfitted[i] = new double[nc];
2460: }

2461: }

2462: cluster = new int[n];

2463: existcluster = new int[n];

2464: label = new int[n];
2465: diff = new double[n + nc - 1];

2466

2467: clus2obs = new int[nc];

2468: mincluster = new int[nc];

2469:

2470: // O00000OO0OO

2471 {

2472: int i,k;

2473: for(i=0;i<n;i++)

2474: {

2475: cluster[i] = i; // 0000000i00000000
o000 10000

2476: existcluster[i] = 1; // O000O0OOOOOO
2477: for (k=0;k<nc;k++)

2478: {

2479: logfitted[i] [k] = 0;

2480 }

2481: ¥

2482: ¥

2483

2484: // [ncl ODOOODO

2485: g_meanSHIFT = new double[nc];
2486: g_sdSHIFT = new doublel[nc];
2487: ratio = new double [nc];

2488: {

2489: int i;

2490: for(i=0;i<nc;i++)

2491: {

2492: ratio[i] = g_dTemplateNotes[il;

2493: g_meanSHIFT[i] = 0;

2494: g_sdSHIFT[i] = 0;

2495: }

2496: }

2497: // e,newe OO O0O

2498: {

2499: int i,k;

2500: double 1;

2501: 1lp_now=p_barStart;

2502: for(i=0;i<n;i++)

2503: {

2504: 1=0;

2505: for (k=0;k<nc;k++)

2506 {

2507: e[i] [k]=1p_now->pNote [k] ->dEndTime
- lp_now->pNote[k]->dStartTime;

2508: newe [i] [k]1=1p_now->pNote [k]->dEndTime
- lp_now->pNote [k]->dStartTime;

2509: diff[i+k]=e[i] [k];

2510: 1+=e[i] [k];

2511: }

2512: 1p_now=1lp_now->pNextBar;

2513: for (k=0;k<nc;k++)

2514: {

2515: elil[k] /= (1.0 * 1);

2516: newe[i] [k] /= (1.0 * 1);

2517: ¥

2518: ¥

2519: }

2520

2521: // 0000000

2522: cnc =n; // 00000000

2523: // cnc 00000000000 (me) DOOOOOODO
2524: while( cnc > nc )

2525:  {
2526: // -0000
2527: if( 0)

2541: //

2592:

{

fprintf (fs,"cnc=[%d] ",cnc);
fprintf (fs,"n=[%d]\n",n);

int i,j,k,num;
int nearest[2]; // 0000 2{0 1000000000

double d,dmin;

for(i=0;i<n;i++)
{
fprintf(fs,"000...i=%d\n",1);
// i00000000000000...
if ( existcluster[i] == 1)
{
for(j=i+1;j<n;j++)
{
if ( existcluster[i] == 1)
{
d = 0;
for (k=0;k<nc;k++)

// 000000000
d += fabs(newe[i] [k] - newe[j][k1);

s

if (i==0 && j==1)

{
// 000000 d
dmin = d;

s

else if( d < dmin )

{
dmin = d;
nearest[0] = i;
nearest[1] = j;

}
}
}
}
}
existcluster([nearest([1]] = 0; // 000000 (1 0D
{
int m;
for (m=0;m<n;m++)
{
if( m == nearest[1] )
{
cluster[m] = nearest[0]; // DO0OOOOOO
¥
else if ( cluster[m] == nearest[1] )
{
cluster[m] = nearest[0]; // DOOOOOOO
}
}
}
// -0000
if( 0 )
{
int i,k;
for(i=0;i<n;i++)// n:000000
{

fprintf (fs,"existcluster[%d]=[%d] ",1i,

existcluster[i]);

2593:
2594:
2595:
2596:
2597:

fprintf (fs,"cluster[/d]=[%d] ",i,cluster[i]);
for (k=0;k<nc;k++)
{

fprintf (fs, "newe[%d] [4d]=[%f] ",i,k,newe[il[k]);

fprintf(fs,"\n");
}
}
//

cnc--;

for(i=0;i<n;i++)

{
if (existcluster[i] == 1)
{
for (k=0;k<nc;k++) newel[i] [k] = O;
num = 0;

for(j=i;j<n;j++)

if (cluster[j] == i)
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2658:
2659:
2660:
2661:
2662:
2663:
2664:
2665:
2666:

2685:

{
for (k=0;k<nc;k++)

newe[i] [k] += e[j][k];

num++;

}

}
// 00000000000
for (k=0;k<nc;k++)
newe[i] [k] = newe[il[k] / (1.0 * num);
s
else
{// existcluster != 1
for (k=0;k<nc;k++)

newe[il [k] = -1;

} // end of while

// clus2obs[] OO0

int i,j,k;
j=o0;
for(i=0;i<n;i++)
{
if ( existcluster[i] == 1)
{
clus2obs[j++] = i;// 0000000000000 OOO

// clus2obs 00O
{
int k;
for (k=0;k<nc;k++)
{
fprintf (fs,"clus2obs[%d]=[%d]\n",k,clus2obs [k]) ;
¥
}

// 00000000000000000
{

int 1i,j,k,kk;

int uniqflag;

double **error;

double minerror;

// error 00O OO

error = new double *[nc];

for(i=0;i<nc;i++)

error[i] = new double[nc];
for (j=0;j<nc;j++)

error[i] [j] = 0;
}
}
for(i=0;i<nc;i++)
{
for (k=0;k<nc;k++)
{
for (kk=0; kk<nc ; Kk++)
{
// 00000000000000000D01000000

error[i] [kk] += fabs(newe[clus2obs[i]] [k]

- ratio[(k + kk) % ncl);

2686:

}
}
}
for(i=0;i<nc;i++)
{
for(j=0;j<nc;j++)

fprintf (fs,"error[%d] [(%d]=[%£f] ",i,j,error[il[j1);
}
fprintf (fs,"\n");
}

// 000000000000000000000000000a0

2740:

uniqflag = 1;
for(i=0;i<nc;i++)
{
mincluster[i] = -1;
for(j=0;j<nc;j++)
if( §==0 )
{
minerror = error[jl[il;
mincluster[i] = j;
}
else if( error[j]l[i] < minerror )
{
minerror = error[j][il;
mincluster[i] = j;
}
}
fprintf (fs, "mincluster [%d]=[%d]\n",i,mincluster[i]);
}

// wnique 000000000000
for(i=0;i<nc;i++)
{

for(j=i+1;j<nc;j++)

if ( mincluster[i] == mincluster[j] )
{
uniqflag = 0;

}
}

fprintf (fs,"uniqflag=[%d]\n",uniqflag) ;
if (uniqflag != 1)
{

m_strRes += "cluster: The given time train was

distinguished by this algorithm.\r\n";

m_strRes += "cluster: aborted...\r\n";

UpdateData (FALSE) ;
fclose(fs);
MessageBox("cluster: 00000000000 0O0OOOO

0000D00O0N\n O00DO000D000DO0O000000";

2741:

}

return -1;

}

// 0000000000

{

int i,j;
BarLine *1p_tmp=p_barStart;
BarLine *1p_pre=NULL;
for(i=0;i<nc;i++)

{
// 000000000000000000000
if (mincluster[0] == i)
{

// 1:00000000 n:000
for(j=0;j<n;j++)
{

if (1p_tmp==NULL)

break;

¥

if (cluster[j] == i)

{
// lp_tmp 00000000000
1lp_pre=lp_tmp;
1p_tmp=1p_tmp->pNextBar;

else

// 000000
if (lp_pre != NULL)

// lp_tmp 0000000000000
1lp_pre->pNextBar=1p_tmp->pNextBar;
// 00000000
delete(lp_tmp->dTime);
delete(lp_tmp->dDiffTime);
delete(lp_tmp->dRelativeTime);

delete(lp_tmp);
lp_tmp = lp_pre->pNextBar;
}

else

// 0000000000000

144
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2880:

for(i=0;i<n;i++)

{
if ( cluster[i] == mincluster[0] )
{
len = 0;
for (k=0;k<nc;k++)
{

logfitted[i] [k] = (el[il [k]

/ shiftValueAtMinError);

2787 lp_pre = lp_tmp;

2788 1p_tmp=1p_tmp->pNextBar;
2789 // 00000000

2790 delete(1lp_pre->dTime) ;

2791 delete(lp_pre->dDiffTime) ;
2792 delete(lp_pre->dRelativeTime);
2793

2794 delete(lp_pre);

2795 1lp_pre = NULL;

2796 // 00000000000000
2797 p_barStart = lp_tmp;

2798: ¥

2799: }

2800

2801: ¥

2802: }

2803: }

2804: }

2805

2806 // logfitting OO0

2807 isFittingDoing = 1;

2808: {

2809 int i,k,s;

2810 double logerror = 0;

2811 double prevlogerror = 0;

2812 int nscan = 0;

2813 int maxscan = 800;

2814 int half = (int) (maxscan / 2.0);

2815 int minShift = 0;

2816 double times,prevtimes;

2817 double seqtempl[16];

2818 double len;

2819

2820 // for(i=0;i<(n - nc + 1);i++)

2821 for(i=0;i<n;i++)

2822: {

2823 if( cluster[i] == mincluster[0] )
2824: {

2825 // log-fitting OO

2826 for(s=0;s<=maxscan;s++)

2827: {

2828 prevtimes = times;

2829 // 000000

2830 times = 1.0 + ((s - half + 1) * 0.001);
2831: if( 0)

2832: {

2833 fprintf (stderr,"s=[/d] times=[%f]",s,times);
2834: fprintf (stderr," prevlogerror=[%f]

logerror=[%f]",prevlogerror,logerror) ;

2835: fprintf (stderr,"\r");

2836: }

2837: for (k=0;k<nc;k++)

2838: {

2839: seqtempl[k] = ratio[k] * times;
2840

2841: prevlogerror = logerror;

2842: logerror = 0;

2843: for (k=0;k<nc;k++)

2844

2845: logerror += fabs( log( e[il[k] )
- log( seqtempllk] ) );

2846: ¥

2847: if(s>1)

2848: {

2849: if ( logerror > prevlogerror )
2850 {

2851: shiftValueAtMinError = prevtimes;
2852: break;

2853: s

2854: }

2855: }

2856: }

2857: }

2858:

2859 // 0000

2860: if( s >= maxscan )

2861: {

2862 isFittingDoing = -1; // 0000000
2863: ¥

2864: else

2865: {

2866: fprintf (fs,"\nshiftValueAtMinError=[}f] 0000000

\n",shiftValueAtMinError);

2867: }

2868:

2869: // 000000000000000
2870: // log-fitting 00 O0DOO
2871: if (isFittingDoing == 1)

2872: {

2881: len += logfitted[il [k];

2882: s

2883:

2884: //000

2885: for (k=0;k<nc;k++)

2886 {

2887: logfitted[i][k] /= (1.0 * len);
2888: s

2889 }

2890: }

2891: isFittingDoing = 0; // OO

2892: }

2893: }

2894:

2895 fprintf (fs,"n=[%d]\n",n);

2896 fprintf (fs,"nc=[%d]\n",nc);

2897: {

2898: int i,k;

2899: int meas;

2900: int validnotes;

2901 int errornotes;

2902 int lasttick;

2903 int desire;

2904 int recog;

2905 double recograte;

2906 for(i=0;i<n;i++) label[i] = 0;

2907:

2908: // logfitting 00

2909: if ( isFittingDoing != 0 )

2910: {

2911: m_strRes += "cluster: logfitting 000000O000ODO
O0\r\n";

2912: m_strRes += "cluster: aborted...\r\n";
2913 UpdateData(FALSE) ;

2914 fclose(fs);

2915: MessageBox("cluster: 0000000000 OOOOOOO
000000O0N\nO0OO0O0O00O0O0O0O0DOO0O00O000";
2916: return -3;

2917: }

2918:

2919: meas 0;

2920: for(i=0;i<n;i++)

2921: {

2922: // 0000000000000000
2923: if ( cluster[i] == mincluster[0] )
2924: {

2925: meas++;

2926: // 0000nc 00O

2927: for (k=0;k<nc;k++)

2928:

2929 label[i+k] = k+1;// 12341234...
2930: {

2931 // 00000000000000
2932: double shiftpcnt = 100.0 * (logfitted[il [k]

- ratio[k]) / (1.0 * ratiolkl);

2933: g_meanSHIFT[k] += shiftpcnt;
2934: g_sdSHIFT[k] += pow(shiftpcnt, 2);
2935: }

2936: }

2937: }

2938: }

2939:

2940:

2941: // 00000000000

2942: for (k=0;k<nc;k++)

2943:

2044 : g_meanSHIFT[k] /= (1.0 * meas);
2945: g_sdSHIFT[k] /= (1.0 * meas);
2946: g_sdSHIFT[k] = sqrt(g_sdSHIFT[k]
- pow(g_meanSHIFT[k], 2));

2947: }

2948:

2949: recog = 03

2950: validnotes = 0;

2951: errornotes = 0;

2952:

2953: // 000000040

2954 : for(i=0;i<n;i++)

2955: {

2956 desire = (lasttick + 1)%nc;
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2957: if( desire == 0 ) desire = nc; 3041: UpdateData(false);

2958: if(i==0) 3042:  printBarPict();

2959: { 3043: g_nNotePerBar = 3;

2960: validnotes++; 3044: delete(g_dTemplateNotes) ;

2961: } 3045: g_dTemplateNotes = new double[g_nNotePerBar];
2962: else if( label[i] == desire ) 3046: g_dTemplateNotes[0] = 0.75;

2963: { 3047: g_dTemplateNotes[1] = 0.125;

2964 : validnotes++; 3048: g_dTemplateNotes[2] = 0.125;

2965: ¥ 3049:

2966: else 3050: // OOOOOODO

2967: { 3051: setAccent();

2968: errornotes++; 3052: drawCorrectLength() ;

2969: } 3053:  playRhythm(g_nOtehonBar) ;

2970: lasttick = label[i]; 3054: }

2971: if ( labell[i]l > 0 ) recog++; 3055:

2972: 3056: void CRecordPlayMidiDlg::0OnRhythm3()
2973: // 0000000000000000 3057: {

2974: fprintf (fs,"%f %d\n",diff[i],labellil); 3058: // TODO: 0000000000 DO0O0O0DO0O0O0OD0O0O0OOOOO
2975: X ooooo

2976:  recograte = recog / (1.0 * n); 3059:  UpdateData(TRUE);

2977: 3060: g_bIsAfter=0;

2978: // 0000000 3061: m_nSelectedPattern = 3;

2979: fprintf (fs,"# clusters=/d\n",nc); 3062: UpdateData(false);

2980: fprintf(fs,"# input notes=%d\n",n); 3063:  printBarPict();

2981: fprintf (fs,"# shiftValueAtMinError=Yf\n", 3064: g_nNotePerBar = 3;
shiftValueAtMinError); 3065: delete(g_dTemplateNotes) ;

2982: fprintf (fs,"# recognized notes=)d\n",recog); 3066: g_dTemplateNotes = new double[g_nNotePerBar];
2983: fprintf (fs,"# valid notes=%d\n",validnotes); 3067: g_dTemplateNotes[0] = 0.5;

2984: fprintf (fs,"# rate of recognized notes=/f\n",recograte); 3068: g_dTemplateNotes[1] = 0.375;

2985: fprintf (fs,"# error notes=%d\n",errornotes); 3069: g_dTemplateNotes[2] = 0.125;

2986 fprintf (fs,"# meas=%d\n",meas); 3070:

2987:  fprintf(fs,"#\n"); 3071: // ODO0OOOOO

2988:  for(k=0;k<nc;k++) fprintf(fs,"# g_meanSHIFT(%d)=%f\n", 3072:  setAccent();

k+1,g_meanSHIFT[k]); 3073: drawCorrectLength() ;

2989: for (k=0;k<nc;k++) fprintf(fs,"# g_sdSHIFT(%d)=%f\n", 3074:  playRhythm(g_nOtehonBar) ;
k+1,g_sdSHIFT[k]); 3075: }

2990: } 3076:

2991: 3077: void CRecordPlayMidiDlg::OnRhythm4 ()
2992: fclose(£fs); 3078: {

2993: return 0; 3079: // TODO: D000000DDOO0OO0O000000OOODOO000000
2994: } ooooo

2995: 3080: UpdateData(TRUE) ;

2996: 3081: g_bIsAfter=0;

2997: // 00000000 ODOOOOOOOO 3082: m_nSelectedPattern = 4;

2998: void CRecordPlayMidiDlg::OnRhythmi() 3083: UpdateData(false);

2999: { 3084: printBarPict();

3000: // TODO: 000000000 O0O0O0OOOO0O0DOOOOOOOOO 3085: g_nNotePerBar = 3;

ooooo 3086: delete(g_dTemplateNotes) ;

3001: UpdateData(TRUE); 3087: g_dTemplateNotes = new double[g_nNotePerBar];
3002: g_bIsAfter=0; 3088: g_dTemplateNotes[0] = 0.5;

3003: m_nSelectedPattern = 1; 3089: g_dTemplateNotes[1] = 0.25;

3004: UpdateData(false); 3090: g_dTemplateNotes[2] = 0.25;

3005: printBarPict(); 3091:

3006: g_nNotePerBar = 2; 3092: // 0000000

3007: delete(g_dTemplateNotes) ; 3093: setAccent();

3008: g_dTemplateNotes = new double[g_nNotePerBar]; 3094:  drawCorrectLength();

3009: g_dTemplateNotes[0] = 0.75; 3095:  playRhythm(g_nOtehonBar) ;

3010: g_dTemplateNotes[1] = 0.25; 3096: }

3011 3097

3012: // 0000000 3098: void CRecordPlayMidiDlg: :0OnRhythm5 ()
3013: setAccent(); 3099: {

3014: drawCorrectLength() ; 3100: // TODO: 0000000000000 0O0OOOOOODOOOOO
3015:  playRhythm(g_nOtehonBar); ooooo

3016: } 3101:  UpdateData(TRUE);

3017: 3102: g_bIsAfter=0;

3018: // 00000000000 OOOOOOOOOOODOODOOOOOOO 3103: m_nSelectedPattern = 5;

3019: int CRecordPlayMidiDlg::printBarPict() 3104: UpdateData(false);

3020: { 3105:  printBarPict();

3021: CDC* pDC = m_barCtrl.GetDC(); 3106: g_nNotePerBar = 4;

3022:  CDC myDC; 3107:  delete(g_dTemplateNotes);

3023:  CBitmap bmpBar; 3108: g_dTemplateNotes = new double[g_nNotePerBar];
3024: 3109: g_dTemplateNotes[0] = 0.5;

3025:  bmpBar.LoadBitmap(m_nSelectedPattern + g_nBius); 3110:  g_dTemplateNotes[1] = 0.25;

3026: m_nPerformTime = g_nPerformTime[m_nSelectedPattern-1]; 3111: g_dTemplateNotes[2] = 0.125;

3027: UpdateData(false); 3112:  g_dTemplateNotes[3] = 0.125;

3028: myDC.CreateCompatibleDC(pDC) ; 3113:

3029: CBitmap* 0ldBMP=myDC.SelectObject (&bmpBar) ; 3114: // 00OOOOOD

3030: pDC->BitB1t(0,0,562,116,&myDC,0,0,SRCCOPY) ; 3115: setAccent();

3031: 3116: drawCorrectLength() ;

3032: return 0; 3117:  playRhythm(g_nOtehonBar) ;

3033: } 3118: }

3034: 3119

3035: void CRecordPlayMidiDlg::OnRhythm2() 3120: void CRecordPlayMidiDlg::OnRhythmé ()
3036: { 3121: {

3037: // TODO: D0O0O0OU0OO00OOO0O0OOOO0O0OOOOOOOOOO 3122: // TODO: 00000000000 000O0O000O0OO000OOO0O0
ooooo gooooo

3038: UpdateData(TRUE) ; 3123: UpdateData(TRUE) ;

3039: g_bIsAfter=0; 3124: g_bIsAfter=0;

3040: m_nSelectedPattern = 2; 3125: m_nSelectedPattern = 6;
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3126:  UpdateData(false); 3213: naka = correctDC.SelectObject (&correctBrush);
3127: printBarPict(); 3214:  correctDC.Rectangle(allBar);

3128: g_nNotePerBar = 4; 3215:

3129:  delete(g_dTemplateNotes); 3216: // OOOOOOOO

3130: g_dTemplateNotes = new double[g_nNotePerBar]; 3217:  1lnWidth = (int)allBar.Width();

3131:  g_dTemplateNotes[0] = 0.5; 3218:  1lnHeight = (int)allBar.Height();

3132: g_dTemplateNotes[1] = 0.125; 3219:

3133: g_dTemplateNotes[2] = 0.125; 3220: // 00000

3134: g_dTemplateNotes[3] = 0.25; 3221: for(i=0;i<g_nNotePerBar-1;i++)

3135: 3222: {

3136: // 0000000 3223: fromx = (int) ((left + g_dTemplateNotes[i]) * 1lnWidth);
3137: setAccent(); 3224: tox = fromx;

3138: drawCorrectLength() ; 3225: fromy = 0;

3139: playRhythm(g_nOtehonBar) ; 3226: toy = lnHeight-1;

3140: } 3227: correctDC.MoveTo (fromx, fromy);

3141: 3228: correctDC.LineTo(tox, toy);

3142: void CRecordPlayMidiDlg::OnRhythm7 () 3229: left += g_dTemplateNotes[i];

3143: { 3230: }

3144: // TODO: D0O0O0O0O0OO00ODOO0O0OO0O0OOO0O0OOOOoooO 3231:

ogoooo 3232: return 0;

3145: UpdateData(TRUE) ; 3233: }

3146: g_bIsAfter=0; 3234:

3147: m_nSelectedPattern = 7; 3235: // 0000OOOOOO

3148: UpdateData(false); 3236: void CRecordPlayMidiDlg::printDeltaTime()

3149: printBarPict(); 3237: {

3150: g_nNotePerBar = 4; 3238: FILE* fp;

3151: delete(g_dTemplateNotes) ; 3239: int i;

3152: g_dTemplateNotes = new double[g_nNotePerBar]; 3240: char 1filename[100];

3153: g_dTemplateNotes[0] = 0.5; 3241:

3154: g_dTemplateNotes[1] = 0.125; 3242: sprintf (1filename, "%s/%s/%d_%d_lddeltatime",
3155: g_dTemplateNotes[2] = 0.25; DATA_PATH, m_sUserName, g_tempo, m_nSelectedPattern,
3156: g_dTemplateNotes[3] = 0.125; g_nPerformTime [m_nSelectedPattern-1]);

3157: 3243: fp = fopen(lfilename, "w");

3158: // 0000000 3244:

3159:  setAccent(); 3245:  for(i=1;i<m_nTestSec * 60;i++)

3160: drawCorrectLength() ; 3246: {

3161:  playRhythm(g_nOtehonBar) ; 3247: fprintf (fp,"deltatime = %f\n",m_simple.dDiffTime[i]
3162: } - m_simple.dDiffTime[i-1]);

3163: 3248: }

3164: void CRecordPlayMidiDlg::OnRhythm8() 3249:

3165: { 3250: fclose(fp);

3166: // TODO: 000000 OODODOOO0O0O0OODOOOOOOOOOO 3261: }

0ooooo 3252:

3167: UpdateData(TRUE) ; 3253:

3168: g_bIsAfter=0; 3254: double CRecordPlayMidiDlg::calcOneEn(

3169: m_nSelectedPattern = 8; char *before, char *after)

3170: UpdateData(false); 3255: {

3171: printBarPict(); 3256: positionForCalc * 1lp_before = (positionForCalc *)before;
3172: g_nNotePerBar = 4; 3257: positionForCalc * lp_after = (positionForCalc *)after;
3173:  delete(g_dTemplateNotes); 3258:

3174: g_dTemplateNotes = new double[g_nNotePerBar]; 3259:  double * lp_x;

3175:  g_dTemplateNotes[0] = 0.625; 3260: double * lp_y;

3176: g_dTemplateNotes[1] = 0.125; 3261: double * 1p_z;// 00000000

3177: g_dTemplateNotes[2] = 0.125; 3262: double * lp_time;

3178:  g_dTemplateNotes[3] = 0.125; 3263: double * lp_posi_x;

3179: 3264: double * lp_posi_y;

3180: // 0000000 3265: double * lp_posi_z;

3181: setAccent(); 3266: // 000

3182: drawCorrectLength(); 3267: double dTDash;

3183: playRhythm(g_nOtehonBar) ; 3268: double dXnMinus, dYnMinus, dZnMinus;

3184: } 3269: double dBarXn, dBarYn, dBarZn;

3185: 3270: double tmpSumOfNumerator, tmpSumOfDenominator;
3186: 3271: double deltaNumerator, deltaDenominator;
3187: // 00000000 3272:

3188: int CRecordPlayMidiDlg::drawCorrectLength() 3273: int 1i,j;

3189: { 3274:

3190:  UpdateData(TRUE); 3275: // Bar 000

3191: 3276: dBarXn=0;dBarYn=0;dBarZn=0;

3192: int 1nWidth; // 00 3277: for(i=0;i<1lp_after->nData;i++)

3193: int lnHeight; // 00 3278: {

3194: int i; 3279: dBarXn += (double)lp_after->posi_x[il;
3195:  double left=0; 3280: dBarYn += (double)lp_after->posi_y[il;
3196: int fromx, fromy; // 00 3281: dBarZn += (double)lp_after->posi_z[i];
3197: int tox, toy; // 00 3282: }

3198: // 00000000 3283: dBarXn = dBarXn / lp_after->nData;

3199: CWnd* barCorrect = GetDlgItem(IDC_CORRECT); 3284: dBarYn = dBarYn / lp_after->nData;

3200: CClientDC correctDC(barCorrect) ; 3285: dBarZn = dBarZn / lp_after->nData;

3201: CPen blackLine(PS_SOLID,2,RGB(0,0,0)); 3286:

3202: CPen* oldPen = correctDC.SelectObject(&blackLine); 3287: // double OO OO0

3203: 3288: lp_time = new double[lp_before->nData+2*g_nExtendWidth];
3204: [/ =—mmmmmmm e 00000000 ===-==-==-==————=—- 3289: lp_posi_x = new double[lp_before->nData+2
3205: CRect allBar; * g_nExtendWidth];

3206: // 000000000 3290: 1p_posi_y = new double[lp_before->nData+2
3207: barCorrect->GetClientRect (allBar); * g_nExtendWidth];

3208: // 00000000 3291: lp_posi_z = new double[lp_before->nData+2
3209: CBrush correctBrush; * g_nExtendWidth];

3210: CBrush* naka; 3292: for(i=0;i<lp_before->nData+2*g_nExtendWidth;i++)
3211: correctBrush.CreateSolidBrush(RGB(0,128,255)); 3293: {

3212:  // correctBrush 000000 3294: // lp_before 0O U+ g_nExtendWidth 0000000000
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3295: j=i+lp_before->nLabel[0]-g_nExtendWidth; 3384:

3296: 3385: // m_meanSHIFT 00O 0000

3297: // 0000000000000D0D0D0000000O00 3386: int CRecordPlayMidiDlg::drawYourLength()
3298: if(j < 0) 3387: {

3299: { 3388:  int lnWidth; // 00

3300: MessageBox("LabelError in calcEn(low)"); 3389: int lnHeight; // 00

3301: exit(0); 3390: int i;

3302: } 3391: double left=0;

3303: else if (j >= (m_rec.cycl * 4)) 3392: int fromx, fromy; // 00

3304: { 3393: int tox, toy; // 00

3305: MessageBox("LabelError in calcEn(high)"); 3394:

3306: exit (0); 3395: // OD00O0O0O0OOOOOOO

3307: } 3396: // 00O

3308: // 0000000+ g_nExtendWwidth 000000000000 3397: CWnd* barCorrect = GetDlgItem(IDC_YOUR);
3309: lp_time[i] = m_simple.dDiffTime[j]; 3398:  CClientDC noteDC(barCorrect);

3310: 1p_posi_x[i] = m_simple.x[j]; 3399: // 0000

3311: 1p_posi_y[i] = m_simple.y[jl; 3400: CWnd* strInstable = GetDlgItem(IDC_INSTABLE);
3312: 1p_posi_z[i] = m_simple.z[j]; 3401: CRect instableRect;

3313: b 3402: strInstable->GetClientRect (instableRect);
3314: // 0000000000000 20000 3403:  CClientDC instableDC(strInstable);

3315:  // x,y,z00000000000000000000O0O 3404: // 0DOOODODODODOODO

3316: 1p_x = new double[lp_before->nData+2*g_nExtendWidth]; 3405: instableDC.FillSolidRect (instableRect,
3317: 1p_y = new double[lp_before->nData+2*g_nExtendWidth]; RGB(192,192,192));

3318: 1lp_z = new double[lp_before->nData+2*g_nExtendWidth]; 3406:

3319: 3407: // 0000

3320: // n-1 000000000 3408: CFont barFont;

3321: splineMakeTable (1p_before->nData+2*g_nExtendWidth, 3409: barFont.CreateFont (18, 0, 0, 0, FW_BOLD,
3322: 1lp_time, 3410: 0,0,0, DEFAULT_CHARSET, OUT_CHARACTER_PRECIS,
3323: lp_posi_x, 3411: CLIP_CHARACTER_PRECIS, DEFAULT_QUALITY, DEFAULT_PITCH|
3324: 1p_x); 3412: FF_DONTCARE, "Century");

3325: splineMakeTable (1p_before->nData+2*g_nExtendWidth, 3413:

3326: lp_time, 3414: // PEN

3327: 1p_posi_y, 3415:  CPen blackLine(PS_SOLID,1,RGB(0,0,0));
3328: 1p_y); 3416:  CPen* notePen = noteDC.SelectObject(&blackLine);
3329: splineMakeTable (1p_before->nData+2*g_nExtendWidth, 3417:

3330: lp_time, 3418: // BRUSH

3331: lp_posi_z, 3419: CBrush* p_noteBrush;

3332: 1p_z); 3420: p_noteBrush = new CBrush[g_nNotePerBar];
3333: 3421:

3334: tmpSum0fNumerator=0; 3422: // 00000000

3335: tmpSumOfDenominator=0; 3423: CRect allBar;

3336: deltaNumerator=0; 3424: barCorrect->GetClientRect (allBar) ;

3337: deltaDenominator=0; 3425:

3338: 3426: // 00000000

3339: for(i=0;i<lp_after->nData;i++) 3427: 1nWidth = (int)allBar.Width();

3340: { 3428:  lnHeight = (int)allBar.Height();

3341: // ¢ 000 3429:

3342: dTDash = splineMakeTDashDiscrete( 3430: // 00000000

3343: lp_after->dTime[i], 3431: CRect *noteRect;

3344: 1lp_after->dEndTime, 3432: noteRect = new CRect [g_nNotePerBar] H

3345: lp_after->dStartTime, 3433:

3346: 1lp_before->dEndTime, 3434: CString msgString;

3347: 1p_before->dStartTime 3435: // 0000000000

3348: )5 3436: for(i=0;i<g_nNotePerBar;i++)

3349: 3437: {

3350: // ¥n-1,Yn-1,Zn-1 000 3438: fromx = (int)left;

3351: dXnMinus = splineSpline(dTDash, 3439: fromy = 0;

3352: 1p_before->nData+2*g_nExtendWidth, 3440: tox = (int) (left + g_dTemplateNotes[il

3353: lp_time, * (double)lnWidth * ((double)1l + (double)g_meanSHIFT[i]/100));
3354: 1lp_posi_x, 3441: if (i==g_nNotePerBar-1)

3355: 1p_x); 3442: {

3356: dYnMinus = splineSpline(dTDash, 3443: tox = lnWidth;

3357: 1lp_before->nData+2*g_nExtendWidth, 3444: ¥

3358: 1lp_time, 3445: toy = lnHeight;

3359: 1lp_posi_y, 3446:

3360: 1p_y); 3447: // 0000

3361: dZnMinus = splineSpline(dTDash, 3448: if (g_meanSHIFT[i] > 4)

3362: 1lp_before->nData+2*g_nExtendWidth, 3449: {

3363: 1lp_time, 3450: if (g_meanSHIFT[i] > 24)

3364: lp_posi_z, 3451: {

3365: 1lp_z); 3452: // "O0oO0oorog

3366: 3453: p_noteBrush[i] .CreateSolidBrush(RGB(128,0,0));
3367: deltaNumerator = 3454: noteDC.SetTextColor (RGB(255,255,255)) ;

3368: pow(lp_after->posi_x[i] - dXnMinus, 2) + 3455: }

3369: pow(lp_after->posi_y[i] - dYnMinus, 2) + 3456: else if (g_meanSHIFT[i] > 12)

3370: pow(lp_after—>posi_z[i]l - dZnMinus, 2); 3457: {

3371: tmpSumOfNumerator += deltaNumerator; 3458: // "0O0r00

3372: 3459: p_noteBrush[i] .CreateSolidBrush(RGB(144,64,64));
3373: deltaDenominator = 3460: noteDC.SetTextColor (RGB(255,255,255)) ;

3374: pow(lp_after->posi_x[i] - dBarXm, 2) + 3461: }

3375: pow(lp_after->posi_y[i] - dBarYn, 2) + 3462: else if (g_meanSHIFT[i] > 4)

3376: pow(lp_after->posi_z[i] - dBarZn, 2); 3463: {

3377: tmpSumOfDenominator += deltaDenominator; 3464: // "oooorog

3378: 3465: p_noteBrush[i].CreateSolidBrush(RGB(192,128,128));
3379: b 3466: noteDC.SetTextColor (RGB(0,0,0));

3380: 3467: }

3381: // 0 En0O0OO 3468: msgString.Format ("+%.1£%%\r\n 0 0 ",g_meanSHIFT[i]);
3382: return tmpSumOfNumerator/tmpSumOfDenominator; 3469: }

3383: } 3470: else if(g_meanSHIFT[i] < -4)
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3471: { 3557: ! (ffd.dwFileAttributes & FILE_ATTRIBUTE_DIRECTORY))
3472: if (g_meanSHIFT[i] < -24) 3558: return TRUE;

3473: { 3559: }

3474: // "O0Q0ooo0roon 3560: return FALSE;

3475: p_noteBrush[i] .CreateSolidBrush(RGB(0,128,0)); 3561: }

3476: noteDC.SetTextColor (RGB(255,255,255)) ; 3562:

3477: } 3563:

3478: else if (g_meanSHIFT[i] < -12) 3564: // 00O0O0O0OOOOO
3479: { 3565: int CRecordPlayMidiDlg::waveFeedBack()

3480: // 700 oo 3566: {

3481: p_noteBrush[i] .CreateSolidBrush(RGB(64,144,64)); 3567: OnBarAdvice();

3482: noteDC.SetTextColor (RGB(255,255,255)) ; 3568: OnFormAdvice();

3483: } 3569:  OnVeloAdvice();

3484: else if (g_meanSHIFT[i] < -4) 3570:

3485: { 3571: return 0;

3486: // "ooooroon 3572: }

3487: p_noteBrush[i] .CreateSolidBrush(RGB(128,192,128)); 3573:

3488: noteDC.SetTextColor (RGB(0,0,0)); 3574: // 00000000000 wave JOOOOOO
3489: } 3575: int CRecordPlayMidiDlg::wavePlay(CString fname)
3490: msgString.Format ("%.1£%%\r\n 00 ",g_meanSHIFT[il); 3576: {

3491: } 3577: MCI_PLAY_PARMS myPParms;

3492: else 3578: MCI_GENERIC_PARMS myGParms;

3493: { 3579: MCIERROR error;

3494: // long short 0000000 3580:

3495: p_noteBrush[i] .CreateSolidBrush(RGB(0,192,255)); 3581: char buf[129];

3496: noteDC.SetTextColor (RGB(0,0,0)); 3582:

3497: msgString.Format ("%.1£%%\r\n 0 0 ",g_meanSHIFT[i]); 3583: m_openParms.lpstrDeviceType
3498: } = (LPCTSTR)MCI_DEVTYPE_WAVEFORM_AUDIO;

3499: noteDC.SelectObject (p_noteBrush[il); 3584:

3500: 3585: // 0000000
3501: // 000000 3586: m_openParms.lpstrElementName = fname;

3502: noteRect[i] .SetRect (fromx, fromy, tox, toy); 3587:

3503: noteDC.Rectangle(noteRect[i]); // wave 0D OO00DOOO
3504: noteDC.SelectObject (notePen) ; if (error = mciSendCommand(0, MCI_OPEN,

3505: noteDC.SelectObject (&¥barFont) ; MCI_WAIT | MCI_OPEN_TYPE | MCI_OPEN_ELEMENT |
3506 noteDC.SetBkMode (TRANSPARENT) ;// 000D 0D MCI_OPEN_TYPE_ID, (DWORD)&m_openParms))
3507: noteDC.DrawText (msgString, &noteRect[i], DT_CENTER); {

3508: mciGetErrorString(error, buf, sizeof (buf));
3509: // 0000000000000 AfxMessageBox (buf ,MB_0K) ;

3510: instableDC.SelectObject (&barFont) ;

3511: instableDC.SetBkMode (TRANSPARENT);// 00O OO0 return -1;

3512: msgString.Format ("%.1£%4",g_sdSHIFT[i]); }

3513: instableDC.DrawText (msgString, &noteRect [il,

DT_CENTER) ; // 00 (MCIWAIT OOO0O00000000000000)
3514: myPParms.dwCallback = (DWORD)this->GetSafeHwnd();
3515: left = tox; myPParms.dwFrom = 0;

3516: } if (error = mciSendCommand (m_openParms.wDeviceID, MCI_PLAY,
3517: MCI_WAIT|MCI_NOTIFY|MCI_FROM, (DWORD)&myPParms))
3518: return 0; {

3519: mciGetErrorString(error, buf, sizeof (buf));
3520: } AfxMessageBox (buf ,MB_OK) ;

3521:

3522: // return -1;

3523: // 0000000000 0OOOOODOOOODOOO }

3524: //

3525: // OOOOO // 0000

3526: // lpszFileName if (error = mciSendCommand (m_openParms.wDeviceID, MCI_CLOSE,
3527: // 0000000000000000 NLL 00000000 MCI_WAIT, (DWORD)&myGParms))

3528: // ooooOoooo

3529: // bDirectory mciGetErrorString(error, buf, sizeof (buf));
3530: // TRUE DO0O0OO0O0O0OO0O0O0OOOFALSE OO0OOODOOOOO AfxMessageBox (buf ,MB_0K) ;

35631: //

3632: // O0OO return -1;

3533: // gooooooooO0o0oo0o0oO0o0oo0O0000 TRUE }

3534: // 00000 FALSE

35635: // return 0;

3536: bool CRecordPlayMidiDlg::IsExistFile( }

LPCTSTR lpszFileName, bool bDirectory)

3537: {

3538: WIN32_FIND_DATA ffd; : int CRecordPlayMidiDlg: :drawStrokeError ()

3539: : o

3540: // 0000000000000000000000 int 1nWidth; // 00

3541: HANDLE hFindFile = FindFirstFile(lpszFileName, &ffd); int lnHeight; // 00

3542: int i;

3543: // 00000000000 double left=0;

3544: if (hFindFile != INVALID_HANDLE_VALUE) int fromx, fromy; // 00

3545: { int tox, toy; // 00

3546: // 00000000000

3547: // (hFindFile 00 INVALID_HANDLE_VALUE 0000000000 int printMode = 0; // 0000000O0O0OO...00000

O

3548: // 00000000)

3549: FindClose(hFindFile) ; // 0000000000000

3550: : CWnd* barCorrect = GetDlgItem(IDC_STROKE);
3551: // 000000000000000 3638: CClientDC noteDC(barCorrect);

3552: if ( (bDirectory) && 3639:

3553: (ffd.dwFileAttributes & FILE_ATTRIBUTE_DIRECTORY)) 3640: // 0000

3554: return TRUE; 3641: CFont barFont;

3555: // 0000000000000 3642: barFont.CreateFont (14, 0, 0, 0, FW_BOLD,

3556 if ( !(bDirectory) && 3643: 0,0,0, DEFAULT_CHARSET, OUT_CHARACTER_PRECIS,
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3676:

CLIP_CHARACTER_PRECIS, DEFAULT_QUALITY, DEFAULT_PITCH|
FF_DONTCARE, "Century");

// PEN
CPen blackLine(PS_SOLID,1,RGB(0,0,0));
CPen* notePen = noteDC.SelectObject(&blackLine);

// BRUSH
CBrush* p_noteBrush;
p_noteBrush = new CBrush[g_nNotePerBar];

// 00000000
CRect allBar;
barCorrect->GetClientRect(allBar);

// 00000000
InWidth = (int)allBar.Width();
InHeight = (int)allBar.Height();

// 00000000
CRect *noteRect;
noteRect = new CRect[g_nNotePerBar];

CString msgString="00";
// 0000000000
for(i=0;i<g_nNotePerBar;i++)
{

fromx = (int)left;

fromy = 03

if (printMode == 0)

// 0000000000000000
tox = (int)(left + g_dTemplateNotes[i]

* (double)lnWidth * ((double)1 + (double)g_meanSHIFT[i]/100));

3677:
3678:
3679:
3680:
3681:

}
else if (printMode == 1)
{
// 00000000000000
tox = (int) (left + g_dTemplateNotes[il

* (double)lnWidth * ((double)1));

3682:
3683:
3684:
3685:

}
if (i==g_nNotePerBar-1)

tox = 1nWidth;
}
toy = lnHeight;

// 0000
if (g_meanEn[i] > 2)

// "O0o0ooooor oo
p_noteBrush[i] .CreateSolidBrush(RGB(128,0,0));
noteDC.SetTextColor (RGB(255,255,255)) ;
msgString.Format ("%.3f\r\n 000 ",g_meanEn[i]);

}

else if(g_meanEn[i] > 1)

{
// "O0Ooo0ooO0r oo
p_noteBrush[i].CreateSolidBrush(RGB(144,64,64));
noteDC.SetTextColor (RGB(255,255,255)) ;
msgString.Format ("%.3f\r\n 000 ",g_meanEn[il);

¥

else if(g_meanEn[i] > 0.53)

{
// "O0o0ooooroo
p_noteBrush[i].CreateSolidBrush(RGB(192,128,128));
noteDC.SetTextColor (RGB(0,0,0));
msgString.Format ("%.3f\r\n 000 ",g_meanEn[il);

}

else

{
p_noteBrush[i].CreateSolidBrush(RGB(0,192,255));
noteDC.SetTextColor (RGB(0,0,0));
msgString.Format("%.3f\r\n 00 ",g_meanEn[i]);

noteDC.SelectObject (p_noteBrush[il);

// 000000

noteRect[i].SetRect (fromx, fromy, tox, toy);
noteDC.Rectangle (noteRect[i]);

noteDC.SelectObject (notePen) ;

noteDC.SelectObject (&barFont) ;

noteDC.SetBkMode (TRANSPARENT) ;// 00O OO0
noteDC.DrawText (msgString, &noteRect[i], DT_CENTER);

left = tox;

return 0;

3731: }
3732:
3733: // 0000O0O0OOOOO
3734: int CRecordPlayMidiDlg::drawVelocity()
3735: {
3736: int 1nWidth; // 00
3737 int lnHeight; // 00
3738 int 1nSDWidth; // 00
3739 int 1nSDHeight; // 00
3740 int i;
3741 double left=0;
3742 int fromx, fromy; // 00
3743 int tox, toy; // 00
3744
3745 int printMode = 0; // 00O0O000O0OO0O0OO...00000
O..
3746
3747 // 0000000000000
3748 CWnd* barVelo = GetDlgItem(IDC_MEANVELOCITY);
3749 CRect veloRect;
3750 barVelo->GetClientRect (veloRect);
3751 CClientDC noteDC(barVelo);
3752 // 0000000000
3753 noteDC.FillSolidRect (veloRect, RGB(255,255,255));
3754 // 0000000
3755 CWnd* strsdVelo = GetDlgItem(IDC_SDVELOCITY);
3756 CRect sdVeloRect;
3757 strsdVelo->GetClientRect (sdVeloRect) ;
3758 CClientDC sdVeloDC(strsdVelo);
3759 // 0000000000
3760 sdVeloDC.FillSolidRect (sdVeloRect, RGB(192,192,192));
3761
3762 // 0000
3763 CFont barFont;
3764 barFont.CreateFont (16, 0, 0, 0, FW_BOLD,
3765 0,0,0, DEFAULT_CHARSET, OUT_CHARACTER_PRECIS,
3766 CLIP_CHARACTER_PRECIS, DEFAULT_QUALITY, DEFAULT_PITCH|
3767 FF_DONTCARE, "Century");
3768
3769 // PEN
3770 CPen blackLine(PS_SOLID,1,RGB(0,0,0));
3771 CPen* notePen = noteDC.SelectObject(&blackLine);
3772
3773 // BRUSH
3774 CBrush* p_noteBrush;
3775 p_noteBrush = new CBrush[g_nNotePerBar];
3776
3777 // 000000040
3778 CRect allBar;
3779 barVelo->GetClientRect(allBar);
3780
3781 // 00000000
3782 1nWidth = (int)allBar.Width();
3783 lnHeight = (int)allBar.Height();
3784 1nSDWidth = (int)sdVeloRect.Width();
3785 1nSDHeight = (int)sdVeloRect.Height();
3786
3787 // 00000000
3788 CRect *noteRect;
3789 noteRect = new CRect[g_nNotePerBar];
3790 // 00000000
3791 CRect *sdRect;
3792 sdRect = new CRect[g_nNotePerBar];
3793
3794 CString msgString;
3795 // 0000000000
3796 for(i=0;i<g_nNotePerBar;i++)
3797 {
3798 fromx = (int)left;
3799: fromy = lnHeight - (int)((double)lnHeight
* g_meanVn[il/(double)127);
3800: if (printMode==0)
3801: {
3802: tox = (int) (left + g_dTemplateNotes[i]

* (double)lnWidth * ((double)1l + (double)g_meanSHIFT[i]/100))

-1;

3803: ¥

3804: else if(printMode==1)

3805: {

3806: tox = (int)(left + g_dTemplateNotesl[il]
* (double)1lnWidth * ((double)1)) - 1;

3807: }

3808: if (i==g_nNotePerBar-1)

3809: {

3810: tox = lnWidth;

3811: }

3812: toy = lnHeight;

3813:

3814: // 0000
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3815 p_noteBrush[i] .CreateSolidBrush(RGB(0,0,128));

3816 noteDC.SetTextColor (RGB(255,255,255)) ;

3817

3818 msgString.Format ("%.1f",g_meanVn[il);

3819 noteDC.SelectObject (p_noteBrush[il);

3820

3821 // 000000

3822 noteRect[i] .SetRect (fromx, fromy, tox, toy);

3823 noteDC.Rectangle (noteRect[i]);

3824 noteDC.SelectObject (notePen) ;

3825 noteDC.SelectObject (&barFont) ;

3826 noteDC.SetBkMode (TRANSPARENT) ;// 00O OO0

3827 noteDC.DrawText (msgString, &noteRect[i], DT_CENTER);

3828

3829 // 0000000000000000

3830 sdRect[i].SetRect (fromx, 0, tox, lnSDHeight);

3831 sdVeloDC.SelectObject (&barFont) ;

3832 sdVeloDC.SetBkMode (TRANSPARENT) ;// 00O O 0OOO

3833: // msgString.Format ("%.1£f",g_sdVn[il);

3834: msgString.Format ("%.1£%%",g_sdVn[i] / g_meanVn[i]
* 100) ;

3835: sdVeloDC.DrawText (msgString, &sdRect[i], DT_CENTER|

DT_VCENTER) ;

3836:

3837: left = tox + 1;

3838: ¥

3839:

3840 return O;

3841: }

3842:

3843: // OOO0OOOOOOO

3844: int CRecordPlayMidiDlg::playRhythm(int nBar)

3845: {

3846:  int i,j,k;

3847 MMRESULT ret;

3848: DWORD dwMsg, dwMsg_click;

3849: // 0000

3850 struct _timeb start;

3851 time_t starttime;

3852 int startms;

3853 double clockstart;

3854 // 00000

3855 struct _timeb now;

3856 time_t nowtime;

3857 int nowms;

3858 double clocknow;

3859 double dNextNote=0;

3860 int *nTmpVelocity;

3861 double *dTmpNotes;

3862 double tmp=0;

3863

3864 UpdateData (TRUE) ;

3865:

3866: // return O;

3867:

3868 // 000000000000

3869 dTmpNotes = new double[g_nNotePerBar];

3870 nTmpVelocity = new int[g_nNotePerBar];

3871 for (k=0;k<g_nNotePerBar;k++)

3872 {

3873 dTmpNotes [k]=tmp;

3874: tmp+=g_dTemplateNotes [k] ;

3875

3876 // 000000040

3877 if (m_isSetAccent==0 || m_nAccentMode==0)

3878 {// 0000000

3879 nTmpVelocity [k]=63;

3880 }

3881 else if(g_accent[k]==1)

3882 {// 0000000

3883 nTmpVelocity[k]=93;

3884:

3885 else if(g_accent[k]==0)

3886 {

3887 nTmpVelocity [k]1=53;

3888 ¥

3889 else

3890 {

3891 MessageBox("fatal error in playRhythm().");

3892 exit(0);

3893 }

3894 }

3895

3896 // 000000

3897:  CButton* tempo90big=(CButtonx)GetDlgItem(

IDC_TEMP090_BIG) ;

CButton* tempol20big=(CButton*)GetDlgItem(
IDC_TEMP0120_BIG) ;

if (tempo90big->GetCheck()) {g_tempo=90;

3898:

3899:

g_nVelocity=63;}
if (tempo120big->GetCheck()) {g_tempo=120;
g_nVelocity=63;}

3900:

3901:

dwMsg_click = (g_nVelocity << 16) + 0x2599;// 0OODOOO

3902: // dwMsg = (g_nVelocity << 16) + 0x1£99;// 00000

3935:

if (g_nState == IDLE)

{

// 000000000000000000000
CButton* metro=(CButton#)GetDlgIltem(IDC_TEMPO_PLAY);

CButton* kaishi=(CButton*)GetDlgItem(IDC_BUTTON_TEST) ;

metro->EnableWindow(false) ;
kaishi->EnableWindow(false);

// 000000

_ftime(&start);
starttime=start.time;
startms=start.millitm;

clockstart = (double)startms / 1000;

// mBar 00000
for (i=0;i<nBar+1;i++)

if (1==0)

{
// 0ooooo
for(j=0;j<4;j++)
{

dNextNote = (double)j * 60 / g_tempo;
while(1)
{

_ftime (&now);

nowtime=now.time;
nowms=now.millitm;

clocknow = (double) (nowtime-starttime)

+ (double)nowms / 1000 - clockstart;

3936:
3937:
3938:
3939:
3940:

if (clocknow >= dNextNote)

{
// 0000000000
ret = midiOutShortMsg(gs_hMidiOut,

dwMsg_click);

3941:
3942:
3943:

3952:

break;
}
¥
}

else

{
// 00
for(j=0; j<g_nNotePerBar; j++)
{

// 00000
dNextNote =

/ g_tempo;

3953:
3954:
3955:
3956:
3957:
3958:
3959:
3960:
3961:
3962:

// 00000
dwMsg = (nTmpVelocity[j] << 16) + 0x1f99;

while(1)

{
_ftime (&now);
nowtime=now.time;
nowms=now.millitm;

clocknow = (double) (nowtime-starttime)

+ (double)nowms / 1000 - clockstart;

3963:
3964:
3965:

if (clocknow >= dNextNote)

// 0000O0ooooag
ret = midiOutShortMsg(gs_hMidiOut, dwMsg);
break;

// 00000
dNextNote =
// 00000
dwMsg = (nTmpVelocity[0] << 16) + 0x1£99;
while(1)

{

(double)i * 4 * 60 / g_tempo;

_ftime (&now) ;

((double)i + dTmpNotes[j]) * 4 x 60
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3982: nowtime=now.time;

3983: nowms=now.millitm;

3984:

3985: clocknow = (double) (nowtime-starttime)
+ (double)nowms / 1000 - clockstart;

3986:

3987: if (clocknow >= dNextNote)

3988:

3989: // 0000000000

3990: ret = midiOutShortMsg(gs_hMidiOut, dwMsg);
3991 break;

3992 ¥

3993 }

3994 // 0000000

3995 metro->EnableWindow (true) ;

3996 kaishi->EnableWindow (true);

3997 }

3998

3999 return 0;

4000: }

4001

4002: void CRecordPlayMidiDlg::OnBarAdvice()

4003: {

4004 // TODO: 0D0D00000D0DOODO0000000OODOO0000
00000

4005: int k;

4006: CString fname;

4007:

4008:  if(g_bIsAfter!=1)

4009:  {

4010: MessageBox (" O OO O00DOOO0OOOO0DOOOOOOOOO

goooooooooooOoooooooooom;

4011: return;

4012: }

4013:

4014: for (k=0;k<g_nNotePerBar;k++)

4015:

4016: if( g_meanSHIFT[k] > 4 || g_meanSHIFT[k] < -4 )
4017: {

4018 fname.Format (WAVE_PATH + "/%d 000 .wav",k+1);
4019 wavePlay (fname) ;

4020 if (g_dTemplateNotes[k] == 0.75 ){

4021 wavePlay (WAVE_PATH + "/f2onpuga.wav");
4022 } else if(g_dTemplateNotes[k] == 0.5 ){
4023 wavePlay (WAVE_PATH + "/2onpuga.wav");
4024 }else if(g_dTemplateNotes[k] == 0.375 ){
4025 wavePlay (WAVE_PATH + "/f4onpuga.wav");
4026 }else if(g_dTemplateNotes[k] == 0.25 ){
4027 wavePlay (WAVE_PATH + "/4onpuga.wav");
4028 }else if(g_dTemplateNotes[k] == 0.125 ){
4029 wavePlay (WAVE_PATH + "/8onpuga.wav");
4030 } else{

4031 wavePlay (WAVE_PATH + "/onpuga.wav");
4032 }

4033 }

4034: if ( g_meanSHIFT[k] > 24 )

4035 {

4036 wavePlay (WAVE_PATH + "/kanari.wav");

4037 wavePlay (WAVE_PATH + "/nagaidesu.wav");
4038 } else if( g_meanSHIFT[k] > 12 ){

4039: wavePlay (WAVE_PATH + "/nagaidesu.wav");
4040: } else if( g_meanSHIFT[k] > 4 ){

4041 wavePlay (WAVE_PATH + "/yaya.wav");

4042: wavePlay (WAVE_PATH + "/nagaidesu.wav");
4043: } else if( g_meanSHIFT[k] < -24 ){

4044: wavePlay (WAVE_PATH + "/kanari.wav");

4045 wavePlay (WAVE_PATH + "/mijikaidesu.wav");
4046: } else if( g_meanSHIFT[k] < -12 ){

4047: wavePlay (WAVE_PATH + "/mijikaidesu.wav");
4048: } else if( g_meanSHIFT[k] < -4 ){

4049: wavePlay (WAVE_PATH + "/yaya.wav");

4050 wavePlay (WAVE_PATH + "/mijikaidesu.wav");
4051 } else {

4052 }

4053: }

4054: }

4055:

4056: void CRecordPlayMidiDlg::OnFormAdvice()

4057: {

4058 // Top0: 000000000000000D00000O0000D00O0
ooooo

4059: int k;

4060: CString fname;

4061: double instableFurij;

4062:

4063:  if(g_bIsAfter!=1)

4064: {

4065: MessageBox (" OO O OD0OO0D0OOODOOO0ODOODOOOOOODO

0000000000000000000000000";

4066 return;

4067 : }

4068:

4069: for (k=0;k<g_nNotePerBar;k++)

4070: {

4071: // g_meanEn 0000000000000

4072: if (g_meanEn[k] > 0.53)

4073 {

4074: fname.Format (WAVE_PATH + "/%d 000 .wav",k+1);
4075: wavePlay (fname) ;

4076: if (g_dTemplateNotes[k] == 0.75 ){

4077 wavePlay (WAVE_PATH + /0000000 .wav");
4078: } else if(g_dTemplateNotes[k] == 0.5 ){
4079: wavePlay (WAVE_PATH + "/00000 .wav");
4080: }else if(g_dTemplateNotes[k] == 0.375 ){
4081: wavePlay (WAVE_PATH + /0000000 .wav");
4082: }else if(g_dTemplateNotes[k] == 0.25 ){
4083: wavePlay (WAVE_PATH + "/00000 .wav");
4084: }else if(g_dTemplateNotes[k] == 0.125 ){
4085: wavePlay (WAVE_PATH + "/00 000 .wav");
4086: } else{

4087: wavePlay (WAVE_PATH + "/onpuno.wav");
4088: }

4089: wavePlay (WAVE_PATH + "/00000 .wav");
4090: wavePlay (WAVE_PATH + "/000000 .wav");
4091: if (g_meanEn[k] > 2)

4092: {

4093: wavePlay (WAVE_PATH + "/kanari.wav");

4094 : wavePlay (WAVE_PATH + "/000000 .wav");
4095: Yelse if(g_meanEn[k] > 1)

4096 {

4097: wavePlay (WAVE_PATH + "/000000 .wav");
4098: }else

4099: {

4100: wavePlay (WAVE_PATH + "/yaya.wav");

4101: wavePlay (WAVE_PATH + /000000 .wav");
4102

4103: ¥

4104: }

4105:

4106:

4107: for (k=0;k<g_nNotePerBar;k++)

4108: {

4109: instableFuri = g_sdSn[k] / g_meanSn[k] * 100;
4110:

4111: if (instableFuri > 7.41)

4112: {

4113: fname.Format (WAVE_PATH + "/%d 000 .wav",k+1);
4114: wavePlay (fname) ;

4115: if (g_dTemplateNotes[k] == 0.75 ){

4116: wavePlay (WAVE_PATH + /0000000 .wav");
4117: } else if(g_dTemplateNotes[k] == 0.5 ){
4118: wavePlay (WAVE_PATH + "/00 000 .wav");
4119: }else if(g_dTemplateNotes[k] == 0.375 ){
4120: wavePlay (WAVE_PATH + /0000000 .wav");
4121: }else if(g_dTemplateNotes[k] == 0.25 ){
4122: wavePlay (WAVE_PATH + "/00 000 .wav");
4123: }else if(g_dTemplateNotes[k] == 0.125 ){
4124 wavePlay (WAVE_PATH + "/00000 .wav");
4125: } else{

4126: wavePlay (WAVE_PATH + "/onpuno.wav");
4127: }

4128: wavePlay (WAVE_PATH + "/00000 .wav");
4129: }

4130: // gsdvn 0000000000000

4131: if ( instableFuri > 22.23 )

4132: {

4133: wavePlay (WAVE_PATH + "/000000 .wav");
4134: wavePlay (WAVE_PATH + "/kanari.wav");

4135: wavePlay (WAVE_PATH + "/00000 .wav");
4136 } else if( instableFuri > 14.82 ){

4137: wavePlay (WAVE_PATH + "/000000 .wav");
4138: wavePlay (WAVE_PATH + "/00000 .wav");
4139: } else if( instableFuri > 7.41 ){

4140: wavePlay (WAVE_PATH + "/000000 .wav");
4141: wavePlay (WAVE_PATH + "/yaya.wav");

4142: wavePlay (WAVE_PATH + "/00000 .wav");
4143: } else{

4144: }

4145: }

4146: }

4147

4148: void CRecordPlayMidiDlg::0OnVeloAdvice()
4149: {

4150: // TODO: 00000000000 000O0O000000O0O00000

ooooo

4151:  int k;

4152: double instableVelo;
4153: CString fname;

152
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153

4154:

4155: if (g_bIsAfter!=1)

4156: {

4157: MessageBox ("D D DDDDOOODOOODOODDOODOOOO
gOooo0oooo0oooOooooOoooooog™;

4158: return;

4159: ¥

4160:

4161 for (k=0;k<g_nNotePerBar;k++)

4162: {

4163 instableVelo = g_sdVn[k] / g_meanVn[k] * 100;
4164

4165 if (instableVelo > 7.41)

4166: {

4167 fname.Format (WAVE_PATH + "/%d 000 .wav",k+1);
4168 wavePlay (fname) ;

4169 if (g_dTemplateNotes[k] == 0.75 ){

4170 wavePlay (WAVE_PATH + "/0000000 .wav");
4171 } else if(g_dTemplateNotes[k] == 0.5 ){
4172: wavePlay (WAVE_PATH + "/0 0000 .wav");
4173: }else if (g_dTemplateNotes[k] == 0.375 ){
4174: wavePlay (WAVE_PATH + "/0000000 .wav");
4175: }else if (g_dTemplateNotes[k] == 0.25 ){
4176: wavePlay (WAVE_PATH + "/00000 .wav");
4177: }else if (g_dTemplateNotes[k] == 0.125 ){
4178: wavePlay (WAVE_PATH + "/00000 .wav");
4179: } else{

4180 wavePlay (WAVE_PATH + "/onpuno.wav");
4181: ¥

4182: }

4183 // g.sdvn 0000000000000

4184: if ( instableVelo > 22.23 )

4185: {

4186 wavePlay (WAVE_PATH + "/00 000 .wav");
4187 wavePlay (WAVE_PATH + "/kanari.wav");

4188 wavePlay (WAVE_PATH + "/0 0000 .wav");
4189: } else if( instableVelo > 14.82 ){

4190: wavePlay (WAVE_PATH + "/00000 .wav");
4191: wavePlay (WAVE_PATH + "/00 000 .wav");
4192: } else if( instableVelo > 7.41 ){

4193: wavePlay (WAVE_PATH + "/00000 .wav");
4194: wavePlay (WAVE_PATH + "/yaya.wav");

4195 wavePlay (WAVE_PATH + "/00000 .wav");
4196: ¥

4197: }

4198: }

4199

4200:

4201: int CRecordPlayMidiDlg::drawAccent ()

4202: {

4203:  int i,allWidth;

4204

4205 printBarPict();

4206 // 000000000000000000

4207 CWnd* accentBar = GetDlgItem(IDC_BAR);

4208 CRect accentRect;

4209 accentBar->GetClientRect (accentRect) ;

4210 CClientDC accentDC(accentBar);

4211 accentDC.SetBkMode (TRANSPARENT) ;// 0O 0000
4212 allWidth = accentRect.Width();

4213

4214 CString strAccent = "0 ";

4215

4216: for(i=0;i<g_nNotePerBar;i++)

4217: {

4218 if (g_accent[i])

4219 {

4220: accentDC. Text0Out (

(int) (g_rateAccent [m_nSelectedPattern-1] [i]
* (double)allWidth),0,strAccent);

4221: }

4222: }

4223:

4224: return 0;

4225: }

4226:

4227: // 00000000000
4228: void CRecordPlayMidiDlg::setAccent ()
4229: {

4230: if (m_nAccentMode == 0)
4231:  {

4232: // 0000000

4233: return;

4234: }

4235: else if (m_nAccentMode == 1)
4236:  {

4237: // 0000000

4238: setStaticAccent();

4239: }

4240 else if (m_nAccentMode == 2)

4241

4242 // 000000000

4243 OnPutAccent () ;

4244

4245 else

4246 {

4247 MessageBox("error in setAccent()");
4248 exit(0);

4249: }

4250: }

4251

4252: // 0000000000

4253: int CRecordPlayMidiDlg::setStaticAccent()
4254: {

4255:  int i;

4256

4257 if (m_isSetAccent==1)

4258 {

4259 delete(g_accent);

4260

4261 g_accent = new bool[g_nNotePerBar];
4262 srand( (unsigned)time( NULL ) );
4263

4264 // 00000000000

4265 for(i=0;i<g_nNotePerBar;i++)

4266 {

4267 g_accent[i] = g_setAccent[i];
4268 }

4269 drawAccent () ;

4270 m_isSetAccent=1;

4271

4272 return O;

4273: }

4274

4275: void CRecordPlayMidiDlg::OnPutAccent ()
4276

4277 // TODO: 00000000000 0000000O0DO000000
0ooooo

4278: int i,random;

4279:

4280:  UpdateData(true);

4281:

4282:  if(m_isSetAccent==1)

4283 {

4284 delete(g_accent);

4285

4286 g_accent = new bool[g_nNotePerBar];
4287 srand( (unsigned)time( NULL ) );
4288

4289 // 00000000000

4290 for(i=0;i<g_nNotePerBar;i++)

4291 {

4292 random = rand()%g_nNotePerBar + 1;//104
4293 if (random == 1)

4294

4295 g_accent[i] = 1;

4296

4297 else

4298 {

4299 g_accent[i] = 0;

4300 }

4301 }

4302 // 00

4303 drawAccent () ;

4304 m_isSetAccent=1;

4305: }

4306

4307: // yOOGoOoOO R OO0

4308: double CRecordPlayMidiDlg::calcOneRyn(char *here)
4309: {

4310 positionForCalc * lp_here = (positionForCalc *)here;
4311

4312 // 000

4313 double dBarYn;

4314 double tmpSum;

4315 double delta;

4316

4317 int i;

4318 // Bar 00O

4319 dBarYn=0;

4320

4321 for(i=0;i<lp_here->nData;i++)

4322 {

4323 dBarYn += (double)lp_here->posi_yl[i];
4324 }

4325 dBarYn = dBarYn / 1p_here->nData;
4326

4327 tmpSum=0;
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4366:

Y

delta=0;

for(i=0;i<1lp_here->nData;i++)

{
//yoooo
delta = pow(lp_here->posi_y[i] - dBar¥Yn, 2);
tmpSum += delta;

tmpSum /= lp_here->nData;
tmpSum = sqrt(tmpSum) ;

// 0 Rn 00O

return tmpSum;

: )

:// 00000000000000000000O0000000
: void CRecordPlayMidiDlg::enableRhythmButton(BOOL bEnable)
H {

int i;
CButton* tmp;

for (i=IDC_MINI1;i<=IDC_MINI8;i++)
{
tmp = (CButton*)GetDlgItem(i);
tmp->EnableWindow (bEnable) ;
}

: // formCustomize 000000000 O0OOOOOO
: void CRecordPlayMidiDlg: :autoSaveCForm()
: {

FILEx fp;

int i;

time_t tim;

char 1filename[100];

time (&tim);
CTime ctim(tim);

sprintf (1filename,"%s/%s/%d_%d_Y%dcustomform",

DATA_PATH, m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);

4367: fp = fopen(lfilename, "w");

4368:

4369: fprintf(fp, "DATA: Customized DiffTime x y z\n");
4370: for(i=0;i<m_rec.cycl * 4;i++)

4371:  {

4372: fprintf (fp, "%f %d %d %d\n",m_simple.dDiffTime[i],
m_simple.x[i], m_simple.y[il, m_simple.z[il);
4373: }

4374:  fclose(fp);

4375: }

4376:

4377: //

4378: void CRecordPlayMidiDlg::autoSaveTotal()
4379: {

4380 FILE* fp;

4381 // 00000000

4382 double t_meanSHIFT=0;

4383 double t_sdSHIFT=0;

4384: double t_meanEn=0;

4385 double t_sdEn=0;

4386 double t_meanRn=0;

4387 double t_sdRn=0;

4388 double t_meanSn=0;

4389 double t_sdSn=0;

4390 double t_meanTn=0;

4391 double t_sdTn=0;

4392 double t_meanVn=0;

4393 double t_sdVn=0;

4394 char 1filename[100];

4395

4396 int i;

4397

4398 // 000000000000

4399 for(i=0;i<g_nNotePerBar;i++)

4400 {

4401 t_meanSHIFT += fabs(g_meanSHIFT[i]);
4402 t_sdSHIFT += g_sdSHIFT[i];

4403 t_meanEn += g_meanEn[il;

4404: t_sdEn += g_sdEn[i];

4405 t_meanRn += g_meanRn[il;

4406 t_sdRn += g_sdRn[i];

4407 t_meanSn += g_meanSn[il;

4408 t_sdSn += g_sdSn[i];

4409 t_meanTn += g_meanTn[il;

4410 t_sdTn += g_sdTn[i];

4411 t_meanVn += g_meanVn[i];

4412 t_sdVn += g_sdVn[i]l/g_meanVn[i]*100;
4413 }

4429:

\tx.éf\t

4430

t_meanSHIFT /= g_nNotePerBar;
t_sdSHIFT /= g_nNotePerBar;
t_meanEn /= g_nNotePerBar;
t_sdEn /= g_nNotePerBar;
t_meanRn /= g_nNotePerBar;
t_sdRn /= g_nNotePerBar;
t_meanSn /= g_nNotePerBar;
t_sdSn /= g_nNotePerBar;
t_meanTn /= g_nNotePerBar;
t_sdTn /= g_nNotePerBar;
t_meanVn /= g_nNotePerBar;
t_sdVn /= g_nNotePerBar;

sprintf (1filename,"%s/totaldat.txt", DATA_PATH);
fp = fopen(lfilename, "a");

fprintf (fp, "%s\t/d\t%d\t%4d\t%.6£\t%.6£\t).6f\t% .61

%.6£\t%.6£\t%.6£\t%.6£\t%.6£\t%.6£\t%.6f\n",
m_sUserName, g_tempo, m_nSelectedPattern,

g_nPerformTime [m_nSelectedPattern-1],
4431:
4432:
4433:

: )

t_meanSHIFT, t_sdSHIFT,

t_meanEn, t_sdEn,

t_meanRn, t_sdRn,

t_meanSn, t_sdSn,

t_meanTn, t_sdTn,

t_meanVn, t_sdVn);
fclose(fp);

:// 0000000
: void CRecordPlayMidiDlg: :autoSaveSelfLog()

: {

4450:
m_sUserName, g_tempo, m_nSelectedPattern,
g_nPerformTime [m_nSelectedPattern-1]);

4451:

4452:

4453:

4454:

44565:

FILE*x fp;

int k;

char 1filename[100];
CString fname;
double instableVelo;
double instableFuri;

sprintf (1filename,"%s/%s/%d_%d_%dself", DATA_PATH,

fp = fopen(lfilename, "w");

// Rhythm 0000000
for (k=0;k<g_nNotePerBar;k++)
{
if( g_meanSHIFT[k] > 4 ||
{
fprintf (fp, "## Jdbanmeno\n",k+1);
if (g_dTemplateNotes[k] == 0.75 ){
fprintf (fp,"## f2onpuga\n");
} else if(g_dTemplateNotes[k] == 0.5 ){
fprintf (fp,"## 2onpuga\n");
}else if(g_dTemplateNotes[k] == 0.375 ){
fprintf (fp,"## f4onpuga\n");
}else if(g_dTemplateNotes[k] == 0.25 ){
fprintf (fp,"## 4onpuga\n");
}else if(g_dTemplateNotes[k] == 0.125 ){
fprintf (fp,"## 8onpuga\n");
} else{
fprintf (fp,"## onpuga\n");
¥
¥
if ( g_meanSHIFT[k] > 24 )
{
fprintf (fp, "## kanari\n");
fprintf (fp,"## ldesu\n");
else if ( g_meanSHIFT[k] > 12 ){
fprintf (fp,"## ldesu\n");
else if ( g_meanSHIFT[k] > 4 ){
fprintf (fp, "## yaya\n");
fprintf (fp,"## ldesu\n");
else if ( g_meanSHIFT[k] < -24 ){
fprintf (fp,"## kanari\n");
fprintf (fp,"## sdesu\n");
else if ( g_meanSHIFT[k] < -12 ){
fprintf (fp,"## sdesu\n");
else if( g_meanSHIFT[k] < -4 ){
fprintf (fp, "## yaya\n");
fprintf (fp,"## sdesu\n");
else {

//

]

[}

W

w

// gmeanEn 0000000 0O0OOODO
for (k=0;k<g_nNotePerBar;k++)
{

g_meanSHIFT[k] < -4 )

154



U0 0do0oobog

if (g_meanEn[k] > 0.53)

fprintf (fp,"## Y%dbanmeno\n",k+1);

if (g_dTemplateNotes[k] == 0.75 ){
fprintf (fp, "## f2onpuno\n");

} else if(g_dTemplateNotes[k] == 0.5 ){
fprintf (fp,"## 2onpuno\n");

Yelse if(g_dTemplateNotes [k]
fprintf (fp,"## f4onpuno\n");

}else if(g_dTemplateNotes[k] == 0.25 ){
fprintf (fp, "## 4onpuno\n");

Yelse if(g_dTemplateNotes [k]
fprintf (fp, "## Sonpuno\n");

} else{
fprintf (fp,"## onpuno\n");

0.375 ){

0.125 ){

}
fprintf (fp,"## dahakunoatono\n");
fprintf (fp,"## tenofurikataga\n");
if (g_meanEn[k] > 2)
{
fprintf (fp,"## kanari\n");
fprintf (fp,"## bureteimasu\n");
}else if(g_meanEn[k] > 1.06)
{

fprintf (fp,"## bureteimasu\n");

Yelse

{
fprintf (fp, "## yaya\n");
fprintf (fp,"## bureteimasu\n");

}

}
}

// 00000000000
for (k=0;k<g_nNotePerBar;k++)
{
instableFuri = g_sdSn[k] / g_meanSn[k] * 100;

if (instableFuri > 7.41)
{

fprintf (fp,"## Y%dbanmeno\n",k+1);

if (g_dTemplateNotes[k] == 0.75 ){
fprintf (fp,"## f2onpuno\n");

} else if(g_dTemplateNotes[k] == 0.5 ){
fprintf (fp,"## 2onpuno\n");

}else if(g_dTemplateNotes[k] == 0.375 ){
fprintf (fp, "## f4onpuno\n");

}else if(g_dTemplateNotes[k] == 0.25 ){
fprintf (fp, "## 4onpuno\n");

Yelse if(g_dTemplateNotes[k]
fprintf (fp, "## Sonpuno\n");

} else{
fprintf (fp,"## onpuno\n");

0.125 ){

}

fprintf (fp,"## dahakunoatono\n");
}
// g_sdvn 000000 D00O0OOOO
if ( instableFuri > 22.23 )
{

fprintf (fp,"## tenofurihabaga\n");
fprintf (fp,"## kanari\n");

fprintf (fp,"## fuanteidesu\n");
else if( instableFuri > 14.82 ){
fprintf (fp,"## tenofurihabaga\n");
fprintf (fp,"## fuanteidesu\n");
else if( instableFuri > 7.41 ){
fprintf (fp,"## tenofurihabaga\n");
fprintf (fp,"## yaya\n");

fprintf (fp,"## fuanteidesu\n");
else{

-

-

o

// Sb(Velocity) 0O0ODOOODO
for (k=0;k<g_nNotePerBar;k++)
{
instableVelo = g_sdVn[k] / g_meanVn[k] * 100;

if (instableVelo > 7.41)
{
fprintf (fp,"## Jdbanmeno\n",k+1);
if (g_dTemplateNotes[k] == 0.75 ){
fprintf (fp,"## f2onpuno\n");
} else if(g_dTemplateNotes[k] == 0.5 ){
fprintf (fp, "## 2onpuno\n");
}else if (g_dTemplateNotes [k]
fprintf (fp,"## f4onpuno\n");
}else if (g_dTemplateNotes[k] == 0.25 ){

0.375 ){

fprintf (fp,"## 4onpuno\n");
}else if(g_dTemplateNotes[k] == 0.125 ){
fprintf (fp,"## 8onpuno\n");
} else{
fprintf (fp,"## onpuno\n");
}
}
// gsdvn 000000D0O0O0OOODO
if ( instableVelo > 22.23 )
{
fprintf (fp, "## otonotsuyosaga\n");
fprintf (fp,"## kanari\n");
fprintf (fp,"## fuanteidesu\n");
else if( instableVelo > 14.82 ){
fprintf (fp, "## otonotsuyosaga\n");
fprintf (fp,"## fuanteidesu\n");
else if ( instableVelo > 7.41 ){
fprintf (fp, "## otonotsuyosaga\n");
fprintf (fp, "## yaya\n");
fprintf (fp, "## fuanteidesu\n");
else{

w

-

e

// 00000
for (k=0;k<g_nNotePerBar;k++)
{
fprintf (fp,"# meanSHIFT[%d] sdSHIFT[%d] %f %f\n",
k,k,g_meanSHIFT[k], g_sdSHIFT[k]);
¥
for (k=0;k<g_nNotePerBar;k++)
{
fprintf (fp,"# meanEn[%d] sdEn[%d] %f %f\n",
k,k,g_meanEn[k], g_sdEn[k]);
}
for (k=0;k<g_nNotePerBar;k++)
{
fprintf (fp,"# meanRn[%d] sdRn[%d] %f %f\n",
k,k,g_meanRn[k], g_sdRn[k]);

for (k=0;k<g_nNotePerBar;k++)
{

fprintf (fp,"# meanSn[/d] sdSn[/d] %f %f\n",
k,k,g_meanSn[k], g_sdSn[k]);
¥
for (k=0;k<g_nNotePerBar;k++)
{
fprintf (fp,"# meanTn[%d] sdTn[%d] %f %f\n",
k,k,g_meanTn[k], g_sdTn[k]);
}
for (k=0;k<g_nNotePerBar;k++)

fprintf (fp,"# meanVn[%d] sdvn[%d] %f %f\n",
k,k,g_meanVn[k], g_sdVn[k]);

fclose(£fp);

// 0ooooo
: double CRecordPlayMidiDlg::calcOneFurihaba(char *here)
: {

positionForCalc * lp_here = (positionForCalc *)here;

// 000
double minYn;
double maxY¥Yn;
double tmpSum;

int i;

// Bar 000

min¥n = (double)lp_here->posi_y[0];
max¥n = (double)lp_here->posi_y[0];

for(i=1;i<1lp_here->nData;i++)
if ((double)1lp_here->posi_y[i] < minY¥n)
! minYn = (double)lp_here->posi_yl[il;
if ((double)lp_here->posi_y[il > maxYn)

{
max¥n = (double)lp_here->posi_yl[il;

tmpSum = maxYn - minYn;
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4677: // 0 Rn 00O

4678: return tmpSum;

4679: }

4680:

4681: void CRecordPlayMidiDlg::drawFurihaba()
4682: {

4683: int 1nWidth; // 00

4684 : int lnHeight; // 00

4685:  int 1nSDWidth; // 00

4686:  int 1nSDHeight; // 00

4687 : int i;

4688 double left=0;

4689 int fromx, fromy; // 00

4690 int tox, toy; // 00

4691

4692 int printMode = 0; // 000000 OOOO0OO...00000O
Oo...1

4693

4694 // 0000000000000

4695 CWnd* barVelo = GetDlgItem(IDC_MEANFURIHABA) ;
4696 CRect veloRect;

4697 barVelo->GetClientRect (veloRect) ;

4698 CClientDC noteDC(barVelo) ;

4699 // 0000000000

4700 noteDC.FillSolidRect (veloRect, RGB(255,255,255));
4701 // 0000000

4702 CWnd* strsdVelo = GetDlgItem(IDC_SDFURIHABA);
4703 CRect sdVeloRect;

4704: strsdVelo->GetClientRect (sdVeloRect) ;

4705 CClientDC sdVeloDC(strsdVelo);

4706 // 0000000000

4707 sdVeloDC.FillSolidRect (sdVeloRect, RGB(192,192,192));
4708

4709 // 0000

4710 CFont barFont;

4711 barFont.CreateFont (16, 0, 0, 0, FW_BOLD,

4712 0,0,0, DEFAULT_CHARSET, OUT_CHARACTER_PRECIS,
4713 CLIP_CHARACTER_PRECIS, DEFAULT_QUALITY, DEFAULT_PITCH|
4714 FF_DONTCARE, "Century");

4715

4716 // PEN

4717 CPen blackLine(PS_SOLID,1,RGB(0,0,0));

4718 CPen* notePen = noteDC.SelectObject(&blackLine);
4719

4720 // BRUSH

4721 CBrush* p_noteBrush;

4722 p_noteBrush = new CBrush[g_nNotePerBar];

4723

4724 // 00000000

4725 CRect allBar;

4726 barVelo->GetClientRect (allBar);

4727

4728 // 00000000

4729 1nWidth = (int)allBar.Width();

4730: lnHeight = (int)allBar.Height();

4731 1nSDWidth = (int)sdVeloRect.Width();

4732 1nSDHeight = (int)sdVeloRect.Height();

4733

4734: // 00000DOO

4735 CRect *noteRect;

4736 noteRect = new CRect[g_nNotePerBar];

4737 // 00000000

4738 CRect *sdRect;

4739 sdRect = new CRect[g_nNotePerBar];

4740:

4741 CString msgString;

4742: // 0000000COOCO

4743: for(i=0;i<g_nNotePerBar;i++)

ar44:  {

4745 fromx = (int)left;

4746 // 30ecm OO OOOO

4747: fromy = lnHeight - (int)((double)lnHeight

* g_meanSn[i]/(double)300);

4748: if (fromy < 0) fromy=0;

4749: if (printMode==0)

4750: {

4751: tox = (int) (left + g_dTemplateNotes[il]

* (double)lnWidth * ((double)1l
+ (double)g_meanSHIFT[i]/100)) - 1;

4752: ¥

4753: else if (printMode==1)

4754: {

4755: tox = (int)(left + g_dTemplateNotes[i]
* (double)lnWidth * ((double)1)) - 1

4756 }

4757 if (i==g_nNotePerBar-1)

4758: {

4759: tox = lnWidth;

4760: }

4761 toy = lnHeight;

4762

4763 // 0000

4764 p_noteBrush[i] .CreateSolidBrush(RGB(0,0,128));

4765 noteDC.SetTextColor (RGB(255,255,255)) ;

4766

4767 msgString.Format ("%.1f",g _meanSn[il/10);

4768 noteDC.SelectObject (p_noteBrush[il);

4769

4770 // 000000

4771 noteRect[i].SetRect (fromx, fromy, tox, toy);

4772 noteDC.Rectangle (noteRect [i]);

4773 noteDC.SelectObject (notePen) ;

4774 noteDC.SelectObject (&barFont) ;

4775 noteDC.SetBkMode (TRANSPARENT) ;// 000000

4776 noteDC.DrawText (msgString, &noteRect[i], DT_CENTER);

4777

4778 // 0000000000000 000

4779 sdRect [i] .SetRect (fromx, O, tox, 1lnSDHeight);

4780: sdVeloDC.SelectObject (&barFont) ;

4781: sdVeloDC.SetBkMode (TRANSPARENT) ;// 0O 0O0ODO0O

4782: msgString.Format ("%.1f",g_sdSn[il);

4783: msgString.Format ("%.1£%%",g_sdSn[i] / g_meanSn[i]
* 100);

4784: sdVeloDC.DrawText (msgString, &sdRect[i], DT_CENTER|

DT_VCENTER) ;

4785:

4786: left = tox + 1;// 000000000

4787 : }

4788: }
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